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1
. (12,3), (4,a) aamm Uetailsamenr @menia@ld Camiiger Fmuie] 3 eteolled ‘@’ —ufledt OGNy
M1 (2) 4 (3) =5 (4) 2

. (0,0) wopmib (-8,8) e Lealsamnen Dewenis@Gld CaM B&HF QFRIGHHTE BHTL 196 FTUle)
1
H-1 (21 (3 3 (4) -8

1
. Cam _(psaemy PQ—uiler gmuiey = aeflew, PQ -&@ OFmi@dHarer &m Fo Oeuliguier gruie)

(D)3 @) —V3 ® % )0
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9. Y 91560 siemoub Leiterll A —uller OsmigsHas 0smenevey 8 wmmib X—oiFde0 oemwwd Leierfl
B —uWie1 dewLiol g Oxmemevey 5 eailed, AB et GBTGHTL 19601 FLoeTIT(H
(1) 8x + 5y =40 (2) 8x —5y =40 3) x=8 4 y=5

7x—3y+4=0 aam  CrTasm yB&GF OFRGHITHD, SpFHleTel apF GCFedsvid
GrTGsm I1960T FLo6TLIT(H
D)7x—-3y+4=0 (2)3x—=7y+4=0 3)3x+7y=0 4)7x -3y =0

(D0 :3y=4x+5 ()l :4y=3x—1 (iii)l3:4y+3x=7 (iv)l4:4x+3y=2
aerd CaThebslUl L BTG CrTCHTHHEHdHGHS HDHIIL FmBBIH6TI60 6% 2 ewienn?

() | oppd [, QsmGHHTaIm6 2 | oBpd 1, GOl

3) L, wvBpw l, QFREGHHTEm6 4 1, oBmibd l; Devewiwimeareme

8y =4x + 21. e CHTCHTL 1968 FLOTUTL I9BGHdH SLDHHEWILUBMIGT 61%H 2 6uTenin?
(1) gmuiey 0.5 wBpd y Geul BHaiewih 2.6
(2) snuiey 5 wBmId Yy Geul BoHaiewih 1.6
(3) agmuiey 0.5 wB@Id Yy Geul BHaewIB 1.6
4) gmuiey 5 wBEID Y Qeul BoHHIwIH 2.6

. @h BIBSITHIH QH Fheublonsd Slewould CHemeuwime BILbHSHemes
1) ®m ussmser @amen (2) @(p USHBHIBET Eenenl WHBDID E(H LIbSRIS6T E6nenlBBen6
(3) aHOTHT LSHBHIBET E6n6nt (4) SIDINSHBHIL LISSHIBEHD FLOLD.

14. gmuieeull LWTLBHSHSH BIBSILOTEIH QT EeNeISJLOTS 2 _6T6NSH 616018 Snl [BILD SHT6wT
Geemsiguienal.
(1) 8w ussmiseler FTUI6|H6NT 2) ®@m Camy et LSBRIS6TNT FTUIRSH6IT
(3) SIMAHHIL LISBMmISH6T60T [HeNmIsb6i 4) Bm ussnseier FTUIeDH6T WBBID HeNMmIG6N

. (2,1 m Geulpu yemefwnesd Osmemi @ ChTGHT(HH6IT
1) x=-y—3=0; 3x—y—7=0 2 x+y=3 3x+y=7
B 3x+y=3, x+y=7 4 x+3y—-3=0, x—y—-7=0

9lVG -6: (B TenTailiey

. 1 , .
. Sin“f0 + -60T AL
1+tan?6 5 H

(1) tan8 )1 (3) cot?8 (4) 0

tand cosec?6 — tanf -1 WwHI]
(1) sect (2) cot?8 (3) sinf (4) cotb

. (sina + coseca)?® + (cosa + seca)? =k + tan*a + cot’a aaled k —a1 AL
M9 (2)7 (3)5 (4)3

. sinf + cosd =a wppdb  sech + cosecd = b aafled b(a? — 1)-61 wHiiy
(1) 2a (2) 3a 3)0 (4) 2ab

. 5x = secf mBpIb §= tanf® eraflev, xz—xi2 -1 &I}

(1) 25 2 2—15 3)5 4) 1

7
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. sinf = cosO eafled, 2tan?d + sinf — 1 -1 wHI
-3 3 2 ~2
1) — 2) 3 3) 3 4~

. x =atanf wwppid y = bsecH eeilov
x2 yZ xZ yZ
@ Ztp=1 @z =0
. (1+tan 0 + sec 6)(1 + cotB — cosecO) -&1 WAL
Do 21 (3)2 (4) -1

. acoth + b cosecd =p wipid b coth + a cosec § = q aafled, p> — q? a1 WAL
(1) a* — b? (2) b% — a? (3) a* + b? (4)b—a

. 9B GampsHer o wsHBGD, OB Hioedd BaSHBEDL o e eldsb V3
GMwenend STamID GBBHGHTENT DIETEUTEISHI
(1) 45° (2) 30° (3)90° (4) 60°

. @ LOTHLLTRIZH SIS Slguled Foghenll LFLLled o 6Tem eh LsTeiuled 30° Gamemishend
IBUBSHBHIBBSI. waeo yeteldE ‘b 18 o wrhHed o eiten  @yewimeug Ueemuled i
HeslbUSHeT DlgshE OBsHaBsrad 60°. eaied, e SDLUSHHET 2 WTLDTETS

1)V3b @ 2 OF ) %

. m Camyrsdar o wgb 60 15 ou@b.  @Gfwmeard stanid gmméGsmenid 30° -uledmba
45° o5 o wmbBUTE, CamUIHHe HlpeoTaidl X-I5 GmBHBSHI 6TeNed, X -651 L]
(1) 41.92.8 (2) 439218 (3) 4316 (4) 45.6 18

.U 9IBhEGS SLLLSHe o FFulelmba 20 15 o wgapsien sLLGHear o &, o9
S FweuBPeaT BmoHssCasTanmiser (WweampGuw 30° wimib 60° ey, L DIBSGHH HLLL SHIH 6T
© Wb wBBID B SLLLMSEHHG el CuwiujeTen OFTensveurerg (LB Lifled)
(1) 20, 103 (2) 30, 5v3 (3) 20, 10 (4) 30, 103

Brewih BUTHEDHGHG BewLUULL  OFHTeneve] X8 euGlb. WpHeo HUfledT o wigLoTeg)
@rewiLmeugl pUflar o wrdHmsll Gume @h WLMSTE 2 6TNg.  DlaUTHEhdEG SenL LIl L
OpTemevey CrTCaTLI9aT emwowill UeTaluwledmba & puTseiear o FFluler gmmd CHmewimisel
BIrlysCsmentmige slefled, GLenLWwTd o eften HUflegr o wipib (5L Lfled) sHmeuwis.

(D) V2 x ) % 3) % (4) 2x

@T gfluller GG h 18 2 ugshdHed o eten e LeTeluledmba GCuasdBE o een

gBmaCsrenio . Gws UbusdHear Bmésd Csmemid 45° eafed, gfulled  BmHbEI

Cuoas5aME 2 66 o WJLOTEISI
h(1+tanp) h(1-tanp)

M ) 1+tanf

1-tanf (B)htan(45°—B) (4) Bmeu IpId BEOM6V

I—S—I
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OIVG =7 Slenaiuied

. 15 @GF.18 2 _wgapd 16 Q.18 el L(pd CO&Tewi @k GpTaul Ld gnlblier auenemuyliL]
(1) 60m #.65.15 (2) 68m g.05.6 (3) 120 5.05.6 (4) 1367 5.05.15

. T SIVGH6ET b 2 LW b Fo Sewjdh Camenmisefer SigliLGHHeT Dewensbaliub CuTs)
® (HOUTGLD SHewind et LBLILITLIL]
(1) 4nr? 5.9 (2) 6mr? 5.9 (3) 3nr? 5.9 (4) 8nr? 5.9

b 5 0.5 wBpd gruwuyd 13 0515 o edLw GhTeulLd &wniblilen 2 wiyb
()12 Gg.8 (2) 10 @58 (3) 13 G@g.8 (4) 5605.8

. @ 2 (HhemenullelT © WITHeNd LOTHBBITEY DIHT DTHMSHL UTHWTHS OBTemiB LUHw 2 (hHemer
o (HoUTHSUIUBHMBEH. UHW oBEpId (PphdHul 2 (Henenseller Her Sieneseier alldsHd
(H1:2 (2)1:4 3)1:6 (4)1:8

. QT o (hewenulell SUTID OIFHET 2 WTHHD CPIMIeL @(h LIRS 6leled, OiHeT OTeHSl LBUILrLliL]
91h? 81h? 56mh?

(D g &k (2) 24nh? 5.9 (3) 5 & 4) 5 &l

. @ o eTefLmp o (pemenuienr Oeuefiliys wWBBID o LB mseiear amGoHeo 14 0F.15 BpIb
DIFH Flgert 4 GF.5 Su@Hh. o (hewenuler o wigd 20 5.5 eleNe0, DIHMET 2 (HeUTHSLI
UweTUl L. QUT(HeelT H6oT D616

(1) 56007 3.605.8 (2) 112007 %.05.8 (3) 567 %.05.18 (4) 3600 &.05.6

. @h ST SIQUILB D (PWWLRISTHA|D WD G(H LOLRSTHD LOTASleITed ST  Sl6N6)y
15SHME DL MISTS LOTHILD?
(1) 6 LG (2) 18 LG (3) 12 L (4) wTBBLIELM6V

. QT SImI&HCHTeNSHIH & QTHSL LT DISHT THBHEDIGHL U 6UTeHSHH 60T LOL BISTGLD
D r (2) 4n (3)3m

x -Gg.b SLT(elTenl @H  Hlewind BGsmend IBFH SISO @(h SnlbUTES  LOIHBBLUILGHBSI
6TeT6D, FnlDLIGHT ©_ WD
(1) 3x Q&8 (2)x Gz (3) 4x Q&5 (4) 2x Q&85

. 16 Q515 o wgupeten e ChiTaul L& FnibllelT vl dbHewiL. JmiseT 8 a6 wpmb 20 6F.5
TN, DIHET HE DI6V6Y
(1) 3328 T .65.15 (2) 3228 t &.05.16 (3) 3240 T 5.05.16 (4)3340 T 5.05.16

SPHETEID  61hH EH 2 (HUBISHMET EmMISHHTL QH DBSUHIHT  aUgeaUd  SlenL @I

(1) 2_menen OB@ID Gsmernd (2) omy&HGamend LBBID gnld
(3) Gazmenmd LBBID FaldL (4) gnbliel QoL SHewILD BBID DiwFHGHT6NLD

T OIVGHET  SIeTen @  Casmemiubgd o BHSSIULEH T,  DIVGHB6T I (LPenL Ul
8 FuwCasmen UBSHIBNTS SHHILGHBSH 6Tefled 77 & 75
(H2:1 (2)1:2 (3)4:1 4)1:4

. 1058 ayepd 5 GF.18 o wgapd GaTewiL @b 1wy o (Hawenuled(hhdl DPBL FH HRTS6N6
CameniL. Gamemd Geully eIBHHBUILBHMBSE 6Talled, DIHEI ST o6y (H.0F.15-60) 6 (D

3) 57 4) %a
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. BDLESIMILHMS @ UGHWTHDS CBTewi @@h dnlblier o wiyd oBmid Sy (wepGui hy
SIVGHB6NT IOBBID 77 DIVGHBET  SLGLD. DL SHWILGHH ST © WD wBpid AP usD
b (wepBw  h, SVGD6NT WBEBID T, DVGE6T WBEID hy, : hy =1:2 eefled, 15 17 61
LI (H1:3 (2)1:2 3)2:1 4)3:1

. gwwmel el LD LoBEpIid © Wb 2 LW QT 2 (Hevel, @b dnlbl LBBID @b Csmenshser e
Siemeyseflasr aldHid (D) 1:2:3 (2) 2:1:3 (3) 1:3:2 (4) 3:1:2

SIVG =8: ueitefullwieuid MaslbeHE6aID

. BB CEBETHHBUILL L MaIB6Te0 61&H LITaIed Siemenal e0ene0?
(1) oi&a (2) FL alevdsd 3) @l pFayrad 4) allevds alids Fymaf

.88, 8, 8 8...8 ogdwu sralar aiFs
1o 2)1 (3) 8 4) 3

. ggmaflullledmba SoLdsll GuBp sreyll yeteflaenemLw allevdsmiaelen gn{bhoHe0Talg
(1) erQUTUGHID LOena  6TewT (2) qLOUTIHILD GHeDB  6T6u0T
3) uFfwd 4) uFAwwoBp (WPUPSS6IT

. 100 srey yeteiseier ayram 40 w@pD HlLalvdssd 3 aaie, alevdasmiseler aITHHH
Fn(HSHEVTRIH (1) 40000 (2) 160900 (3) 160000 (4) 30000

. wpaev 20 ecewmizeflen allevds aTdd Fymafluwimerg
(1) 32.25 (2) 44.25 (3) 33.25 (4) 30

. @ sralar FL elevdsorad 3. @ealGeurd FHUmULD 5—o1e0 GCLHGHH 6D Bl SEHbD
ysHw sreler allevds auTdsss gymafuimengi
(D3 (2) 15 (3)5 (4) 225

XY, Z adwapfer HLelevdsd P o-aelsd, 3x +5, 3y+5, 3z+5 odweumner S
N6eVHBLOTEIH] (1) 3p+5 (2)3p B3)p+5 (4)9p + 15

Qm syeler ggmaf  wwBpd iUl Gés  Osw  weopGw 4 wwBmd 87.5% aeied HL
aflevdbBLOTENS] (1) 3.5 (2)3 (3)4.5 (4) 2.5

. QETHSSULL L meuH6Med 6% Heupmendl?
(DPA)>1 (2)0<PA)<1 (3)P(@) =0 (4) P(A)+P(A) =1
. p feully, g Bevd OBEID T LFMF HBH FwlOTRIBSBHET 2 66N QH GHemeuuled E(HbHSI

R el SnlpTmISeD IBLULSBHTER HHLDHHEUTISH]
q p p+q p+r
ey (2)

(3) (4)

p+q+r p+q+r p+q+r p+q+r

. QMh USHBHHeNHbHEH Foaumuili] (wpepuied @ ussd CHTHOSBSILILGSBH. Db LSS
cTewTemiell QEIMBMTD @)L WHIUTeIH 7 —8y alLd Gmpauts SHUILSDBEHT [HEHDSHDH6)]

= @)= OF Ok

. @@ BUBDSG Couemev HMLULSBHTE [HHDHHEITEIHI g Gouemer HewLSHBHMTD60 B(HLILISBST60T

BBDSHDH ; aefley, X —ufedT A ILITEISH (D2 (2)1 3)3 415

I—IT%I
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13. ®60ID GedbHe0 BuTL Iguied HEUHHIEHTILT6T. OmIEG Crshsd 135 F (w6 alBaiiul Ler.
1
&Levld Gleumnsl CLIBIeUSHBHTET  GUTUILIL] 5 aTealleL, HloevlD euMmISIUl &1 (HHerlein  elemTenildema

(1)5 (2) 10 (3) 15 (4) 20

YRS  epSBIbHeT  {a,b,...,z} —uWlOmbH @T epHEH  FoeuTuiiy (penpuisd  Cspitey
CEUWILGSBEH. Db RSB  X-BG (WPHMSW  (WRSHHH6MN0  QeIBTE  EHUILSBETET

Besibemal @ = 3 = 4 —

@@  UeolienUuiled 52000 BT (hseT 10-b, 5.500 GBI (b6 15-b, 5.200 GBI BH6T 25-1b
o eteniedl. @b GBTL(B Fweuruily wpemuled ehSsLILGS @B eele0, DibH CHIL®H  05.500
GrTLLTEGT 9l16060&I 5200 CHTLLTHCuT SBHUUSBETEH HISHLDHHE] 6Tevte !

OF @ = OF @) =
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BIVG—2: 6IewIBEHD, OFHTL TeuTlens s @EmLD

5 1 6 | 7 | 8 | 9 |10 |11 13
OREORNCONNCORNCONNE)
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hlenarallsy Q&TeTaTCalcuTiq Ul aUMTWEMMSET, F,&HIMnISET.10 HQLEISHET CLM(LPIgU]LD.

1.2 M6& @D FMTLIS(EHLD

6L 6D [J LI 6B M) & 61T

STIjle Sl 6o
QU5 560

A OHMID B etesTLenT @esni( QeummleLeV SHewuihiGelT 6T6slled QeumMistT aUiflens &
Gamq seflert Hevuiomenidl (a,b ),a €A, b €B éel QHh&GWLD. @eng A OHMID B
U6t BMJle Hulett QUHEHSH60 6TeaTHCMMD.6TeoTGeu A X B = {(a,b)|la € A,bEB}.

2_ M6 &6l

A OMID B etettLenT @eini(h QleummMieLELT &EUThIGEN 616016, A -UNeO(BHG B -5&
o2 6fem 2.M6) R Seo1g oo  aflenmsener Hlemmey G&UIH A X B -ufler
2 L &6uIlDNe: Q(h&GLW. GTeug R S A XB.

B eTemLd 2 Mmey

@ 2. malled 2 MIILGET QLML 6TRIMTEL i @)6iTenid 2.Me)  6TeLILI(BLD

FITIL& 61

X WmOIb Y 61601  CQeummleLeVT  SH6uTMhiS Eh&HH N GUILITET 62 2-M6Y f —60
@AM x € X —6& @CJ @@ y €Y SenL&SMmg| ceiledf & &My sT6m&HCMITLD

Fmiyy s erflett
Cayuy

f:A—>B womib g: B->C spélwenr @i  &FMjLS6T  eT6efled [ OMHMID
g —eon gmjusedlest G&JUY gof &8 gof) = g(fx) SlmensdH x€A
61607 QUEDIUIMISHEHEVMLD.

©58I15CaHTLBE
G&mg6m6ur

QUMMM , 6UCIT[H GHHSCHTHL  AHSULFID @ UeTafluiley
QUL 1q.60TT6L Si6MEUEMETEUM]  6(1h  FMILIN6NENSH SIS GSLD

$emLLOL L&
CamL(h Camgemeor

QUEMETEUM 6R6TTMIGHESHTEITMTET FMENLIS GMSHSHT6L, eUMPWILLGLD HevL L L &
Can(p eusmemeuenImW! HHSULFD @ LeTaflulled GO Qeul GLb.

FMIL&6M6en S

1. euflemgd Camq.saflett &H6v0ILd 2.3IL_L_6)606001

GM&GLD (PO

3. YYSGSM UL LD 4. eUenuL_LD

n(A) =p womid n(B) = q eesiled n(A x B) = pq

n(A) =p,n(B) = q e1etleL, A LOMID B -6& QenLGuiwjeiten QoMES 2 mevsailest ereioiennsbens 279

n(A) =p, n(B) = q 161160 A DOMILD B -6@ Q6oL Cuiwimesr QMG SHE smijLGaNes eecnsemns qP
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6U60 S

UMMM dB5355TL(H

PATMISS
CR6UTMIT6W FTITL
( ®GUDE &MY )
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SIen6TT SIS B —60 2 6iTen 6p6)GIUMT(H
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CHIECETEREE (GFsifs) 1 2 (OR) aya, 102

CrisHGCaIT(hseafer &Lo6TUIT(H 56T
X - 91&&fes1 FLoeoTLIT(D y=0
Y -o1&&6tT FLoeoTUIM(H x=0
X-91§556@ Qeneuonmest ChISCHTLIq60T FLosTUT(H y==%b
Y -91555@ Qencuunuimest ChiISCHTL g 60T FLO6STUT(H xX=*c
ax + by +c = 0-5@ Qeneunmen CHMLIq6dT FLosoTLIT(H ax+by+k=0
ax + by +c = 0-6@ CFRIGSHSTET CHTLIq.601 FLO6TUT(H bx—ay+k=0
AH auflEF QFLID CHTHECHTL g 65T FLoesTUm(h y =mx
Cry&CaMLIqerm FeTUT® ( Fmie| — Qall (GHgicu(h eulgeud ) y=mx-+c
ChiI&CHTLIq60T &LoerUT(® ( Leerdl — Fmley 6Mig.elld ) y—yi =m(x—xp)
ChI&CaML_lg61 Feiur® (@@ LeTef ellgeild ) YN XH
Y2=Y1 X2—Xq
Cr&Ca g6 Fweaur® (Qeul(Gd Sen® elgeuld ) §+%’= 1

6.(LP & G & ImevoTILLIEL

W&CHmeTallweL all&gmis 6T

L_________________________________________________________ZT____________________________________________________
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cosfl =

3I(HSGl6iTern LiGSLD

tanf =

6TE)J L& SLD

SIJ6501LD

SI(BSGl6Ten L&D

secl =

SIJ650TLD

3I(HS G616 LIGSLD

cotf =

SI(B G SI6T6T LIGSHLD

618 LU&SLD

W&Gamaallwev MFLL e g mhiser

sin(90 — 8) = cos @

cos(90 — 8) = sinf

tan(90 — 8) = cot 6

cosec(90 — 0) = sech

sec(90 — @) = cosech

cot(90 — 0) = tan 6

WSHCHTTaNED G aNSIG MG 6N

1
cosec@

sinf =

cosf =
secf

tanf = e

cosecl = —
sin @

secO = s

cot9=tan9

(W&HCHIemTallLEL (LPMHQMIT(H LS 6T

(LM RMIT(H 6D LD & 61T

FLOLOIT6UT 60160 & 61T

sin?0 + cos?0 =1

sin?8 =1 — cos? 6

cos?6 =1 —sin?8

1+ tan? 6 = sec? 6

tan? 6 =sec?6 —1

sec2f —tan?6 =1

1+ cot? @ = cosec? @

cot? 6 = cosec?6 — 1

cosec?f —cot?6 =1

W&HCHMeTalleL CoiTevTmisefler LOGILILSEHS ST SiL-_L 616D 6u0T

00

30°

45°

sin @

0

cos 6

tan @

RN PE

QUMM &L
UL eTleL6mev

cosec@

QUEMILIMISSLI
L eNeLemev

1

secd

1

2
V3
2

QUEMIILIMISSLI
UL eNlebemev

cotd

QUMM &L
LILeTl6L6mev

0

5l -

2 Wy MM GFHTamevey

(HQTST Slemaugyieiien @b CQUTHLHEHHS QenLLILL L SHIFLD

d=h[cota+cotf]

Gy fHengugieier @ CQUTHLSEHSG QewLLILL L SHFLD

d=nh[cota—cotf]

A@® QuUTIEL&aM6T Q&TEm6V6 &6l

X = y[tanf —tana |
— tana

_ xtana
tanf —tana

Am QeueuGeoummest QUIT(HL-SeM6sT 2 WIFHIS6NT

h tanp
tan f—tan a

h= H[ tanf-tana ]
tan 8

o _WINRISEN

gmm LMD @MESECHETEIGHE 2 6tem Q@b QUIT(HL SHearflest

H=h[1l+tanacotf ]
H

T 1+ tana cotf

7. gjemailwev

2 _(IH 6UMRIS 61T

UemETLILIL / U&S UL

Quwrgs uyuy

6 66y

&6 FHIPLD

4q?

6a?

a3

S5601E QFe6laIsLID

2L+ b)h

2(1b + bh + lh)

IXbXxh

ST 2_(IH6mern

2nrh

2nr(h + 1)

nr2h

2 erefLm 2 (Hemen

2n(R+r)h

2n(R+r)(R—r+h)

n(R%? —r?)h

Flevorn GamenLd

4
=TT
37'[

3
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4mR? amr(R*+71?%) 4

2 etefLm CamenLd §n( R® — %)

2mr? 3mr? 2 .
§T[T

S6uTld 3ImISHCHmaTLD

2 erefL_Dm
AMJ&HCHTENLD

2m( R?+71?) m(3R% +712)

2
§TC(R3 —T'3)

ar(l+71) lnrzh
3

S\6O0TLD G LDLY nrl

69L& & 630TL_LD (R + 1)l (R + 1)l + nR? + nr?
8

1
§7rh[R2+r2+Rr]

FalbNeoT Fmuywgd [ = Vr? + h?

QL saanLgHer emuwigd [ =+ h? + (R —1)?

SalDNledT gyud  r=VIZ—h? GLMU UG UMD Seoutewnifledr &estoienne)] =

SalblN6dr 2 WJIb  h = ViZ =72 Gt GMI&EG Qeul @Gl ugiy X Geusd X GBI

nr

QUL L ST LIpLIL] 2 QL L 6T &MHmene| = 21

660 = &6 ofee X SILJH

QL Gamauu@d oMM  Faldl

QUL L Gamemr LiGSHuedt UUIJL|(3:O°X7TR2) = GaldL6dT eusmenuLL (rrl)

QUL L Gamewor LGSHuilest eNevedlesr Heribd ( 3:00 X 2mR) = &albl6T Sg& &Mmeney ( (27r)

QL L Gamemr LGHulenr <4iw (R) a D61 Fmuwjwigd (1)

LOIT (DDl & 61T

1m?® = 1000 litres 1d.m® = 1litre 1000 cm® =1 litre 1 kI = 1000 litres

1cm=10 mm 1m=100cm 1 km = 1000 m

@6 Hangems LMHCDT(H SHELTS 2 (MMM QFWILD CUTH G SH63T 66 LMMITE).
Sigest UmLugiy GG Wrmi.

8. yeraflullwev wmmIb Hl&L0SS6Y

L WNGUTS (S

31OT6M6EUS 6T

1.0 (& gynaif

2. QemLhlemev Sierey

3. (WwsQ

LIJ6U6L 61606 S 61T

1.e58

2.&6qm&fl Nev& &L

3.&meuLnmes eeV&HHLD

4.8 L eleussLd

5. Mev&&6UT6HS FTEH

6. LOMMIUML (& Q&L

Fal (& Fnm&ifl

IN}: T

G && Q&@

&6 n GIEH arTmsaen S L eNeudbdbin

(W&6L N QL 6TeTurSHeMetT ONeLESTHEE FTTEIf

L alevssid

Jsﬁ]wésassm'jé;a:é gyneif

aeL&ESHTESE FNTEH

(B L eNevésib)

B L allevdaLb

QeTGSSLILLTG alleu]Tis e

QeTGSSLILLL eileurhiser

Cmylg (Pemm

foZ (2x>2
o= |——|—
n n

ol (b& Fomsi
(CALJY
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o5& Frmafl
WM

Uiy ailev& &
WM

LIOIUTEGS Q&1 cv =% x 100
LrOIUTL G&Cspaller Wiy HOWSTS QMBSTR, AHST6Y 35S HeLLSSHETEDLD 2 L WG
LIYUTL GSAspaNeT UL QUAWSTS QHHSTL,ASSTE] GODHS HEMELLILGETELD 2 DL WIg)

H510556)
P(A) = A-5® &rrg,asmrrm smsmmsu‘aseﬁlsfrr as&t.rrsamssma
@ Honsfuls Nepssey Qom& S elenerneysailsir 616160815605
P(4) = X4
n(s)

o mISwimest HSLPFAUN6HT HHLDS &6 P(S) =1
BL&S Quicom H&pFHUNeT HHLDSSH6) P(@®) =0
H&p&&6| S GUQUH@QJLD 0 (pgeL 1 euemj (& )0<P(A) <1
Byiy Repsfuilet Hspssey P(A) =1—P(A4) [~ P(A)+PA)=1]

H&LD&SHAN6MN Fal L0 CHOHMLD
P(AUB) =P(A) + P(B) —P(ANB)

P(AUBUC)=P(A)+P(B)+P(C)—P(ANB)—P(BNC)—P(ANC)+P(ANBNC)
A LOMID B e6eaemdMQIIMEHTT  ON6V&HELD P(ANB)=10
RBDPEASET  cTexNed P(AUB) =P(A) + P(B)
A,BmmID C eesTemmQUITETM ONELEHEGLD P(AUuBuUC)=P(A)+P(B)+ P(C)
H&LpEANGET 6T6uM6L

P(ANB)=P(only A) = P(A) —P(ANB)
P(AnB) =P(only B) = P(B)—P(ANB)
IH T 6VOT LLILD

FLOUMULILE GC&IT g 6me6or am|Qeuefl (S) Qg samiQeuefl n(s)
BTERILSHMS €2(h (LPmM {H,T} 2
&6601(h & 6L
BTGNS ([ (LMD {HH,HT,TH,TT}
&6601(h & 6L
BTGNS NS CLOESTM) { HHH, HHT ,HTH , THH, TTT, TTH, THT , HTT }
Wenm &(HSe0

L& 6L

@(h USDL 2 (L (H&6D {1,2,3,4,5,6}

{ (1,1),(1,2),(1,3),(1,4),(1,5),(1,6)
(2,1),(2,2),(2,3),(2,4), (2,5), (2,6)

M usmL 2 (HL(BHL (3,1), (3,2), (3,3), (3,4), (3,5), (3,6)

(4,1),(4,2),(4,3),(4,4), (4,5), (4,6)

(5,1),(5,2),(5,3),(5,4), (5,5), (5,6)

(6,1),(6,2),(6,3),(6,4),(6,5), (6,6) }

I—ﬂ—
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‘ PG USEML 2 (HL(HSH60 ‘ {(1,1,1),(1,1,2),..ccc0even.......(6,6,6) }
06 L0

Qs FL(Bs6T 52

L@ LI C) L@
6T 6001 60071561 &
eGUlh FL (&6 13 s FUBs6T
&enmeuy FL_(H &6 13 gerv LB &6
ammjl & (&6 13 W& (&6
EOLWILD6TITL. EL_(Ha 6l 13 16501 EL_(H&en
feouliy L6 26 feouly Qorem FLU(Bse
&@LU &L (Hse 26 &@LU @ FU(H&eT
@nrer &(hsen 4 feuliy Qnmese &6
@nmese &L (Hsei 4 &@LU @ument &FLU(B&e
60U <y 6601(h 366 BIL&6T () 52 UMPHIGET WOHMID 2 BT &6
M6 ), 6901(h 365 BIL&6T (S1)52 eUMIh&GeT WOHMID 1 Brer

5
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1. 2 MEYSEHLD SIS (EHLD
( 2 wdiGueser )

A={2, -2, 3}, B={1, -4} etenfle0 AxB, AXA
ST60T &.
AxB = {2, -2, 3} x {1, -4}
={(2,1), (2,-4), (-2,1), (-2, -4),(3,1), (3, -4)}
AxA ={2,-2,3}x{2, -2, 3}
={(2,2),(2,-2),(2,3),(-2,2),(-2,-2),(-2,3),
(3,2),(3,-2),(3,3)}

AxB = {(3,2),(3,4),(5,2),(54)} erenfled A
OO B SHrewrss.

A={ AxB lletr (pge o miiysefisr &euorid}
A={3,5}

B={ AxB ullesr @ewrLmd 2 miijseflesr sevorin}
B={2,4}

A=B={p,q} 6Tesflsb AXB , BXA GIT6u0T5.

AxB ={p,a} x {p,q}
={(p,p),(p,a).(a,p),(a,a)}

BxA = {p,q} x {p,a}
={(p,p).(p,a).(a,p),(a,a)}

BxA = {(-2,3),(-2,4),(0,3),(0,4),(3,3),(3,4)}
erufled A LopmId B Smevas.

A={ BxA ullser @remrLmb o milisafleor seworin}
A={3,4}

B={ BxA ullesr (pgsd 2 miliysefisor seorin}
B={-2,0,3}

A={m,n}, B=0 erafld AxB , AxA, BxA
SIT600T &,

AxB={m,n}x{ }={1}

AxA = {m,n} x{m,n }
={(m,m),(m,n),(n,m),(n,n)}

BxA={ }x{m,n} ={}

A={1,2,3} , B = {x| x eteorugy 10 & el &
Sl vsm etemr} 6reuflsd AxB , BXA &Temra;.
A={1,2,3} B={2,3,57}
AxB={1,2,3} x {2,3,5,7}
=(1,2),(1,3),(1,5),(1,7),(2,2),(2,3),(2,5),
(2,7), (3,2),(3,3),(3,5),(3,7)}
BxA =1{2,3,5,7}x {1,2,3}
={(2,1),(2,2),(2,3),(3,1),(3,2),(3,3),(5,1),
(5,2), (5,3), (7,1),(7,2),(7,3)}

A={3,4,7,8}, B={1,7,10} etetflo R;, R, &0

2 6Tem SHemhIZefed eremeu AulellmEG B -

5@ LT 2 mmals GisSng?

(i) Re=1(3,7),(4,7),(7,10),(8,1)}

(i) R, = {(3,1),(4,12)}

AXB = {3,4,7,8} x {1,7,10}

={(3,1),(3,7),(3,10),(4,1),(4,7),(4,10),(7,1),
(7,7),(7,10),(8,1),(8,7),(8,10)}

(i) RrcAxB

Rieterruig) Aullellpbgl B -6 uem 2 maum@io.

(i) (4,12) € R, Gyeommed (4,12) & Ax B

Raostetrugl Aall(hhgl B&@ Su60m 2 mey @ledsme

A={1,3,5}, B={2,3} emeefld AxB , BxA

SHIT6U0T 5.

AXB = BXA 9|@LT? STT6mT & mis.

AxB ={1,3,5}x {2,3}
={(1,2),(1,3),(3,2),(3,3),(5,2),(5,3)} @

BxA = {2,3}x{1,3,5}
={(2,1),(2,3),(2,5),(3,1),(3,3),(3,5)} -@

® womd @ sefledlmBg AxB # BxA

W, goarete (1,2) #(2,1), ...

A={1,2,3,7}, B={3,0,-1,7} stesflev

R, = {(2,-1),(7,7),(1,3)} TSI AG&@EQI

B&@ Sy6m 2 meaum@lom?

AxB ={1,2,3,7} x{3,0,-1,7}

=1{(1,3),(1,0),(1,-1),(1,7),(2,3),(2,0),(2,-1),
(2,7),(3,3),(3,0),(3,-1),(3,7),(7,3),(7,0),
(7,-1),(7,7)}

Ri={(2,-1),(7,7),(1,3)}

RicAxB

Ristoorugl Aulledlmigl B -6@ Suem 2 meum@io.

Rereirm 2 mey {(x,y) / y=x+3, x€{0,1,2,3,4,5}
erufled LHILGL, IFFSD STeuTs.
x=0,y=0+3=3; x=1,y=1+3=4
x=2,y=2+3=5; x=3,y=3+3=6
x=4,y=4+3=7; x=5,y=5+3=8
R={(0,3),(1,4),(2,5),(3,6),(4,7),(5,8)}
wdllusd =1{0,1,2,3,4,5}

eiFesn ={3,4,5,6,7,8}

A={1,2,3,4,...,45} Lmmd R eTeTm 2 mey
“A uiler 155 @F erewrenfiar euFSH&0”
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e EEEEEEhEhEhEhEhEhEhEhEhEhE}E}E}E}E}E}E}E}ETEEe

6160 QUENUMIGSILL LT, R -§ AXA -
WeT o sewnors g, Gugrd  R-
sener  wHILSSMSULD, TFFSHSMSILD
SHIT6T0T &,

R={1,4,9,16,25,36} RcCAxB

wdliusn ={1,2,3,4,5,6}

aiFgan ={1,4,9,16,25,36}

f(x) =2x+5 f(x) =2x+5
f(x+2) =2(x+2) + 5 f(2)=2(2)+5
=2x+4+5 =4+5
f(x+2)=2x+9 f(2) =9
fx+2)-f(2) _ 2x+9-9 _ 2x _ 2

X X X

X={3,4,6,8}, R ={(xf(x)) | x € X, f(x)= x*+1}
ey 2 meumergl X-MEE N-6G R
&myum@GLom?

x=3 = f(3)=3"+1=9+1=10

x=4 = f(4)=4>+1=16+1=17

x=6 = f(6)=6"+1=36+1=37

x=8 = f(8)=8"+1=64+1=65

R = {(3,10),(4,17),(6,37),(8,65)}

X-60 o girem eenQaure 2 mIiySEL N-60 @G
Q@ B 2 ([ 26T6Mgl. > R @@ STILUTGLD.

f(x)= 2x —x* erefle0 f(x)+ f(1) Smemrss.
f(x) + f(1) =2x—-x* +2(1)—(1)?
2x—x> +2-1
2X—x> +1

X={1,2,3,4} , Y={2,4,6,8,10} mﬁ)gth
X={(1,2),(2,4),(3,6),(4,8)} eafled R eqm
smiy e ST_(Bs. Gugid  gHer
wdlusd, gGmarudliusn, alFssn
SHIT600T &.

X-60 2 6Tem @aiGeumm 2 mIiLSSL Y- QG
Q@ B 2 (5 2 6Terg.

o R @@ &My gy@Gi.

wdlliuan X ={1,2,3,4}

glememrudlliugn Y = {2,4,6,8,10}

aiFgsn = {2.4.6.8}

f oeorm  &myy f(x)= 3 - 2x  erer
susomumISSILGSDSI. f(x*) =(f(x))* stesfisd
X808 SI6us.
f(x*) = (f(x))’
3-2x*=(3-2x)?
3-2x*=9+4x*—12x
3-2x°-9-4x"+12x=0
-6x°+12x—-6=0
6x°— 12x+6=0
6 o6 UGSS
X*— 2x+1=0 = (x-1) (x-1)=0
x=1,1

@ o6irend 500 &libfwewil GousgHle
ums&éimgl. elumend  “d”  Qgremeey
QavusNE G STasmg t (eoiulew)
—ar amjurs QeauefiiLbhSEs.
Qzmsmee) = Grd x Gousid

d =500t

f eteim 2 meumerg f(x)= x> — 2 eteor
aumTUNISSUILOEDS. x €{-2,-1,0,3} ererfled
(i) f —ar 2 miliysemar L ipwESIHS.
(i) f e( emyLTGLoT?
(i) fx)=x*-2, x€{-2,-1,0,3}
x=—2 = f(-2)=(-2)-2=4-2=2
x=—1= f(-1)=(-1)?-2=1-2=-1
x=0 = f(0)=(0)>-2=0-2=-2
x=3 = f(3)=(3)*-2=9-2=7
& f={(-2,2),(-1,-1),(0,-2),(3,7)}
(i) for euQarm omiysEn 6T Qn
Klged 2 (5 2 6Tems.
o f @m smy o@D,

flx)= 2x + 5 eer&. Xx # 0 eTeufled

f—(x”i_f ?) gretr .

f:N->N eeorm &myy f(x)= 2x — 1 etenr
AMMUDIGESIL LT 9§ QaOTN&ES
germrer  giems Guoed &miy  Glasme
oS ST (HS.

f:N->N , f(x)=2x-1

x=1= f(1)=2(1)-1=2-1=1

x=2 = f2)=2(2)-1 =4-1=3

x=3 = f(3)=2(3)-1=6-1=5

x=4 = f(4)=2(4)-1=8-1=7,......
N—60 o 6rem geuGleury 2 mIliy&ESw N —6
RCrewmm flys 2 @ 2 arerg.

o T oemsl QETMISE eETmTeT STTLTELD
alFgsn # gemeorndliugn N

o f oyergl Gued smiry o606,

f:N-> N eatm &mjy f(m)= m’ +m + 3
6T6OT  GUEDTMISSLILL LT 98| QaTNIHS
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RETMTET ST 6T608 ST [HIs.
f:N->N f(m)=m?+m+3
m=1= f(1)=1’+1+3=1+1+3=5
m=2 = f(2)=2+2+3=4+2+3=9
m=3 = f(3)=3°+3+3=9+3+3=15
m=4 = f(4)=4>+4+3=16+4+3=23

N—60 o 6rer eeuGeurh 2 mIIYSGSL N —60
QCrewrm flpsd 2w 2 aTerg.
So T TS RETMISHE eETHTET STTUTESLD

(a,4)ereoflev f(a) =4
3a-5=4
3a=9 = a=3
(1,b) eteaflev f(1)=b
3(1)-5=b
3 -5=b = b=-2

A ={1,2,3,4} wpmo B =N eretts. f: A—>B
gyergl f(x) = x° eranr eusmTUDISSILG S
ereofl (i) f —ar 6IFgsDd SM6wTs.

(ii) f eTeliouEmE ML 6TeUS EiT6wT S5,
A={1,2,3,4} f(x) =x°
x=1= f(1)=1° =1
x=2 = f(2)=2° =8
x=3 = f(3)=3% =27
x=4 = f(4)=4° =64
aiFgsd ={1,8,27,64}
A -8 2 6Tem GG 2 MILLSEGD B —6
RCrowrm s 2 [ 2 6Terg).
o T o aTE RETNISE 6ETHTET STTUTGLD

R Giser  (eefluled) &mew  gemaled
t2+t

sLbs grmonargl (@ fld) s(6) =

sTo0rs QamSsLL.BeTargl. |SaSiser
(i) pevrmemy wewefl (i) 8 wewfl My 15
il Biset smo gemelinEl JaT SLBS
Qgmemeueysenend: seurLls.

t2+t

S(t) = — 4
2
(i) t=3.5wewfl s(3.5) = (35)2—+35
_ 1225435 _ 15.75

—— =7.875
2

2
werpsruseils sLbs Csmman)=7.8758.8
(i) t=8.25wemfl (0.25 wewefl= 15 Ll 1b)
s(8.25) = (8.25)%2+8.25

_ 680625+825 _ 763125 _ 40 1ccoc

2
8.25 il &5 Ggrmee = 38.15 &l

f:N->N er@rm emjy f(x)= 3x +2, xEN
6Teofle0

(i) 1,2, 3-a7 [Hlpsd 2 HEHm6TE SHT6H0T S
(ii) 29, 53 -6 (PEUT 2 (HESHEMETS SHITEHT &
f:N->N f(x)= 3x+2
(i) x=1 = f(1)=3(1)+2=3+2=5

x=2 = f(2)=3(2)+2=6+2=8

x=3 = f(3)=3(3)+2=9+2=11
1,2,3-ar flped o @m&ase peomGuw 5, 8, 11
(ii) f(x) =29

3x+2=29 = x=9
29 -aiT (peT 2 = 9

f(x) =53

3x+2=53 = x=17
53 -ar (e 2 = 17

f(x) =3x-2,g(x)=2x+k ,fog=go f
ereofled k -601 Ldllienuss SiTevtTas,
fog(x)=ge f(x)
f[g(x)] = glf(x)]
f(2x+k) = g(3x - 2)
32x+k)-2=23x-2)+k
6x+3k-2=6x-4+4k

3k-k=-4+2

2k=-2 = k=-1

f(x) =3x+2,g(x)=6x—-k ,fog=go f
ereefled k -6or Lodllienuis: SiTewT s,
fog(x)=ge f(x)

flg(x)] = glf(x)]

f(x-k) =g(3x + 2)
3(bx-k)+2=6(3x+2)-k
18x-3k+2=18x+12-k

-3k+k=12-2
-2k=10 = k=-5

f ouergl R-OGHES R-6© Sper &miy,
f(x) = 3x — 5 eteufled (a, 4), (1, b) erevflev
a, b-uiler wPlysemers smewrs.

fof) =5, f(k) = 2k - 1 ereaflsd k -aor
IenLE SiTeuT s.

fof(k)=5

f[2k-1]=5

22k-1)-1=5

4k-2-1=5
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e EEEEEEhEhEhEhEhEhEhEhEhEhE}E}E}E}E}E}E}E}ETEEe

4k=8 = k=2

f(x) = x> - 1eteofled fofof -G SHmevors.
fofof(x)=Ffof[x2-1]
=[G - 1)2-1]
=f[x*-2x2+1-1]
= f[ x* - 2x2]
= -1)"-2(x*-1)°
= =1)° (X~ 1)"-2]
=(x* =2+ 1) [x* —2x*+1-2]
=(x* =2+ 1) [x* —2x*-1]
— (X4 _ 2X2)2 _ (1)2
=(x*-2x%)*-1

A,B,CcN wimib f: A - Beerp &my
f(x) = 2x + 1 eTeorayd g : B - C et &miyy
g(x) = x sTeTayld euEmIUmISSULL LT fog
,go fulerr al&osn sremrs.
fog(x) = f[x?]

=2(x)+1

=2x2+1
fog -aor af&ssd = {y/y=2x*+1,x€EN }
gof(x)=g[2x+1]

= (2x + 1)2
gof-ar oilFesn = {y/y=(2x+1)% xeN

}

Qaidng. @mE a , b g dume
wmiledlser ereafisd C(t) = 3 t guems @
Crflu &my stomrs sM(Hs.

C(t) =3t QamO&sUT (HeTeTg)

C(t) e Crflw smm erer Blmien GeusmT(hHiLd
C(atl) =3at ““@

C(btz) =3b tz “"@

®+®@ = C(aty) +C(bt,)=3at;+3bt,
C(aty) +C(bt)) =3 (aty + bty)

@a Crfu  Fwsrur wear GCamum e

Heomey GlsuiSms.

& C(t) =3t Crflw smm Sy@ELd.

ys@EHid STTLSEHD ( 5 w6l )

fl) = V2x2—-5x+3 @@m emysafer
CarTiuras Gl s.
f,(x) =2 x> =5x+3  fi(x) =Vx eTers.
f(x) =v2x2 —5x + 3

=y f2(x)

= fa[fy(x)]

=fof (%)

=f,of,
f={(-1,3),(0-1),(2,9)} yeorg1 Z -
Z -somer 6@ Grflw &ITI:J'LI greotley f(x)
SHIT6T0T &.
f={ (-1.3),(0,-.1),(2,-9)}
y=ax+b ereors.
x=0, y=-1¢T60r&.
= -1=a(0)+b , -1=0+b , b=-1
x=-1, y=3eT6rs.
= 3=a(-1)+-1, 3=—-a-1 ,a=-4

& Gmiflw Errr'rq y=—4x-1

e er smms Casm_um iper g C(t)
sty @@ GEfiu SO,
C(at1 + btz) =a C(tl) + b c(tz) 'g w}ﬁjﬂ

A={x€EN /1<x<4},B={xEW /0<x<2},
C={ xEN / x < 3} ereuflev
(i) Ax(BUC)=(AxB) U (AxC)
(ii) Ax(BNC)=(AxB) N (AxC) &flumy.
A={xeN /1<x<4} A={2,3}
B={xeEW /0<x<2} B={0,1}
C={xeN / x< 3} Cc={1,2}
(BUC ) = {0,1} U {1,2}
={0,1,2}
Ax (BUC) = {2,3} x {0,1,2}

= {(210)1(211)f(212)1(310)1(311)1(312)} """ @
(AxB)={23}x{0,1}

={(2,0),(2,1),(3,0),(3,1)}
(AxC)=1{23}x{1,2}

={(21),(2,2),(31),(3,2)}
(AxB) U (AxC)={(2,0),(21),(3,0)(3.1)}

U {(21),(2,2),(31),3,2)}
={(2,0),(2,1),(2,2),(3,0),(3,1),(3,2)} @
®=0
eT6oTG6el Ax (BUC)=(AxB)U (AxC)
(BNC) ={0,1} N {1,2}

={1}
Ax(BNC)={2,3}x {1}
={(21),31)} O
(AxB)={2,3}x{0,1}
={(2,0),(2,1),(3,0),(3,1)}

(AxC)={23}x{1,2}
={(21,(22),31),32)}

(AxB)N(AxC)={21),31)}—O

®=0

eTeoTGel Ax (BNC)=(AxB)N (AxC)
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e EEEEEEhEhEhEhEhEhEhEhEhEhE}E}E}E}E}E}E}E}ETEEe

A={XEW / x<2},B={xeN /1<x<4},
Cc={3,5} eraflev
(i) Ax(BUC)=(AxB)U (AxC)
(ii) Ax(BNC)=(AxB)N(AxC) &flumy.
A={xEW / x<2} ={0,1}
B={xeEN /1<x<4}={2,3,4}
c={3,5}
(BuC)={2,3,4tU{3,5}
={2,3,4,5}
A x (BuC ) = {01} x {2345)
={(0,2),(0,3),(0,4),(0,5),(1,2),(1,3),(1,4),(1,5)--®
(AxB)={0,1}x{2,3,4}
={(0,2),(0,3),(0,4),(1,2),(1,3),(1,4)}
(AxC)={0,1}x{3,5}
={(0,3),(0,5),(1,3),(1,5)}
(A x B ) U ( A x C )
={(0,2),(0,3),(0,4),(1,2),(1,3),(1,4)} U
{(0,3),(0,5),(1,3),(1,5)}
={(0,2),(0,3),(0,4),(0,5),(1,2),(1,3),(1,4),(1,5)---®@
=0
sTeoTG6l Ax (BUC)=(AxB)U(AxC)
(BNC) ={2,3,4} N {3,5}
={3}
Ax(BNC) ={0,1} x {3}
={(0,3),(1,3)} - @
(AxB)={0,1}x{2,3,4}

={(0,2),(0,3),(0,4),(1,2),(1,3),(1,4)}
(AxC)={0,1}x{3,5}

={(0,3),(0,5),(1,3),(1,5)}
( A x B )y n (A x C )
={(0,2),(0,3),(0,4),(1,2),(1,3),(1,4)} N
{(0,3),(0,5),(1,3),(1,5)}
={(0,3),(1,3)} ------ ®
®=0
sTeorGel Ax (BNC)=(AxB)N(AxC)

={(1,2),(2,2),(3,2),(4,2).(5,2),(6,2),(7,2)}
(BxC)=1{23,57}x{2}

={(2.2),3,2),(5,2),(7,2)}
(AxC)N(BxC)

={(1,2),(2,2),(3,2),(4,2),(5,2),(6,2),(7,2)} N
{(2.2),32),(5.2),(7,2)}

={(2,2),(3,2),(5,2),(7.2)} ---®
®=0
eT6oTG6u (ANB)xC =(AxC)N(BxC)
(B—C)={2,3,5,7} — {2}
=1{3,5,7}
Ax(B—C)={1,2,3,4,56,7} x{3,5,7}
={(1,3),(1,5),(1,7),(2,3),(2,5),(2,7),(3,3),
(3,5),(3,7),(4,3),(4,5),(4,7),(5,3),(5,5),
(517)/(613)1(615)1(6r7)1(7r3)1(715)r(717)} "_@)
(AxB) ={1,2,3,4,56,7} x {2,3,5,7}
={(1,2),(1,3),(1,5),(1,7),(2,2),(2,3),(2,5),(2,7),
(3,2),(3,3),(3,5).(3,7),(4,2),(4,3),(4,5),(4.7),
(5,2),(5,3),(5,5).(5,7),(6,2),(6,3),(6,5).(6,7),

(7.2),(7,3),(7,5),(7,7)}
(AxC)={1,2,3,4,567} x {2}

={(12)(2,2),(3,2),(4,2),(5,2),(6,2),(7,2)}
(AxB)—(AxQ)
={(1,3),(1,5),(1,7),(2,3),(2,5),(2,7),(3,3),
(3,5).(3,7),(4,3),(4,5),(4,7),(5,3),(5,5),
(5,7),(6,3),(6,5),(6,7),(7,3),(7,5),(7,7)} "'@
O=0
6160661 Ax (B—C)=(AxB)—(AxC)

A eoatug 8- elLs @mmeurer @6

eTeuuT SHeitleur  GHewrd, B eTaTLG 8-y elL&
GSSOMEUTET LISIT 6TewT S6fleor SHemrio LoHmiLo
C eTeiTLig @ emLLILHL LIGT 6TewuT Serfleur
&ewurLd 6Teuflsd

(i) (ANB)xC =(AxC)N(BxC)

(ii) Ax(B=C)=(AxB)-(Ax()

A={12,34,5,6,7}

B={23,5,7}

C={2}

(ANB) ={1,2,3,4,5,6,7} N {2,3,5,7}
={2,3,57}

(ANB)xC ={2,3,57}x {2}

={[2'2)'(3'2)'(5'2)'(7t2)} ""@

(AxC)={1,2,3,4,56,7} x {2}

{ix,y) / x=2y,x€{2,3,4,5}, y €{1,2,3,4}}

(i) ouys@M vl (i) euemyuLd (i)
U igwied (emmulled 6T(SIS.

{(x,y) /x=2y,x€{2,3,4,5},y €{1,2,3,4}}

R={(21),(4.2)}

Kindly send me your study materials to our email id - padasalai.net@gmail.com



https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net

www.CBSEtips.in

0(4,2)
°(21)
X

- -
12345

{(xy) / y=x+3, %X, y gduee @Gue

sTemTeper <10}

(i) Qubys @l uLb (if) ausmILL LD

(i) Ll pwed evmuled 6TGIS.

x=1{1,2,3,4,5,6,7,8,9}

x=1=>y=1+3=4
y=2+3=5
y=3+3=6
y=4+3=7
y=5+3=8
y=6+3=9

UL lolLI60_(Lp6BM
R = {(1,4),(2,5),(3,6),(4.7),(5.8),(6,9)}

LOL]& LIL_ LD :
uys@nl L : A

SNWAOONOO

X

(=]

1 2 3456 7 8 9

x=1 = f(1)=3(1)-1=3-1=2
x=2 = f(2)=3(2)-1 =6-1=5
x=3 = f(3)=3(3)-1=9-1=38
x=4 = f(4)=3(4)-1=12-1=11

(ii) 2L euememr :

X 1 3

Y 2 5 8

(iii) eufleme _Camesafleir sevord :
f={(1,2),(2,5),(3,8),(4,11) }

(iv) eusmILIL 1D :

Y

Q (4.11)
10 4

9
8 ©(3.8)

02,5

O01,2)

Illl‘x
1 2 3 4 6§

A={1,2,3,4} , B={2,5,8,11,14} eraiiLer @)
semigar f:A—>B ergub &miy f(x)=3x-1
@, @&smiimen (i) oubysEl LD

(ii) 9 Louewenr (iii) euflons Camgpsefler SHewrid
(iv) suemyuLLd peuid Gmses.

f(x)=3x-1 A={1,2,3,4}

f: A > B agu smyy f(x)=§—1 6T6uT

summunssLILQSng. A={2,4,6,10,12} ,
B={0,1,2,4,5,9} eTsuflev &ITI.]'LI f s

(i) uflens Camgseflam Semmd (i) oL susnewr
(i) ouysEH un (iv) ey @peuid
N5,

flx) = ’2—‘ -1 A={2,4,6,10,12}

x=2 = f(2)=§—1 =1-1=0

x=4 = f(4)=§—1 =2-1=1
X=6 = f(6)=§—1 =3-1=2

x=10 = f(10)=%—1 =5_-1=4

x=12 = f(1z)=§— 1=6-1=5
(i) uflems_Geomg saflor semrn
f={(2,0),(4,1),(6,2),(10,4),(12,5) }
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(ii) L 6uememr_:

6

10

12

(iv) susmIL 1D ;

Q10,4

Q6,2
20, e

T 3 T r+ 11 X
1234567891011 12

=(-2.5)
=-2.5
(iv) f(2) +f(-2) = (x + 2)x=2+ (x— 1)x-2
=(2+2) + (-2-1)
=(4)+(-3)
=4-3
=1

O12,5) .

f eTelTm SmMyLTeTS
x+ 2, x>1
fix)={ 2, —1<x<1
x—1, -3<x<-1
ereoflov (i) f(3) (ii) f(0) (iii) f(-1.5)
(iv) f(2) + f(-2) smevors.
x+2 x=2734,...
fx)=9 2, x=-1,0
x—1 x=-2,-1.1
(1) f(3) = (x+ 2)x-=3
=(3+2)
=(5)
=5

(ii) £(0) = (2)x=0
=(2)
=2
(iii) f(-1.5) = (x — 1)x=15
= (-1.5-1)

f : [-5,9] eTeorm SMTLITEUIS;)
6x + 1, —-5<x<2
f(x)= {sz -1, 2<x<6

3x—4, 6<x<9
ersfled (i) £(-3) + £(2) (ii) £(7)- f(1)

ﬁﬁ%2ﬂ4)+ﬂ8)(wié%£%£§?
SIT6IT &,
f(x)=

6x+1, x=-5-4,-3,-2,-1,0,1
{sz—l, x=2,345
3x—4, xX=6,7,89

(1) f(-3) + f(2) = (6x + 1)x=-3 + (5x2 = 1)x-=2
=(6(-3)+ 1)+ (5(2)(2)-1)
=(-18+1)+(20-1)

(-17)+(19)
-17 +19
=+2

(i) f(7)- f(1) = (3x = 4)x=7- (6x + 1)x=1

(B(71)-4)-(6(1)+1)

21-4)-(6+1)

(17)-(7)

17-7

10

(iii) 2 f(4) + f(8) =2(5%2 -1)x=4+(3x - 4)x=38
=2(5(4)4)-1)+(3(8)-4)
=2(80-1)+(24-4)
=2(79) + (20)
=158+ 20
=178

NR =2 f(-2) - {(6)

2(6X + 1)x:.2— (3X— 4)x:6
2(6(-2)+1)-(3(6)-4)
=2(-12+1)-(18-4)

2(-11)-(14)

-22-14

-36

f(4) + f(-2)

(5 X2 - 1)X:4 + (6X + l)X:-Z

GM@)-1)+(6(-2)+1)

80-1)+(-12+1)

=(79) + (- 11)

=79-11

=68
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SLWaTisd 665 pmenfigse, QamenL
aQuiysmeaTe  Qamar®  @HaHmLLL
2 urgmg (Qg.f) ssrsS &y,
gmua&m Qurrgjsurraa h(b) = 2.4 b + 54.10
6T6aT M &myenL @anEL
LwaTURSSIEDTTS6T. @EE b oyarg
QanmenL eTenifled Homom@Lo.

(i) h QUETE RERTNIHES QREVTDTETST 6TEOTS
SIT6UT 5.

(i) QzmeoL steuuoiflesr Fomd 50 G@&.f
ereofled e HUflelr 2 WTSmSS Smewrs.
(i) pufleor 2 wmb 147.96 Q& erefled,
Iy QzmenL eridiiesr [Somd smeverss.

h(bs) = h(b,) seTeurs.
oo 2.47 b1 +54.10=2.47 bz + 54.10

247 b1 =2.47 b2
b1 = b
h(b1)= h(bz) 67601160 bi1 = by
S QREMIHSE 660N SFMTLTESLD.
(i) QameoL eTeyinesT Bomd b = 50 Q&b
& h (50) = 2.47 (50) + 54.10
=123.50 + 54.10
=177.60
Ihs mufler 2 wmb = 177.60 Q&b
(iii) muflesr 2 wimbd 147.96 Q&
gmeug  h (b) =147.96
2.47b +54.10=147.96

247b =147.96 - 54.10

2.47b =93.86

> b=220_3g
2.47

QameoL eTeynfest Hord b = 38 Q&.f

gmum@Lm erer Gardl&s
S(t1) = S(t,) 66T,
gtl+ati+b=Y%gt2+atz+b
ogtiz+aty =% gt2+at
ogtiz+ati- Yagtl-at,=0
1/2g(t12—t22)+a(t1— t2)=0
1/Zg(t1— tz)(t1+ t2)+a(t1— t2)=0
(- ) [%g (+ 2)+a]=0
(i-t2)=0 (o) [Yeg (t1+ t2)+a]=0
[Y2g (ti+ t2)+a] #0
oo ti1—- tz =0
= ti=t
S(t1) = S(t,) eTeotled  t; =ty
S S(t) QeTmisGsTaTmTeT FTTUTELD.

qaﬁluﬁi’frﬂq olemgullest  SMy6uONLOTS t
alemmgsefld  @m QuUImer SHL&GSLD
gmmomerg S(t) =% gt2+at+b aas

Qar@sslU_(eTorg. @BEG a, b
Spfwenas  wmiledlEer (g oyemsl
qs)fﬂufi'l'rﬂl.ll alengullesr SmyemLOTS  6FHL(HLD
QL) S(b) 24,65
QETMISQSTaTHTEr  STIUTEGLT  6Teor
SIS,

S(t)=%gt2+at+b

S(t) ST 69607 )16 QG meaT miTewT

t oterm amyumerg GEsodwerdlev (c) 2 eiem
Qaliuflemevemunpd,  umpeTeliige  (F)
2 gTem  GlauliuBlmevsmigd  Glsmeors @i
gmjur@L. Gueud g t (c) = F  erer
umImISSLILC LT (@B F = gc+ 32)
(i) t(0) (ii) t(28) (iii) £(-10) (lv) t(c) =
212 o5 @MWEGWEUTE ¢ -ar Wiy
(v) Geoodwed wdliyd  umysTeli

gl FLOLOTS B\ GLeuTg)
QauliLfleney SmewTs.

t(c)=F
BTG t(c)—%+32
() t(0) = 9(°)+32
—O+32
=32 F
(ii) t (28) = 222 + 32
—52+32
504 +32
=82.4° F
(i) £ (-10) = X222 + 32
=213
5

=-18+32
=14° F
(iv) t(c) = 212 ereuflen

m2=%+32
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9¢=180x5
900

9¢=900, c=—-
oo c=100°c
(v) Qseodlwed iy = umperaml’ iy

c=%+32
9c+160
c=—
5¢=9c+ 160
5¢-9c=160
-4c=160 = 4c=-160

-160
C=T = ¢ =-40

e16oTGeu (fo g) ch =fo (goh)

fx)=x-4,g(x)=x2,h(x) =3x-5 erenflev
(fo g) och =fo (goh)aflumy.
f(x)=x-4,g(x)=x2,h(x)=3x-5
(fog) x=1(g(x))
=f(x?)
=x2-4
(fog)oh(x) = (fog) (3x-5)
=(3x-5)2-4
= (3x)2-2(3x)(5) + (5)*- 4
=9x2- 30x +25 - 4
=9x2 - 30x +21
(goh)x=g(h(x))
=g(3x-5)
=(3x-5)2
= (3x)2 - 2(3x)(5) +(5)2
=9x2-30x+ 25
fo(goh)x=1f(9x2-30x+25)
=9x2-30x+25-4
=9x2 -30x +21
0=
sTeorGeu (fo g) ch=fo (goh)

f(x) =2x+3,g(x) =1-2x, h(x) = 3x
etestien (fo g) oh = fo (g o h) aflumy.
(fog)x=fog(x)

=f(1-2x)

=2(1-2x)+3

=2-4x+3

=5-4x
(fog) oh(x) = (fo g)(3x)

=5-4(3x)

(geoh)x=geoh(x)
=g (3x)
=1-2(3x)
=1-6x
fo(goh)x=f(1-6x)
=2(1-6x)+3
=2-12x+3

f(x) =3x+1,g(x) =x+3 g dwme

@@ emiyser. Gugnn g ff(x) =f g g(x)
oreufled  x-008 SiTewTS

gffC) =g{f[fx) ]}

g{fBx+1]}
g{3@Bx+1)+1}
g{9x+3+1}

g{9x+4}

9x+4+3

fggx)=f{glgx ]}
=f{g[x+3]}
=f{(x+3)+3}
=f{x+3+3}
=f{x+6}
=3(x+6)+1
=3x+4+18+1
=3x+19----@

®=0
= 9x+7=3x+19
9x-3x =19-7
12
6x =12 ,X=?=2

oo X=12
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2. GTeMT&EHLD GISTLTeuflemes(EmLo
(2 Marks)

-12 aw 5 9460 AIEGSEGLGUTS)
Hem_&@ Feay mpid g srewrs.
a=-12,b=5

a=bq+r, @B@E 0<r<I|bl
-12 =5x(-3)+3
& me) q=-3,g r=3

Qam_ijedfuner @ Wms pssetisr
QupsSHUMET 2 i IGURHL eTer
Emieys.
Qar_i&durer @@ Wems LpLsser
X, X+ 1 eT60T&.
Qussnueer X x (X+1)=X2+X
X @ enL eewr etevTsm. X =2k
X2+ X =(2k)2+ 2k
=4Kk2 + 2k
=2k (2k+ 1), 29460 su@L@LD
X @memm etevor eTers. X =2k+1
X2+X=(2k+1)2+2k+1
=(2k)2+2.2k.1+12+2k+1
=4k2+4k+1+ 2k +1
=4k2+ 6k + 2
=2(2k?z+ 3k + 1), 2510 su@uld

340 uppid 412 6@ Yhellipe uGSSe0
wevpulsd 1B.CuT.e1 SmemTs.

412 =340 x (1) + 72

340 =72 x (4) + 52

72 =52x (1) +20

52 =20x(2) + 12

20 =12x(1) +8

12 = 8x (1) +4

8 =4x(2) +0

s UGS 4 S W.OuTen = 4

867 oppih 255 6@ Welliper mGSSe0
weopulsd 15.CuT.e1 SmemTs.
Luin A5 &)

10224 pyih 9648 6@ Wseflipeir
UG5S0 (pempulilsy L5.QLT.e S s.
Lilp A& &)

84 Lommid 90 6@ Whafliper MGSSN
weopulsd 15.CuT.e1 SmemTs.
Lilp A& sreE)

THs B AO5565 Hme yapd
SMTLIGIT 6T600T &6IT 6T60r [HlmI6yS.

Bo 9055055 Hme Yussar x, x+1
6T60T &.

wselipe aIGSs0 Capmig,
a=bq+r, @E@E 0<r<|bl
x+1=x(1)+1

x = 1x+0

oo FFQ.* q=X,Lﬁ£ r=0

soLdl u@sHd 1 o W.oure = 1
S X, X+1 EMTUST 6TemTSAT ) @LD.

ws® 10 @wed erswrser 1,2,3,....10

10 @wev eTevrsafier LF.QLm.o .

= 1x2x3x4x5x6x7x8x9x10
=1x2x3x22x5x2x3x7x23x32x2x5
=1x23x32x5x7

=1x8x9x5x7

=2520

Srés : 5x=4 (L@ 6)
5x=4 (' 6)
5x-4=6k
5x=6k+4

— Okt 1611,

5 )
6(1)+4 6+4 10
k=1 ey x= ot ot _10_ 5
6(65)+4- 2644 40
k=6aafe x="0 == =g
6(11)+4 66+4 70
k =11 sreefish x:i=T+=?=14

Srés : 3x-2 =0 (W@ 11)
3x-2 =0 (W@ 11)
3x-2 =11k

3x =11k+2
(o lLk+2

. 11(2) + 2 2242 24
k=2eeafl x= 3 = 3 :?

. 11(5) + 2 5542 57
k=5eeafld x= ( = =—=
3 3 3

11(8) +2 _ 88+2 _ 90

3 3

k=8eefls x=
oo X=8, 19, 30, ......

youse 7 100
Crr5dnG Im@ GErd erevrenr?
100 + 7 =107 (wl () 24)

=11 (w’® 24)
Yhuss 7 weflsE 100 wenfl Crrsdne
wery Gmrd pmuse 11 wewfl

5
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Umuse 11 wseflaE 15 wenfl Crrsdng
ety Gy eTéwTor?

Wnused 11 wewefl = 23 wemfl

15 wenfl GETSSHNEG (e

23 -15=8 (w_ @ 24)

Wnuse 11 weefls@ 15 wenfl Crrsdng
ety Gmrd (pmused 8 el

1
as-1  _ Q4 _ E) —
as - - -1 _ -
a5_2+3 a3+3 Z+3

1 4 1

16713 52

28160 17 o160 aUGHELEUTE Sl &L
f sremrs.

281 = (29)9
29=512 (W' @ 17)
29=2 (i 17)
@ = 281 = (2)° (WG 17)

=2 ('@ 17)

S g 2 g @i.

en Qsm_raflmsudar Gurg 2 miiy
ap = [ n(n+3), neN @F nem eTemr
{ nz+1 ,neEN @ @I L eTemwr

11-gyoug 2 gy , 18-gyeug 2 gy
ST &,
n=11 ererug smMenM 6T6TOT
an=n(n+ 3)
ai1 = 11 (11 + 3)

=11x14
n=18 eretTug @7 enL 6TewIT
an=n2+1
aig = 182+ 1

=324+1

=325
a3 = 325

ai=1,a=1a,=2ap1+an2,n=3,nEN
stefled (S0 YW 2 MIILSEMETE SHMewrs.

aa=1

az=1

az = 2asz1+as:2
=2a+a
=2(1)+1
=2+1=3

Az = 2as1+as2
=2a3+a
=203)+1
=6+1=7

as = 2as1 + as
=2as+ a3
=2(7)+3
=14 +3 =17

a6 = 2 ae1 t as2
=2as+ a4
=207 +7
=34 +7 =41

_ n2-1 eN o o o
dn = n+3,n 6] 6M6MM 6T60OT

2

# ,NEN i @ 6L 6sTeuwT

eeufled as LOMID ais STEMTS.
win A& sns)

WS MBS 2 MIILSHEDETE SHT6ur s,
an—
al=1,az=1,an=ani‘zi3,n23,nEN
a; = 1
az=1
az—-1  __

az = =
3 a3_2+3

As—1

QGp=—-=
4 a4_2+3

-11,-15,-19, oter ol (HS
Qam_fiar 19 gyaig 2 millenus: e s.
e (0§ O fler n-aigl 2 miiy

ta=a+ (n-1)d
a=-11;d=-15+11=-4;n=19

tio=-11+18 (- 4)

=-11-72
t19 = —83

16,11, 6, ......ct01) &L (HS Gem_eor
- 54 FIATUG] STSSEMEUTLTEUG] 2 MILILY?
—la
n=— +1
a=16 ;d=11-16=-5;1=-54
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a=6,r=3 2mw QuEKsEGHS Gsm_ifler

S (PRTMI 2 MIILSHENETE SITEIT &,

Ya® YTy 2 miysaT = a,ar ,ar?
=6,6(3),6(3)2
=6,18,6(9)
=6,18,54

729, 243, 81, steorm QUSG5

Qam_flar 7 gueus 2 MINMLS STewrs.

QumsSS GamLflar n gyeag 2 miiy

81-d2 =32
-d2z =32-81
-d2z =-49
& =49 =
a=9,d="7ereoflev,
a-d,a,a+d
9-7,9,9+7
2,9,16
a=9,d=-7erefle,
a-d,a,a+d
9-(-7),9,9-7
9+7,9,9-7
16,9,2

1.1 1 1 1 1
t7=729X=-X-X-X-X-X-
37373737373

t7 =1
5,15, 75, st QU@BESS CBmifleir
wse 6 2 miysafar s.(HiEn &rewrs.
a=5; r=15—5=3 ;n=6

_a(@m™-1)
="
_5(3°-1)

2
__5(729-1)

2
__5x728

Se

2
=5x 364

Se = 1820]

300 5@ 600 &@W G G 7 g6
AUGUBL ST Fl  (@ied  eTewT S6suT
G (DB SHITewT 5.
301 + 308 + 315 +....+595 =7
a=300;d=7; [=595

n =l—7a+ 1

595-301
n= +1

2947
1’1=T+1

n=42+1
n =43
Su =2 (a+1)
St == (301 + 595)
4

=B x896
2

=43x448

543 = 19264

2. sremrsEnD Osmijauflmasenn (5 Marks)
R HLOF s rauflmalio gemong
053055 a2 miiysefiar
& (DF60 27 LoHmILD Sjeumnadleer
Qu@aspussr 288 eaeaflw, 9Es ey
o MICIL|SHEMETS; &IT6wr 8.

Q@ L (g Cariyaifloagulsn gemwons
9053058 Yy o YilisaT

a-d,a,a+d ererrs.

a-d+a+a+d =27
3a =27 ,a=23—7

(a-d)xax(a+d) =288
(a2-d%2)xa =288
(92-d2)x9=288
(81-d2)x9=288

81-dz =22
9

S1,S2,S3 eraruier WeanGL @M &L O\
Qam_ijouflmaular s n,2n,3n

o mitiyseaflenr & HiHD gy EL.

S3=3 (Sz—S1)6T6'IiT ’Iﬁglﬂl&.

S1 =2 [2a+(n-1)d]

S2 =2 [2a+ (2n - 1)d]

Sy =2 [2a + (3n - 1)d]

(S2-51)
=2 [2a+ (2n - 1)d] - 7 [2a+ (n - 1)d]

= g [2[2a + (2n - 1)d] -[2a + (n - 1)d]
=§{2[2a +(2n-1)d] -[2a + (n - 1)d]}
=>{2[2a+2nd-d] -[2a+nd-d]}

=E{4a+4nd—2d—2a—nd+d}

7
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e EEEEEEhEhEhEhEhEhEhEhEhEhE}E}E}E}E}E}E}E}ETEEe

=§{2a+3nd-d}

=2 [2a+(3n-1)d]
3 g0 Qumss,
3(52—51)———[Za+(3n 1)d] =

(0 Quqyaa@g; Qg;rn_lrsulﬂm&u.‘llm 9 aug
2 miiy 328 umgd 6 ey 2@y
1215 eTafled 12 oug 2 miliowLs SmewTs.
to=32805, t¢=1215 , tie=

th=a rn-1

to=ar8=32805 --------

te=ar5=1215 -
UG5 &,
ar® 32805

ar’5 1215
r3 =27 , r =23

[r=3]

r - wdlleou G Wrdull,
ars=1215
a(3)5=1215
ax243=1215,

a=>5
a=5,r=3,n=12
th=arn-1
tiz =5 (3)12-1
tiz=5(3)1
o 12 augl 2 iy = 5x31

51+52+53+..+92
= Y92 -Y50
_ [n(n+1)] _ [n(n+1)]

2 2
_ [92X93] [SOX 51]

[46x93]-[25x51]
= 4278 - 1275
= 3003

1+4+9+16+..+225 aif sn(hFed SHMewis.
1+4+9+16+..+225
= 1242243224 e

= Y152

_ n(n+1)(2n+1)

6
_ 15x16x31
- 2x3

=5x8x31
=1240

5+ 55+ 555 + ...... T Q@m_ijouflemauiei
W n 2 miysafiar s.HFe0 STeurs.
5+55+555+...... n ngﬂqaasfr GUEHIT
=5[1+11+111+..n 2 myser ]

1 . .
= 5Xg[ 9+99+999 +...n 2 MILiyS6T ]

=2 [ (10-1)+(100-1}+(1000-1)+ ...n 2 iyt ]

= { (10+100+1000+... n = ingssi) -

(1+1+1+..n e miyser) }

_5 { a(r )) _n)
_5 10(10 -1)
“olTha -
_ 5 ,.10(10™-1)
_;{_9_ -
_50(10™"-1)  5m

81 9

(S0  SHITEV0TS
103+1134+1234 .. iierercernnes
103+113+123+.uuuiiiiererieene
= Y203-)093
_[n+D)? [+ D]?
=5 - [

_ [20)(21]2 _ [9X 10)]2

=[10 X 21]*> — [9 X 5]?
= [210]? — [45]?
=44100 - 2025 =42075

0.4+0. 44 +0. 444 + ......
GQsm_jauflensulsr e n 2 miiysefisr
(DB ST S,

GrameilLid 10 Qgif, 11 G@s.f, 12
Q&4f, ... 24 Qsuf Y UGS
SeTeyeitem 15 ST Gulpeu  GueTITEUOTE
STHIBEIGT 2 eTeTar. @ES 6T
sndlgnismers — QETer®  eTalaIaTa)
UTUsOL SiMLSFI JJUEISAES Wipud?
102411241224 ..
102411241224
= Y24%2-%92

_ n(n+1)(2n+1)  n(n+1)(2n+1)

6 6
_ 24x25x49 9x10x 19

B 2x3 2x3
_ 24x25x49 9x10x19

B 2x3 2x3

=10x49-3x5x19
=4900 - 285
=4615

51+52+53+..+92 61 Gn(hGH6D SHiT6wwTs,
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3. QumaenflgLd

15, Gum.1o 2 Marks

(X4 —1), X? = 2X +1. 15.Qur.10 Sreis.

Firey

x*—1=(x*)*=(1)> = (x* +1) (x* -1)
= (x* +1) (x+1) (x—1)
X?—2x+1=(x-1)* = (x-1)(x -1)
= (x> +1)(x+1)(x -1)*

£.aur.o = (X=1)(X=1)(X* +1)(Xx +1)
=(x* +1)(x+1)(x-1)°

6. 2. 6x° —30x* +60x —58 wiHmID
3x® —12x* +12x —18. T LOIMILIL

Caremausmseaflet 15.GLIT.6u &TewTss.

2. (X} =27),(x—3)? er 1£.Qur.10 sreiTs.
Firay
X2 —27=x*-3
X*=27=x>-3 =(x-3)(x* +x3+3%
(x=3)" = (x=3)(x~3) )
F.euro = (X-3)(X-3)(X* +3x+9)
= (x—3)*(x* +3x+9)

3. f(x) whmo gX) F.Qumr.eu, 15.6UT.L &HTevsTs.

Guayo  f(X)xg(X) = F.Ournw *f.Qur.e
FAUTiés.
(x® -1 (x+1),(x* +1)
Firey

f(X) = (xX°* =) (X +1) = (X =1)(X* + X +1)(x +1)

gx) = +1D) =x*+1° = (x+1) (x> = x+1)

Sof.Quren = X+1

F.auro =X +1)(X=1)(X* +X +1)(X* =x +1)

f(X) xg(X) = 15.0umr.0x8.Qur.eu
[(X=D)(X* + X+ D)(X+D]x[(X +D(x> = x +1)
=[(X+D(x=1)(X* + x+D)(X* =x +D]x (x+1)

all#lgwpm Caremeusar 2 Marks

. P?—-3p+2,P? -4 &r18.0ur.p srems.
Firay
P?-3P+2=(P-1)(P-2)
P?—4=P>-2>=(P+2)(P-2)
LLCM=FP-1)(P+2)(P-2)
= (P-1)(P* - 4)

X—3
x? -9
Sirey
X—-3 X—-3 X—-3 1

X2 -9 x2-3% (X +3)(x—3) T x+3

& (& 5 %.

. (2x7 =3xy)?,8x° —27y? & 15.0um. SreiTS.
Firey
(2x* —3xy)* =[x(2x - 3y)]
= x*(2x —3y)(2x — 3y)
8x® —27y° — (2x)* — (3y)®
= (2x - 3y)[(2x)* + 2x.3y + (3y)°]
= (2x-3y)[4x® + 6xy +9y°]
S B.Gumn =
= X% (2x —3y)(2x—3y)(4X* + 6xy +9y?)
=Xx?(2x —3y)(8x° - 27y°)

x* -16
2. —————
X° +8x+16
ey
x*-16 x*-4"  (x+4)(x-4)
X*+8x+16 (X +4)(X+4) (X+4((x+4)
X—4

X+4

F(HBGHB.

x> -1

x* +X
Firey
x?-1 (x-1)(x+1) x-1
x2+x  x(x+1) X

F(HHEHB.

18.@um.eu (5 marks)

5. X*+X?—X+2 wpgmw 2X° —5x* +5x-3.

3w LML CHTemausefletr L5.CILIT.ou &TeisTsS.

P+2
8P2 +13P +5

WL ST,

st6orm Caremeuuilesr allevdss i’ L
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Firey

_ fp+2
8P% +13P +5
8P2 +13P+5=0

6T6dT) CHTemeuWwITerTgI

5

@P+®@+D=O:P=%;P=—1

6TIDELITEI euswTWMISHS @ UOTSSTEDGI.
-5

6TeTGou afleVdSBLILIL L FILIL|d6IT E whmin -1

Firey
. . . . 2
B)B1G SweTHgI X LI sERS G0, X >0
aenGey. X +1>0+1
6ThHGleum® X, LHl1d @ x?+1#0
sTerGoay — 6165TD GHTemends @ aflevdbainil L Gl
X“+1
WFIIL ST 67&ILOlVeM6V.

sterm GHremeuuilsst allevsasiu’ L gl

y2_25a@m@&ﬁmmmmgjy2—52=o
y?-52=0

(y+5)(y-5)=0

y+5=0y-5=0

y=-5y=5

T BLTg GHTemar AIHTUMIHES @) WRTESTHDS.

o aflvssiiul L wgiiyser -5 whmin 5

x> 21y '
5 2% OIMUEIGES

8. —
9y? ¥ x

x‘b? x*-1

9. —— @ —F = W QuBEGS.
x-1"7 a'p’

ey

x*h? y x? <1 > x*b? L x+D(x-1)
x-1 a'® a'b’ a‘b®
_x(x+1)

~a'b

t
t?—5t+6
eflevdsLIL L 1og)IL eTeiTent?
Firey
t

erssrm G memeuuilesr

t?—5t+6’ etssrn CHremeuwITeTs)

t? -5t +6=0

t? —5t+6

6
-5

(t—2)(t—3)=0

t-2=0;t—-3=0

t=2,t=3

(t—2)(t-3)=0=t=2,t=3
T Curg CHTemey suewTMIGHsH @) WOTHSTE DG

" allevssliiul L wdlliyssT 2 wHmid 3 .

x*-16 x-4
X+4  x+4
Bire)
ﬁ—16;x—4_x2—4zxx+4
X+4 x+4 x+4 x-4
:004Xx+4)xx+4:(x+4)
X+4 X—4

. &(HEBGB
P? —10F’—+—21>< P?+P-12
P—-7 (P-3)?
Firay
P?—10P+21 P’+P-12
P—7 (P—3)°
_(P-7)(P-3) (P+H(P-3)
P—7 (P-3)?
=(P+4)

X
x? +1

6T6iTSIT?

ereiTm Gameweuullsir aflevdssiiLi’ L iy

12. Quups@s
5t°  6t-12
X

4t-8 10t
Sirey

Kindly send me your study materials to our email id - padasalai.net@gmail.com



https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net

www.CBSEtips.in

5t° LBt-12 5t° B(t-2)
4-8 10t  4(t-2) 10t

1. smsgs
1 1 1

2 += T2
X°—=b5Xx+6 X" —-3x+2 x°“-—-8x+15

sTeaflev

A_2x+1 _2x-1
2x -1’ 2x +1
1 2B
A-B A*-B?
Sirey
1 2B 1 2B
A-B A’-B’ A-B (A+B)(A-B)
A+B-2B A-B

" (A+B)A-B) (A+B)A-B)

1
- 2x+1 2x-1 - 2x+1 2x-1
2x—-1 2x+1 2x-1 2x+1
B 1
C(2x+1)2 +(2x-1)?
(2x-1)(2x+1)
_ (2x-1)(2x+1)
C(2x+1)2 +(2x-1)?
B 4x? +2x —2x—1
CAX? +AX +1+4X% —4x +1
_Ax?-1 4x®-1
C8xP+2  2(4x%+1)

_ 2A% +2B? B 2(A2 +BZ)
A+-B A=B

x Y 1\
() ()
X+1 X+1
- x 1
X+1 x+1

e
(x+1)*>  (x+1)?
X x+1
x+1 1
2(x* +1)
C(x+1)? 2(x® +1)
X X(x+1)?

auiréa epsurd (2 Marks)

1. 256 (x-a)®(x—b)*(x—c)**(x —d)%

63T UIT &S CLPSVLD SHITEHITS5.
Siray
250(x —a)® (x —=b)* (x —c)** (x —d)*°

=\[256(x— )" (x—b)" (x—0) *(x— )
=16|(x-a)* (x—b)* (x ~¢)° (x ~ )"

3.
A= X g=_1
x+1
(A+B)? +(A—B)> 2(x?+1)
A+B CX(X +1)2

T x4+l

Firey

(A+B)*+(A-B)’
A=-B
A% +B? +2AB+A* —2AB+B?
A=+B

6T6afl6L

eTeuT [BlepLilEs

144 a®b*?a'®

2. T~ 6T eUTSSEPEVLD HITEBITS.

81t12g4h14
Sirey

1442°bat  [laaa’bc” 12[a’b’c’|
81t12g4h14 - 81tlzg4h14 - 9‘teg4h7‘
4la*b°c?

= 3 t°g°h’

121(a+b)*(x+y)’(b—c)®
81(b—c)*(a—h)*2(b—c)*
Firey
121(a+b) (x+y)(b—c)®
81(b—c)*(a—b)**(b—c)*
_\/121(a+b)8(x+y)8(b—c)8
~\ 81(b-c)*(a-h)*?(b-c)*
_lj@+b)' (x+y)’|

9| (a-h°® |

6T Q&S CLPeVLD
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1 2

1+ —+— ot auirés qpavid sraws.
X° X

QUT&SCLPEVLD &IT TS,

CpBISENGHT dn(HH) HMID GLIHEBSEDLICVET

stesflev —1 @)muLig FweTUT® HTevwTs.
Sirey
-3

CLPEVBIL TSI T (PB6L = ——,

2
cLpeVBIgeTleiT GLI(HdamLeveT = -1
S X (epeviisalleT s @sed) X+ apsviisafls
QuSHHLIVST = 0

3
X2 —(-S)x-1=0
( 2)

2 960 QUBHEGHS = 2x* +3x-2=0

64x* —16x3 +17x% —2x +1]
x4 —12x° +42x* 36X +9
37x? +28x° +4x* +42x+9
16x* +8x2 +1
121x* —198x* —183x* + 216x +144
UlssTeupLemeu L suids sTesflsL a,b, iy
4x% —12x3 +37x* +bx +a
ax* +bx® +361x? +220x +100
ox* +12x% +28x* +ax+b
x* —8x% +mx® +16 STOTLIGI (B (LPPeUTEHBLD
6Tevfll M,N &TesTs.
2
4x2 N 20x 13
y: oy X

& IT6U8T .

2
118 10, o7 10y, y2

Yy Yy X X

&HITEVIT S5

30y 9y®

2 QT & &% eLPEILD

QT &85 CLPSVID

6 13 m )
11. —4——3+—2+—+n STETLIGI (B (PP
X X X X

UIT&SID 6T6uI6) M,N &T6UdTS.

3. N yenfisdr LBGEUNID @@ wEYbSH elleemwr’ ®
Gumiiquiley esuGeumri  gewflud wHDH WTSHI
ewflaGearr@o eflenerwr Ceusssr@d 15 Cuirt’ g s6ir
Gl& TevorL (OF 1yl ;1) Quwrss

2

n"-—n
ereoiley  LBIBashH @

Guiri_ig seflesr
6TEVIT 6115615 G(n) =
DU & 6T 6TGITEWHENSE 6T5E 6T ?
ey

n®-n
G(n)= =15

()=—

=n?-n=230
=(n-6)(n+5)=0

=>n=6,n=-5
UBIGHEHGLD jewils6ir eTenTemsilbemnas = 6

BwLgs FweTur@pser (2Marks)

1. wesiiseaflsar @) wHmid CQuapssmusdsr -9,20
eTewflsD @) (HLilg FLoeTLIT(h STEssTss.

epeviIBals B = -9,

epsvmIsaflsst QLpessmLusvssT = 20

2 X (epeoisaleT @) X+ apevisafler

QuBEHSHLIVST = 0

X2 —(-9)x+20=0=x*+9x+20=0

2X* —5X+2=0 eem @wug swsrLm L
&5IT peopulls) Firds.
ey
—b+b?—dac _ —(-5)=+/(-5)* - 4(2)(2)
N 2a N 2x2

54425-16 5449 5+3

X

5. amiie) sersdley t — allarmgsefllev @ LB SLSHGD
STILD d=t>-0.75t yserrgw. 11.25 o9
QFTemevewauds SLEELILDBSI THSSHISCETsTEHLD CBILd

eTeuaueTEYy?
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Firey
d=t*-0.75t gue d =11.25
= t*-0.75t = 11.25
= t*-0.75t-11.25=0
= (t-3.75)(t+3)=0
= t-375=0,t+3 =0
= t=23751t=-3t=-3
S 1=8.75 aflerrgser

6. 15X° +11X+2=0. ereirp @@Ly FwsrLTL 460
CPEVBIGETGT SHETENLOD WS Tn NI,
Firey
a=15,b=11,c=2
A=Db*-4ac
= (11)® - 4(15)(2)
=121-120=1
S A=1>0, swstum_igsr apevrissT Qi wHmD

FLOLOl6VE6V.

(28 (-24) ~4(5)(-5)

2x5

24+./576+100 24++/676
10 - 10
24+ 26
10
50 -2

X= ~—, X = —
10 10

S.X=5 1

wohmip X =-—
5

1
b GTEUITHET — -—,5

x2—-x-1=0

eTeTD @)(HLIGF FLOGTUTL 16T CLPSVBIHET H6ITeMLOEH Wids

a=1, b=-1, c=-1
A=b’—4ac = (1)* -4(1)(1) =>1+4=5
SA=5>0 FLOGSTLITL 19 63T CLPEVBIGHET GOl LoMHmILD

FLo1OleVem 6V

5 Marks

@ etewr HMIUD IYHHT SwS) g dSweuner

aflgSlwrFid g, 6T6U16D, OHS 6TERTENETE & T 6T S5.

Firey
I 6T6WT X 6T6IT .
1
s s X e
1 24

X——=— b5Xx g Lumss
X 5

X><5X—5—X:ﬁ><5x
X 5

5x2—-24x-5=0
a=5,b=-24,c=-5

2. X*4+6X—4=0 uflsir opommsr 0O,P. ererfled
LPEHEETL_UDOD CPEVBIGETTS OlBTerL @)Ly F
FLOSTUITL 60L& HT6ITSH.

0 0 wppio B
4 2 2
(it) o o E

i) 0B wpo» Pa

Solution

0 o’ wppi B

x?+6x—-4=0

a=1,b =6, c=-4.
a+B=-%=—6,aB=ﬁ:—4

APVEISETST oo (H56D

o’ +B% = (0+PB)* —20p

=(-6)" -2(-4)
=36+38
=44

CLpeLBILeTl6IT 6L (M LIsVedT

oa’B? = (aB)’ = (-4)* =16

X7 - (apoviiiselsir g G560)X + apaviisaflsr

QumsspLsvsT = 0

x* —44x+16=0

22

if) o o E

VRIS TS gn (D6 =

z+g= 20+ 2P _ 2(-6) _ -12 _3

a B af -4 -4

.. apeviisaflsT g B = 3
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epsVBIGaTledT CLI(hdhaMHLIGVET =
A=la, Ay, A,y
2 a3 EEPRCEY
X°- mefles v) X 5135611163
(epeviiseflsr g BHied) X + epeonisaflsr ay; = |1_2(1)| - |1_ 2| - |_1| =1

CumssmHLeT=0

x? —3x—-1=0 a, =[1-2(2)|=[1-4/=|-3/=3
iiiy a°B wpmn Pa &3 = |1_ 2(3)| = |1_ 6| - |_ 5| =9
CLPEVBIH TSI don (DL = a, = |2 - 2(1)| = |2 - 2| =0
a’B+Pp’a=ap(a+p)=(-4) (-6)=24 8, =[2-2(2)|=[2—-4/=|-2|=2
CLpsUBIGEITl6T GlLI (s M LIGVSHT.

8, =[2-2(3)|=[2—6|=|-4=4
(@’B)(B°w) = o'’ = ()’ = (—4)° = —64 ”
ay;; =[3-2(1)|=3-2 =[1l=1

X2 - (apeviisaflsr an @) X + apevicsafsn

QupESHLNET=0 a;, =[3-2(2)| =3-4=[-1 =1

X -24X-64=0 . a;, =[3-2(3)|=[3-6|=|-3]=3
1 3 5

JA=|0 2 4
1 1 3

ojemfser (2 Marks)
8 9 4

V3
-1\/77

1 4 3
6 g8 -11

aij = i2j2 6T6dTM jewLoLienLIds ©lgTesuTL_ 3x3

uflenFujenL_w H)ewflenwids &TeisTs.

15 4 3

sTeTD jswilufled . A=|1 -7 9| aefd A ulleér Peordred

(i) =_muiyseflsir erevremflsena &revsrs.

3 8 2

LTHN H|eFIEM LI &TENT.

(i) Seiulleir euiflens & resrs.

(iii) Ay, Ay 2 MINLSENET TARSIS.

Firay

(i) 2_miliysefleit stewrenflGens =
4x4=16

(ii) ojeiluflssr euflens = 4x 4

(iii)

a, =1

18 o miiysewens CsreawL @i Hewilds@ eTouamS
aufllensset  @més  Guen? @i Syewilufler
2 miiysafler  erasTanilEens 6  eresfley,  eTelouams
aufllenss6r @) hdhs @ uab?
Sirey
18 o_miniyser 1x1818x1,9%x2,2%x9.3x6,6x3.

6 o miiyser = 1x6,6x1,2x3,3%2

3. 3x3afmsmw 2 emLw ojewfl A = aij = |I - 2j| oW

& T6HOT 5.

Sirey
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8x+y 2) (6 2
"5+z xy) (5 8

Firay
X+y=6—>1

5+Z=5-2

x+§=6
X

x? +8 = 6x

x? —6x+8=0

xX-4)(x-2) =0

X-4=0,%x-2=0
X=4,x=2
X=4 steur 360 Lilygluil_
Xy =8

8
y=8=oy=—=2
y y 4
z=5-5=0

(3

Teoflrglull

3c+d 0 2

2a+ cj (1 5 j
= sTedflev a,b,c,d srevrss.

“x =4y =2,.z=0
jemiser Bgrear QFwsvgser (2 Marks)

a-b
0.
(Za-b
7 8 6 4 11 -3

A=1 3 9|B=l-1 2 4
-4 3 -1 7 5 0

stesflev 2A+B ewws srevsrss.

45

-1
16 12
18
-2

27 9
8 22
-2

4 9 7
,B=
3 7) (1

B — 5A. swwis srevurss.

Firey

B-5A

_(7 3 8}_5(0 4
1 4 9 8 3
7 3 8 0 20
{3 e =
7-0 3-20 8-45
1-40 4-15 935}

|
0 1

39 -11 -26

WIS HIT6UITSH.

Bire)
0
3A-9B= 3(
8

4 9}_9{7 3
37) 1 4
0 12 27) (63

=(24 9 21}(9

(-63 -15 -45
15 -27 -60

0 4 3 7 3 8
3. A= ,B= sTeufléd 3A - 9B
8 3 7 1 49

o

27 72j

36 81

5 4 -2 -7
1

4
7
2
6
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4A - 3B swwis sTevrs.
Sirey
4A - 3B =

-15 18 -27
4 1

-11

431) (10 6 8 14 9 9
2 3-8l+4/2 7 5 4 10 -3 |1
1 0-4/ (-5 5 -2) (-4 5
(A+B)+C =
(4 3 1) (2 3 4 8 3 4

2 3 -8|+1 9 2 2 3

10 -4 71 - 2 4 -1

6 6 5) (8 3 4) (149 9
=3 12 -6|+|1 2 3|=[4 10 -3|>2
61 -5)(2 4 1) (45 -6

1 wpmd 2 Omhg erefld  A+B+C) = (A+B)+C

Ffurié&siu’ L g).

stesflev A+B = B+A erevr

8 -6 -4
B=[2 11 -3
1 -1

18
2. A=|35
8 7

3
6
6
5 3 0
C=|-1-7 2| sraus.
(143}

1

(i) 3A+2B-C (ii) A——B

C=|1 -2 3| a=flev A+)B+C) = (A+B)+C
2 4 -1

FAUTT&SS.

Firey
4 31 2 3 4) (83 4
A+(B+C)=|2 3 -8 |+|1 9 2|+|1-23
1 0 -4 -71-1) (24 -1

4 d 8 3 a 2 2a N 0 1
l3b a) l-2 4) (b 4c) \-5 0
Bl
d 8 3 a 2 2a 0 1
+ = +
R o B N Gy
d+3 8+a 2 2a+1
s =
3b-2 a-4 b-5 4c
d+3=2 8+a=2a+1 3b-2=Db-5
d=2-3 8-1=2a-a 3b-b=-5+2
d=-1 7=a 2b=-3
b 3
2

a—-4=4c
a=TererG@eu { —4=4C
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ai x-3 3X-2 (1 0
0 X+y+7 X+y+2) (1 6

@ (X y-x x+3)+(y 4 3)=(4 8 16) __-.

X-3 3X-2 10

X+y+7 x+y+2j=(1 6j
x-3=1 3x-z=0 X+y+7=1
Xx=1+3=4| 3(4)-z=0| 4+y+7=1
X=4 z=12 y=1-11=-10
(X% y,z)=(4,-10,12)
iy X y-z z+3)+(y 43)=(4 816)
Firay
z+3+3=16 y-Zz+4=8 X+y=4
z=16-6=0 y-z=4 X+14 =4
. z=10 y-10 =4 x=4-14

y=14 x=-10

S (xy,2) = (-10,14,10)

LHS= AB :(

2 2J2) (2 22
=)
:[4+4 4@—4«/5}2[8 oj
2J2-2J2  4+4 0O 8
2 2d2) (2 242
" 3 NE"
(4+4 42 + 42
_(—2\/5+2\/§ 4+ 4 J
:[8 O)
0 8

. AB = BA.

R.H.S = BA =(

2.

ae(yspe-(iolels )

sreaflsv A(BC)=(AB)C. sww smesorss.

5 X 4 + 2 = 4 6vfl6l DML ]
. _3 Vi 3 = 5 6Teufl6D X LoMMILD Y &HTessTss.

2 8 b5x x2+8 2
+2 =2 . sredm
X 4 4x 10 6Xx

9|ERWTF FLOSTUTL 1960 X631 LpFFwiomm iy sreiss.

3.
1 -1

A=( -1 2),B=|2 1 ,c:[l2
1 3

srafléd (AB)C= A(BC). ewws sreiorss.

7. XY Sids

ol )

4.

Al sfeli ofeels )

eresfled (A-B)C=AC-BC swws smesorss.

Iyewiit) Qupssey (BMarks)

V2o 2 =2 2

Qumssemsvrs Qurmiss A wpmid B uflwrhn eflg)

2 -2&}(2 2.2

J eT6vTl6D 6wl

2 _GWTEWLD 6T TL_(Hd%.

5.

alaa ol

J ereley A(B+C)=AB+AC.etssrIen 56

2 -1

1 21
A= ,B=|-1 4 | aaflev
2 -11
-0 2

(AB)T = BTAT . 6TTLINS FlLITTEHS.
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17

52 9
A= ,B=|1 2 | aafe (AB)T =BTA"
12 8 _—

eTeTLIeNG FflLITT&sE.

cosO O sind 0
A= ,B= . 6TeafleD
0 cos6 0 sind

A’ +B*=1. 6T6OTIB] )61 5.

8.

aslt Zo-(f 8- )

6TenfleD (A— B)T = (AT - BT) eTSTLINGF FILITT &S,

(Cose sin 0
10.A =

i 6T6dT16V AAT =1 STEST S
-sin® coso

STL_(H%.

a b 1 0
1. | = i)
ST

A® —(a+d)A:(bc—ad) |2 6TasT BmIeys.

3 1 ,
2. A=|" | aano A’ ~5A+71, =0. aar

BImIays.
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5 QHUHAHTMEL allgailuisy
2 Marks :%[(3+24—9)—(18+6—6)]
(-3,5), (5,.6) whmitd (5.-2)

YFWaIDEOD (PEHRTHETTHES 6% TevoTL

- 2f27-9)-8)]

WPSCHETETSIGT LITLIDLIS HTEHTS. _1 s ]
girey :
A(-3,5), B(5,-2),C(5,6) = > =0
A ABCuflesr iy ~0

1 |:(X1 Yo +X, ¥, + ngl) - :| .. eT6oTG6u @55W®c§365|:1Ul._l_ L,67T61T&561T
) 2 (X2y1+X3Y2+X1Y3)
= %[(—18—10+ 25) — (25+ 30 + 6]

@1 CBiaaTL 1960 HewLou]LD.

F1p&HTe) LD LJ6ITem s 6iT R
CpiGasriiige)  ewOUOT  6TETS

- %[_ 3-61] Firoreflé&sayib.

1
l. —=.3|(=5,6)wbhmib (-8,8
:%X_M ( > j( )wpmiid (-8,8)

_ 39 . (a,b+c), (b,c+a) wpmio (c,a+b)

= 32 #..9160 @6l

A(-1,2), B(K-2) wmmpnp C(7,4)

£ o o . . aﬂ 6.1)
pESTEDID HeneTeart 9 FweauhHenm suflenaw Tesr

S|EHLO&SELILIHILD WPp&EC& TewTS B6dT peoeTLILjeiTen &HemTds ©\& revsTL_
UL STewTss.

. (1,1), (-4,6),(-3,-5)
. (-10,-4),(-8,-1),(-3,-5)

Y&Casremrggler urly 22 Fgr
VG er6sflev K 61 0F)1Lyds &mevorss.
Birey

A(-1,2), B(K,-2), C(7,4)

. P(-1.53), Q (6,-2) whmio R(-3,4)

AABCe Iy = 22 &. V@6
< SNw eirerflaer Cr oo HTHH T ACODT

1{()(13/2 TXoYz T XgYi) - } o
. 2 (X2y2+x3y2 +le3)
STL_(h%b.

Fiay %[(2+4k+14(—(2k—14—4)]= 22

CrisCamiiger  Sewioujb 61637

APQR 67 iy
1 {(xlyz X Y5+ XY;) = }
2 (Y1 %Y, +X,Ys)

(16 + 4k) — (2k —18) = 22x§

16 +4k -2k +18 =44
2k +34 =44
2k =44-34
2k =10
10

k==
2

k=5

I%_9—J
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A(0,0), B(P,8),C(6,2) sadweupenm
sauflepFwrer (pswerll  LeTeflEBemTasds
Csewr  p&sCaremrsgler wupiiy 20
F.YVGBET eresflev P et g liug

ST

:yz_y1: 2-1
X,=%X, —3-(-6)

ABetr Fmiiiey

_2-1
-3+6

. H m 1
. FTile) M=—
3

A(P,P), B(56),C(5,-2) slweapenm
sauflepFwrer (pswerll  LeTeflBemTads
Q&rerL.  pECasTewTSSlesr Ly 32
F.IVGH6T eTesfle P a1 wIlliemuds

ST

(—1 l) LHmILD
3’7 jujir]
B)mentE@ ChidGasriiger Frilenalds

&5 T6IT 5.

Qsrhesiul L yeirerflageir G
CpiaGasrL1ged ewwwp eresfled ‘a’edr
LSIIEHLIG & T6evTs.

(i) (23).(4.8) wpyid (6,-3)
giey
A(2,3),BN(4,a) C(6,-3) 2Cr
Cri&EGasriigev emwowjb eresfllsd AABC
urtiy =0
11 00Y2 +%Y3+X;Y,) - }:O
2 (%Y1 + XY, +X%Y5)

%[(2a—12 +18)— (12+6a-6)]=0

(2a+6)—(6+6a)=0x%

2a+6-6-6a=0
-4a=0

_0

-4

a=0

c.aer waliy =0

a

(14,10) womiid (14,-6) ewwr @)ewenté @G Ld

GpiisGar 1 63T FTIEHEI &TEIS.

(5./5) wpid

G)mamre@y ChisGsTi g6 Frileney

< Fisiretlenws

&5 T6VIT 5.

(sinG, -cos®) wpmid  (—Sin6,cosd) epws
B)memrE@d CuisGsriiger Frilenealds

&HT680T5.

gmize)] 5 wpmiw Y Geu’ Bsgiemr® -9
ETEANTE o)k C\as mevoTL
Gpi&Gasriiger

FLOGSTUTL L & ST6wTss.

Birey

Fmidey M = 5, y Qeul’_pggiswr®m ¢ = -9
CpohCHmL_1g 68T FLo6TLIT(D)

y=mx+c

y=5x-9

0=5x-y-9

Ggpemeuwt TevT FLo6dTLIT (D)

5x—-y—-9=0

(-6,1) womud (-3,2) eww G)ewewrd @ Lo
G &CHTL_1q 65T FTIUIEHEUT FT6WT5.

Sirey

A(-6,1), B (-3,2)

Fmii16)5 G TevwTLD 45° womip Y
Qo' Régir® 11 eww 2 ewLw
GBir&GarL_1g 63T FLOGTLITL DL & FHTevTS5.
girey

Friieys8smentid O = 45°

Friie) M= tand

Iﬁ%
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m = tan45’
Fmiley M=1
y QeulpHggiswrh c=11
Cpi&ECsmi 1y 6T FLosTUT(h
y=mxX+cC
y=1x+11
0=x+11-y
GpemeuuiTer FLo6dTLIT(h)

X—-y+11=0

y-y.= m(x_xl)
-5
y—(—®=*7%X—$
7(y+4)=-5(x-3)
7y +28 =-5x+15
5x+7y+28-15=0
5X+7y+13=0

gmiieys Gasrewrd 307 wpmb Y
Qaul’_ Bsgiswsr® -3 YySlweunHewnds
©\& mevoTL GpirdGasri1q 651

FLOATLITL_6WL_& &IT6eT5.

8x-7y+6=0 eraorm Gasriigsr Fmiiey
LHMILD Y QeuLl’(Hd g6t (H)
QY SWeUNED M & T6vT%.

Birey

8x—-7y+6=0

8x+6="7y

7 960 uGH5H%

8x 6 7

707

8 6

7
—X+==
7 7 Y

Y =MX + C uyr_edr sprail

Fmiie M =7

Y Qeul’ pggiem® C = g

(5,-3) wpmio (7,-4) erestm @) Lsireaflseir
auflF ClFsvgILD @irdGamL_1q 657
FLOGTLT (D) &TE50Ts.
Firey :
(5’_3)!(7’_5)
[ eirerfleuLflF GlFsL&YILD
CpireGsHmL_1g 6T FLo6sTLIT(h)
Y—Yi — X—X
Yo=Y Xy=X%X

y—(=3) _x-5
—4-(3) 7-5
y*3_x=5

-1 2

2(y+3)=-1(x-5)
2y+6=-x+5
2y+x+6-5=0
X+2y+1=0

(3,-4) etetrm yemafluflesr euyfl GlFsveb
-5

— FTIUTS

7

CBir&ECHTL 16T FLOSTLTL 6913 HT6UTS.

2 ML _WIGLOTEsT

Sirey
(Xll yl) = (31_4)
-5

Fmie M =7

CrisEGsmi 1ger FoeTUT(h

(2,%) LHmILd (—%,2) eTeTM Lj6irafl&emner

3)mewrds &0 GpirdGasmri_iq 651

FLOGTLITL 69L& & T 60T,

(2,3) wHmud (-7,-1) eretrm eireflsemer
B)smewTd G LD @pird G _1q 657

FLOGTLITL 69L& & T 60T

X Qe @sgie(® 4, y Qeul’ HSg160r® -
6 ©l& mevoTL GpiraGasri_iq 651

FLOGTLITL 69L& & T 60T,
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X Qo' Qggisor® a =4
Y Qo @gsisinr® b = -6

CpisGsHmL 1967 FLossTUT(H

-3

sTadT@eu CBid:CHTL 1967 FTIiI6) e

G LD.

Uletteupo CpidGsrhsefler Frileneud
& T %
.  5y-3=0
3

X——=0
1I. 17

(— 5, %) eow Qaul’ (H\SGIHT(HSHETTS
2 emLw GpirdGasri1q 651

FLOATLITL_6WL_& &IT6eT5.

3x-2y-6=0 ersttm CpisGasriigeir X
CeuL_(HS 16 (D), yCleuL (hd a1 605t (H\s emar
& ST,

Sirey

3x—-2y-6=0

3X—-2y=6

6 960 UGBS

" X Qeul_(hs gt a=2
Y Qeul Qg =-3

2x+3y-9 = 0, 4x+6y+18=0 < pFw
CriCxsTHs6r @)emewt 6TevTds HTL_(Hd5.
ey
2x+3y-9=0 er65rm G 19657 Friliey

2

M, = -XebrG&1p / Yeir Qo up = -3

4x+6y+18=0 stetrm CHmi_1965T FTiitey
4 2

m, =—=——
6 3

Qg M, =m,
FTUIe|SH6T FLoID 6TaTG6u F)suall(m

CBieECHTHSEHLD (3)6mewTulT LD,

4x+3y+12=0 eretrm CoBi&EGsriig6ir
FLoSTUTL 1960 X Gloul’ H&gI60T® LoHmILD

Y Qeul’ 5551651 (HFHeweTd: &TeusTss.

6x+8y+7=0 ereorm  GBI&ECsHTL 19 68T
FTIENEIS & TS,

Sirey

Fmiley M = -X er6sw /Y o1 Qsep =

X—2y+3=0,6X+3y+8=0sg&w
CrirGsm(hser RIS 6 ETHTMI
CFBIGHSHSTATEN6Y 6TeWd: STL_(H5.
girey
X—2Y+3=0s6retrp Cami_igeir Friliey
M, =-Xetr@& 1y / Yeir Gl 1p= -1 = 1

-2 2
6x+3y+8=0 sretrm CHTL 19657 FTiiley

m, =-XerGls 1y / Yeor Qa1 = —g =2

@mi@g M, xm, :%x—2=—1

Fm1eyserflesr OLIhdbEHmLIeVesT -1
sTearGeu @)suailm CriGasmrHser

POTMIHOHTITN CFBIGHSSHT S LD.

12y=-(P+3)x+12, 7x-7y =16 <y&luw

I—SZ—
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CrirGsr(Hssir R6TMI&HC\ETHTM)

QFmgs% ereflv P ulleit wgllienuds

SHTEUsT S,

Sirey

12y = -(P+3)x+12

(P+3)x+12y-12=0

Fmitey M, = -XerGsw / yer Qsup =
(P+3)

12

7x-7y-16=0 e16dr) G119 65T Friliey

— — 7 —

==

Bm  CriGasr®Hssr  eTmIS6lHTETMI

m, 1-

CFBIGSSI
6Tear@6u
m,xm, =-1
-(P+3)X1:

12
P+3=12
P=12-3
P=9

-1

@bl )16 LI

(8,6),(5,11),. (-5,12) wmmuid (-4,3) <palw
yeraflsemear  (penersenirad — ©laresr
BTDH&STSSGT LITLIenLId STeusTss.

ey

A(8,6) B(5,11),C(-5,12),D(-4,3) eww

pewerLiLsireflEHemmads ©l&revoTL

BTMH&TSHH6T LigLiLy.
:1|:(X1y2+X2y3+X3y4+X4y1)_ :|
2 (X2yl+X3y2+X4y3+le4)

:%[(88+60—15—24)—(30—55—48+2

_ %[(148—39) —(64-102)]

~ 109+ 49]

_1 158
2

=79 5. 90 @ 6T
CETHEBSLILIL L LIL_LDT63TS] 2
QUMTESS0 LFw eurseT BlmissLd
qHUBSS MWEBILLL.  UGDlenwd
ST QS nGI.
Qo3

SIS
& 20 F3IU
9G5S

Rs. 1,300

CFevaITELD

6T6vT
wsOilLOu®Eng  eTesflev,  eurseT

IHUBSSIMSDSHS
ClrdHs GFavemeus

BIDISSID
Gapemauwiresr
HTEWTdH I L_6LD.
Sirey
A(2,2),B(5,5),C)4,9), D(1,7l) eresrizy
BTHST el TS Blnibsssler
Leirerflaseir.

QUTSST BG5S S)6T LITiL|

125 41 2‘

225 9 7 2

=%[(10+45+28+2)/(10+20+9+14)]

1
=—(85-53
L (@559

:£x32
2

=16 F.9|19-H6T

DB FHT Iy YW&ES YGID ClFee| =
e5. 1300

I—53—
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UTHST  BIMISSD  HDIHES Y GLD
Owrss GFvey = 16x1300 = 20800

CEBTRSHIUL L LsTaflsenends ©l&merL_
BTHSTSIST LITLIenLId &mers.
. (-9,-2),(-8,-4),(2,2)ommiid (1,/3)
. (-9,0),(-8,6),(-1,-2)wpmio (-6,-3)

(-4,-2),(-3,k),(3,-2) HmILb (2,3)
B weuhHenn WPEOTHATTHS 6ld TevorL_
BTH&rSSler urliy 28 F.90@Gs6m
steufleL K eor 01L& FHTevsrs.

Firey :

A(-4.-2),B(-3,K),C(3,-2),D(2,3)
BTH&TSHHT LTl = 28 .96V @&d6IT
1-4 -3 3 2 -4

22 ko2 3 7%

%k—m«+6+9—4y-@+3k—4—1a}:2

(4k%5-®-®{w+3b:28x%
(~4k +11) — (=10 +3K) = 56
— 4K +11+10—3K =56
~7k+21=56-21
-7k =35
Koo
-7
k=-5

A(2.5, 3.5), B(10,-4), C(2.5, -2.5) wopmuid
D(-5,5) QFlwer  G)enenTsrddler
(pemeTLiLsiTafl &6 eTewrds ST (Hs5.
Sirey

A(2.5,3.5), B(10,-4)

. . _ Y2~ Y,
AB et Friiey = H
_—4-35
- 10-25
)
75
=-1
C (2.5,-2.5),D(-5,5)
5-(-2.9)
-5-25
_5+25
- -75
15
75
=-1
.. AB et #miiey = CD et #miiiey
16T B6u AB wjLb CD

CD et gmiuey =

B)ewenT @ T(HFH6IT
B(10,-4), C(2.5,-2.5)
-25-(-4)

BC e griiey = 2510

_ —25+4
- -75
15
T -75
15 10 15 1

T _75°10 -75 5
A(2.5,3.5), D(-5,5)
5-35
5-25
15

- _75
15 10 _ 15 1

AD et Fmiliey =

7510 -75 5
.. BC eir #miiey = AD et #miiiey
sTeaT G BC wjLb AD wjLd
Q) ewenTGs T(RHET 9 FLD.
siaor@eu  ABCD i Q)ewewmiarsens

9|EWLD (G LD.
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. @ I®VCUS GTHEVSSl6T FEF)
100%

IeweGudlemwili

[OUETCTLIE TS|

LwSTUGS S5
OsrL_miGHCprd. X wenfl GByid
uwetu@sgu ipg 5 QGsEeLL
erEHevdSleit  FhL Y
(5FwE5Hv) ergd Yy =-0.25x+1
G LD.

ELVEAN)

-

|

[T FLOGTLITL_1g D& T6uT
UEDTLIL LD UEWT 5.

sTssewar wewil CHrdhe&L
Upg ersagsdler &g

40% <Yxd GODHI(HEHSELD

6T60Td & TGOS,

Ll6sT&HEVLD WPwF
OIS

6T(h\ 513563 T6iT (EIH LD &6V

S Gl

FEhFlemw

D|6TeY 6TeM6UETEY?

%,
q-
2

60T&605 S 0T &

y =-0.25x+1
X=0 steaflsv y =—-0.25(0) +1
y=0+1
y=1
X=1 eresflev y =—0.25(1) +1
=-0.25+1
y=0.75
X=2 srevflev y=-0.25(2)+1
=-0.50+1
y =0.50
X=3 eraflev y =-0.25(3) +1
=-0.75+1
y =0.25
X=4 sraflev y =—-0.25(4) +1
=-1.00+1
y=0
#&3  40%
Crrsemad senraslL, y=0.40
y =—-0.25x+1
0.40 =-0.25x +1
0.40+0.25x =1
0.25x =1-0.40
0.25x = 0.60
0.60 100
X=—X——
0.25 100

_60
25

LA 63T H 6V F 6T6dT16V

= 2.4 wewfl
LOGSTHEVLD STl (PF FohLleww
@ubgiaill Ly =0
0=-0.25x+1
0.25x =1
1
X [ —
0.25
1100
0.25 100
100
X ="
25
X=4

55

—————————————————————————————————————————————————————

Kindly send me your study materials to our email id - padasalai.net@gmail.com



https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net

www.CBSEtips.in

BBI&ET @@ UTLewevll Lglallndsid
QFyCurg X allarTysendsgl Ung
uglailpEsd CFiiw Ceuesrigw LBEupsirer
urLedleb F56fs5L0 Y g ergI (5FL055]6V)
y=-0.1x+1

(i FLOGSTLITLLq 63T QUEDTLIL_LD
UHT S

urLedleir Quwrgss MB gjeremeuds
HTEBITS.

75% urLemsvlt  uglaindssid
CFIw  sTeueueTey  6ledTTIg d6iT
D GL0-

sThgevear allarrigsst 515510

LITL_6V (LpPEDLOWIT LI

uglallpdsid CFwwiiL@m?

A(-4,2) wpmib B(6,-4) stesrp Lysireflssner

BwentaEGl ewwwd G 5SHIHECHTLIg6T
FLOGTLITL 6L & &IT63T5.

ey

A(-4,2), B(6,-4)

AB 61 swowiliysirerf]

X +X,
Yyi+Y,

2 2

m=

AB 61 Frriiiey m:u
X, =Xy
_ —4-2
- 6-(-4)
-6 -6 -3

10 10 5

AB 5@

e rwILILI(HILD

WLOWSGHSSHIHCHTL 1y 6T FTiley M, = —

3

sowwiyeredl  (1,-1), smibey m =—

LIS S G1%CHTL 19657 FLo6dT LI (D)
y-y, =m(X-X,)
5)

-(-)==(x-1
y-(-1) 3( )
3(y+1) =5(x-1)
3y+3=5x-5
0=5x-3y-5=3
0=5x-3y-8
.. Gaemauwimest Foesrm(h

5x—3y—-8=0

7X+3y =10,5X— 4y =1 gy dlw
GpiGsm(hser Flh B @ 1LD Ljeirerf]
auflurseyd  13X+5y+12=0 eretrp
CpidsGasriiyhE @) swemTwira6yLd
9|WLOWILD CpiGasmi_iq 657
FLOSTLITL_6ML_d5 & T 60T,
girey

7x+3y=10—>1

5x—4y=1—->2
1x4 = 28x+12y =40

2x3=15x-12y =3

(+) 43x =43
LE
43
x=1
X 61 wlliemu 1 60 Llrgluil
7(1)+3y =10
7+3y=10
3y=10-7
3y=3
y=1

CL BBl et (1,1)

Iﬁ—

Kindly send me your study materials to our email id - padasalai.net@gmail.com



https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net

www.CBSEtips.in

13x+5y+12=0 ere5rm GCrisGasT13nE

B)ewewtwimest CpiTdhGHTL_1q65T FLoedTLIT(h)
13x+5y+k=0

@) g1 (1,1) etesrm yerafloufld QFsvFSmg).
13(1)+5(1)+k=0

13+5+k=0

18+k

K=-18

. Gaewaunwmer Fwerur(® 13x+5y-18=0

5x-6y=2, 3x+2y=10

Fh B @ 1LD

4x-Ty+13=0

9 &w
Gpir&Gar(Has6ir Ljeirerf]
ouflwiraeyid 6T63TD
CrirGasriiymh@F CFB1&SHHTH6 LD
9|6MLOUJLD GriGasmiig6or
FLOSTUTL DL & SHT6WI%.
Sirey

SX—-6y=2-1

3X+2y=10—2
1= 5x—6y=2

2x3= 9x+6y =230

(+) 14x =32
32
X ==
14
16
X==
7
X 61 wlliswu 1 60 Llygluil

16
52 |6y =2
[7) Y

80
——by =2
7 y
80
ey =2 _°>—
Yy 2

. Fhgle G LeTer] ( ,

4X-Ty+13=0eresrm GCrniGasriiyma
CFBI &GS TET FLoGTLIT (R

7 +4 + =0

[OE (g,gj eTedTm  Leirerf]  eulflF
QEDEANE]

7(Ej+4 (§j+k:o
7 21
16+g+k =0
21
336 +132
—+
21
468

—+k=0
21

k =

k=0

156
7

.. Caemauwimest Foestm(h

7x+4y—¥:0

7 9460 ClLHEHS
7><7X+7x4y—7><§:0

49x +28y -156 =0
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6.(P &G memTailwiev

G &HETMHRIGH6ET (FORMULA)

1.2 Wyp QSHTEMELAYLD :
A

B
A ABC,

C

AC
tanf = —
BC

tan9:g > h=dtan#f

h

d= — = hcotf

tan
2utd h = d tanf

clgmsmsvey d = h cotd

www.CBSEtips.in

(43

B

D

AACD,tan g = 22

CcD

B H ¥
AABD ,tana = 22
BD

h
tana = —
x+y

h=((x+y)tana ...(1)
From(1)and (2) (x+y)tana = ytanp
xtana + ytana = ytanf§
xtana = ytanf — ytana

xtana =y [tanf —tana |
__ y[tanp-tana]

h
tan =3

()

X
tana

xtana

2.9 CuTUsL %67 @& &S CSHMTeoTs &6 61 H161T ST
Blnswilsh Qs @&LoGun g/

AC

CD
h
tan[>’ = ;

,AADC ,tan B =

AABC ,tan o = 28
BC

tana = 2
X
_h
" tana
x = hcota .....(1)
(1)+(2)=> x+y =hcota + hcotp
Xx+y=h[cota+cotf ]
d=h[cota+cotB], (~d=x+Y)
[ ®@OOy: a-8Mwg , A -Quflwg ]

_ h
y= tan
y = hcotf.....(2)

y =

" tan p—tana

[ @OUY: a-&Owg , B - Quilwg ]

5.0/, QeaucuCaumment QUIMRL_Seafledl 2 WD &IT6ureL

E

B c

AADE, tan o = = ABCE ,tanf =<
AD BC
H-h

tana = —

tan 8 =%

From (1) and (2)

tana tan 8

Htanf —htanff = Htana

3.0 QumEL&eT  Am&ESHSCHTangiHed @G
fenguileL @& GLLCUTH)

A ABD ,tan0(=E

AACD ,tanp =22
BD

cD
h

tana = —

d+x
h

tanf =
h
tana x=tanﬁ
d+x=hcota (1) x =hcotf .....(2)
M-@)=>d+x—x=hcota—hcotf
d=h[cota—cotf]
[ @Diy: a-OPwgl , f -Qufiug ]

d+x=

H [tan B —tana] = htan B
_ htanpg
- tan f—tana
h= H[tanB-tana ]
tan g

[ @D0y: a-8Pwg , B -Quilug ]

6. 671 LOMMYLD & &8 CHITONSSI6V 2 6T6m

CIIT(BL S61fI60T 2 WITIBIS 6T :

c-

AADC tan f = 2

AADE ,tana = D
AD

H-h

h
tana = — tanB=;

4. @\ CUMEL S61flsoT GG M6MEVESET :

5
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HtanfB = htana + htanf8
Htanf = h[tana +tanf |
H=h [tanﬁ + :::ﬁ]
H=h[tanacotf + 1]
H=h[1+tanacotf]
(@O : « - gHm&CaTeID , [ — QMESECHTUILD |
LeaR58158M (R 6.21 /| USS eTevor : 263
A SLUULSET SLMSMI allensssHedr
UssMmIGEMNYID L6060 LWemTd QFWISeTmer. @\
sUULGalL QB SRS  allensHsS e
2 FHUNT 6 HMECEHTEIHISET(WHmMGW 30° MHMILD
45° g4 BL. Homsmy allenss g Sler 2wy 200
el @@ SLUULSHEHSG QLG 2 6Ter
Qgmemeveneud srevns (V3 = 1.732)

tan a

SRS aendSHetT 2 Wb AB = h =200 Tig

C, D - &LILU6L &6

2BCA=a=30° , LADB = B =45°
A SLLLEERHG QLG 2 6Ten QGTeneveY
CD = d = h[cota + cot 8]

= 200[cot 30° + cot 45°]

= 200[V3 + 1]
= 200[1.732 + 1]

=200 x 2.732

d=546.418
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= 30[1.732 — 1]
=30 x0.732
Camypsdhedt 2 wyd x = 21.96 18

2.0(0R5558MTL B —6.22 / 158 eTeudr :263
googuileinlg @ yateluledmbg 30 5 2wy
2 6iten SLLLGH6T GCoglsiten e  CamyysHHeo
Sy wLOHMD 2&Fullet MM C&TEUIIHIG 6l
wemmGw 45° wOHMID 60°  eTefld  CHTYTSHH 6o
2 WIHMES &Mevnd. (V3 =1.732)

SLLLGHT 2 wigid AB = y=3018 , AC = x 6T6015.
£4BPA =a =45° , £BPC = B = 60°

Camyrédlerr 2 wigb AC = x = W
30[tan 60°—tan 45°]
tan 45°

30[v3-1]

1

3. T(R&EHSHHTL(R 6.23 / UGS eTevwn : 264

@@ Sreveumuilstt &emyuileb s QGHTMLESHTL S
Gamypw QFRIGSHSHTS 2 6Tengl. HTeveumuiler LM
smpuiled 2. 6emr @ Uetaflulledi(hhg &TEmiD
Gurg GCamyy 2 &fullett gHM&ECHMeDID 58° 948
2 eiteng). siuyemafluiledipihg allevdl Cp Cris
Camligeb 20 1S Qgmemevailsv QasTme L6 Camyly
2 Fflulletr FHM&HCHMevTTLD 30° eT6vfl6L , CHTL Y& H 6T
2 WPHMBUILD, HTELUTUNGT 1&HVEHMSUILD &IT6TIS.
(tan58° =1.6003)

ey

0
D =x=208, BC=y eeis.
2ADC = a =30° ,£ACB = [ =58°
. . o xtana
smeoeumuilest gi&evd BC = y = Tan Ftanz
20tan 30°

tan 58°—tan 30°
20%—=
3

NE]

1
1.6003—ﬁ

20
_
1.6003+/3-1
V3

20 V3

—_— X —_—
1.6003x1.732—1

20

T 277171
20

= 1.7717
Smeveuruiledt Si&6vid y = 11.28 L

Gamyrsdlen o g AB =h =y tanf
= 11.28 x tan 58°

=11.28 x 1.6003
Camypsdent 2wy h = 18.05 15

5

4. DA 6.2 -3"% sausE /LES et : 267
@nalj Sau@mpmLw afliynh@ Qeuaflullsy Blermi
Qaneu® <@ Rereredlsr 2.5 WLOHMILD Slig
SpHweumenm WemmGW 60° wHMID 45 ° gydHlw
JHM&CaHTemIhseN6L SmeuHmmy. euflest 2 Wiy
180 Q&.18. Cogyb afligedmhg 58 QFTmevaied
3i6uj 2 erenmy  ereafled, WeBT6UTEOIHT 2 WITHMSS
snews. (V3 =1.732)
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50

C 5I 1
18+ cm

F

5m
e6tTenTeOlstT 2 WIFLD AD=x , DB =y 616018
weNgefleor 2 wigib CF=180 Q&..8, EF=BC=5 18

£/BCD = a =45° , LACB = B = 60°
tan 45° =25
BC

1=2%
5

y=5
0601601601607 2 WIPLD X = po—
_ 5[tan60°-tan45°]
- tan 45°
_ 5[V3-1]
1
5[1.732 — 1]
=5x%0.732
M 6ITEIESN T 2 WD x = 3.66 L

y [tan f—tan a]

www.CBSEtips.in

_ 13425.6
~ 8929

S_g&lett 2 wgld y = 1.5035 L8

5.0 A 6.2 - 4% gansE / USS e : 267

1.6 1§ 2 wysiten femev speTm L GH6r GLosd
SimwhgleTengl. Hemguilepieiter s  YsiTaflulled

Qmhg 60° gHM&ECaHTaHHL Heneouiler 2 &8
SimwhHgleTergl. Cueid CH yYerefluledmhe

SLgHeir 2 &8lwneng  40° gHMECHTETNSH 60
2 ¢iteng) eTafleb L SH6HT 2 WTSHMBE &T6T0TS.
(tan40° = 0.8391,V/3 = 1.732)

ey

407 60°
A B

femeouNest 2 wigd €D =x = 1.6 18

HLg&lesr 2 wigb BC =y

2BAC = a =40° , £BAD = B =60°
. . . xtana

Iﬁl_’q)’é;]m 2.y y = tan f—tana

1.6Xtan 40°

tan 60°—tan 40°
_ 1.6x0.8391

~ V3-08391
1.34256

T 1.732-0.8391
_ 134256 _ 10000

0.8929 10000

6.uuNMHA 6.2 — 6™ savreE / LSS eTevdr : 267

1518 2 wyQpetenr @ CHTYILD 2 6Tang)l. @@ Lol6T
SUSHT SlHMID 2 FAuiled b CoHTLySHHeor
2 §fleow (WemMGW 60° WMHMILD 30° eTedIM FHME
(62: 31112001 F: (3] umg&HSmev  LHl6oT LD LIS &) 60T
2 WPSHMGHS &I

gijey

A B
Camyygg et 2 wigld BC = H=15m
LOl6sT HLDLGS6T 2 wifd AD = h
£4CDE = a =30° , £BAC = f =60°
H [tan f—tan ]
tan 8
_ 15%[tan60°-tan30°]
- tan 60°
15 x[x/?—%]
=—5"
_ 15x[3-1]
- 3
=5x2
LBletT SOUSH 6T 2 WD h =10 L5

LOl6dT SLDLIGS60T 2 WIgD h =

7. uLNDHH 6.2 — 8" HaUHE / USHS eT6v01: 267

@@ uwenfl wemevsnw CrT&ESH Qb EhFTsneouiled
LW eN&HMTY. ReuQeumr@h ML &6060160)(IHHGILD
enev2 §Suflett gHMECHTTGHME email(yHmmi.
Qreu@ QASTLIEFAWTET ML H6LEOlEL @ (WHIHG)I
v 2 §86G gHUEL — JHMESCHT TS 6T
wWmmGW  4° OHMILD 8° eTerre D , QUG ML
S5HSHEHSHEG QeMLLULL Q&Temeve] 1 6MLD6L 6T6ur
BBHSTEL Weneoull6 2 WIGHMES &IT6Uls.
(tan4° = 0.0699 ,tan 8° = 0.1405)
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A, D — émLD6LEBMSET , LsmevUN6dT o WIfL BC = h 616018
A MWOLSHSEHSHSG RenL UL L
Qgmemevey AD =x=1, DB=y 6T601&
2CAB=a=4° , 2.CDB= 3 =8°
y = X tana

tan f—tana
1 Xtan 4°

" tans°-tan4°
0.0699

T 0.1405-0.0699
_0.0699 _ 10000

" 0.0706 ~ 10000
699

~ 706
y =0.99
Lemeouest 2 uigb h =y X tanf = 0.99 X tan 8°
=0.99 x 0.1405
= 0.139095
wemevuilett 2 WP h = 0.14 6MLOED

8. TR 58155ML (R 6.28 / LS eTevur: 268

50 If 2 wgupsiten @ GCamUpHHleT 2 FSHulleL
QGHH G LISHE 2.0 WOHDID iy pHHW
auhMiet @m&ssS Comanmssr (WmGw 30°

mMIb 45° er6afleD, LISHHT 2 WIHMSHS &IT60015.
(V3 =1.732)

Gamyyg e o wigb AB=H =505,

&6t 2 wgd = CD = h 616015
2LACM =a =30°, LADB = f3 =45°
H [tan f—tan a]

tan
__50[tan45°-tan30°]
- tan 45°
1

50[1—5

LOyGSler 2 wigd h =

50 x1.732

=50 — >
=50 —28.85
WrSHHer 2 WD  h =21.1518

www.CBSEtips.in

eTeofleL, @uevor(h  SLLLSEHSHGD @emLGuiusiten
QBHITEMEVEMEUS SHIT6VIS.(tan 28° = 0.5317)

= e

SOMIGMT eNeT&ESSSHT 2 Wb €D =h =60 L5,
¢2DAC = a =28° ,4DBC =  =45°
Qe (h  SLUULSEHSGD  QenLGuiw|eren
Qamemevey AB=d =h|[cota — cotf ]
A 11
- [tana tan 8 ]
tan f—tana |
[ tan atanf

[ tan 45°—tan 28° ]
tan 28°tan 45°

=60 [ 1-0.5317 ]

0.5317 X 1
04683

9. TR&GHSHHTLB -6.29 / 158 eTevor: 269

60 If 2 wyQpeTem  BHELMHIGHEM] allen & & & &) 6o
2 58Ul QMHG WU SL6L LOLL GdlevleTern
Q@@ sUUsLGmeT (PmMGW 28° (WemmGul 45°
&85 ComausHHled UTTHHMMT. @@ SHLLD
LHAOTEM, SUUNISHEG Ulsamed Gy Hmauilev
&eVMIGMY aIleNSSSFIL 6T CHISHCHTLIg60 2 6iTeng)

0.5317 J
d =52.85108

10. T(R55ISHSMTL (R —6.30 / LSS eT6vor: 270

@malj CaTUTHHe0mHg allevdl sl QaeaTm)
QaMang (&G ULE @aemm  GaryysHlen
2 FAUNeOIBHG UTHSHAMTY. CaHETUTSHSH6T liguiled
AmHhgl 200 L5 AFTemevallsL ULEG QEH&HGL CuTg)
LLm&3I6U] 60° QM&HEESCHTTISH 6L SHTevormITy.
10 eflaurmg. &6 &0H%H QM&ESHECHTEIID 45° 94,8
LrMIFMG erefled ULG QFLWID CousGHHemens
(@118 / wefluflev) CHTIMLILTS 865016 ([ &.CLosILD
uL® mMeneowmer geveilfled QseLHME eT6oTS
&@HgIs . (V3 =1.732)

X

D G B
AB-Gamyyd, C,D-uUL@, BC=y=200L8
¢ADB = a=45°, ACB = B = 60°

y[tan f—tan a]
tana

tan 60°—tan 45°
=200 [ tan 45° ]

=200 1]

=200[V3— 1]
=200[1.732-1]
= 200 x0.732
x=146.4 8
146.4 5 Qamemevemer 10 eMlenmg &6eflled LL G SLSHMSI

Ch=x=
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UL &l6iT Coudld = S8Tovey
SITELLD

= 2% = 14.64 1/e
= 14.64 x =22
uL&leir Ceusd = 52.704 &.15 / woevofl

11. v & 6.3 — 38 s &G / LSS eTeuor: 270
60 LB 2 wpysiten CaTUrsHen 2 &HUNOHHE)
QEhmIEGHHTS 2 6Ten (I el @ SOUSH6T 2 &8
LHMID  Siguiledt @M&sECHTEImIGET (LPmMHGCW
38° wmmib  60° ererfley, eNlaT&HGSH  HLouGHewT
2 WM Smesors.(tan 38° = 0.7813,V3 = 1.732)

B c
Camyps et o WpLd CE = H =60 L8
2LEAD = a =38° ,£LEBC = =60
allend@ SLUSSHET 2 WD AB= h = %—;m]
__ 60[tan60°—tan 38°]
- tan 60°
60 [v3-0.7813 ]
B V3
_ 60[1.732-0.7813] v V3
V3 V3
60 X0.9507 X3
3
=20 x 0.9507 x 1.732
allend@ sUGHET 2 WD h = 32.93 L8

www.CBSEtips.in

aNmersSlest o wigb AB= h=18001LF ,
D,E - Q@ ULGSeMe Hlenevsei
ZBDA =a =30°, LBEA= B =60°
Aeni(h LLGSEh&HGLD QenL LUl L Q5Tenevey
DE=d = h[cota —cotf ]
= 1800 [cot 30° — cot 60°]
= 1800 [v/3 — -
= 1800 [%] =
= 1800 X X V3
=600 x 2 x1.732
d=2078.418
13. LuHA 6.3 - 5% HeaHE / LSS eTevor: 271

12. LUNMHH 6.3 — 4% UG / LSS eTevar: 271

1800 1§ 2 wWpsHeL UMSHESW @ aillrargsHed
Qmhg «Cr Hamauilsd alwrasmg GCHTsHHE
Qesoguid Q@ UL (& &6
alwrasHed QWb @@ ULG&mer (WammGw
60° WLMHMID 30° @M&HSE Camanmseflsy 2 MHm
Cons&lenmed, Qe U (@S EhS@GSW0 QenLLiul L
QgTenevemeusd &mens . (v3 = 1.732)

umri&sUuG Smg).

@M SomsGMT ellasssHdr 2 FAUNOIHHSI
qTQApHy ussmsafeL 2 etem  @evoT(H SHLILIELS 6T
30° WMHMID 60° @AMEHHECHTIGHHL ULTT&HSL
UG HGTmET. HOMIGMD allensag ST 2wy hLb.
Q@ SULELSGET WHMID HOMSGMmY  allerss s g
LG gdHwemel @GCH ChGCamLIg.60
SimwHeTmerr  ereolled , @evoT(G  HLLELSHEHSHE
QenLLILL L Q&Tem6ev6y %Lﬁ eTeur [HlemLNG 5.

gijey

30° 60°
C A
C, D - slueL&eM6tT Hlemevde .
SOMIGMT aNen&s5Sl6m 2 WD AB= h L
£BCA=a=30° , «BDA=pf =60°
Aren®h SLULLSEREG QenLLILL L QFHTsn606)]
d=h[cota+cotf]
= h[cot30°+ cot60° ]
=h[V3+ %]

=h|

341
e
4= g

s
14. LUNMHA 6.3 - 698 G H(E / LSS eTevor 271

90 29I 2 wyQpeTen SLLLGH6T Gl pefl
oar(R(HOYLD SHEUUTEHOITIQNE &euj Q&mevor  LOl6oT
grédlwnerg & Ch&H Al SLLL&Sler
2 FEUTL N6ITHIHH QEHGCUTH UHCHTL L §HeL
2 6iTen @ HpHMIHT QMESHSHCHTEIID 60 ° I GLD.
Qreu® HIOILLD 5N5HH AGHHT @MEHEECHTEILD
30° 945 GMEME. LlehT  GTHHUNGHT HIEOLEY
amueohg BeHm 30V3 sig Agmmeveadsd
2 eieng) ererflev Ol GT&HEH HCPaUBL CousHmss
SIS .

Kindly send me your study materials tﬁ our email id - padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net

30°

4 :sulv'Efc B
SLLL ST 2 wijd AB=90 9llg, AD =d 616315
C-ymhGHM LI . BC=h=30V3 Sl ,
2DCB = a =30° , £ACB = =60°
d=h[cota— cotf]
= 30v3 [ cot30° — cot 60°]
= -1
=30V3[V3-% ]
3-1
=303 |5
=30 x2
d =60 Sllq
\Dl6tT GréHufer Ceugld = 200N
&ITeLLD
60
2

309ig / HLOILLD

= 30 x =
60

Lleor Gr&HEullett Ceusld = 0.5 3ilg / aflewrmig

15. (R 55I155ML(R 6.31 / L&ES eTevor: 271
12 1§ 2wpqpeter  sLligL g6 2 FHUNmHGI
lerenys GCamyy 2 &8uiler Hm&Cameund 60°

LHMID AG6T guilsst @M&ESHECHTeOID  30°
eT6ofl6L,LOl60TEMT S CHTUTSHSH 60 2 WISHMSHS &HIT6H0T5

e
SLLLGH6T 2 wigld AO = h=12 18
gmm&GaETeD £POM = a = 60°

Am&&&CaHMeamIDd 2LP'OM = = 30°
Gamyydet 2 wipb PPl H=h[1+tanacotf ]
=121+ tan60°cot30°]
=12[1+ V3x+3]
=12[1+3]
Camygs et 2 wigib H = 48 1S
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UTF&STeL, CHMUTSH6H 2 WISHMEHS &HIT6UI5
(vV3=1.732)
ey

HLOUSS 6T 2 wigb CD = x =518,
Gamyyggler 2wy BC = y 616016
2CAB=a=45° , £DAB =8 = 60°

CaTTSS6iT 2 gD y = —— e
5 y tan f—tana
5 X tan 45°

tan 60°—tan 45°
5Xx1

S5« V3+1
V3-1 7 V3+1
5(V3+1)
3-1
5(1.732+ 1)

2
5 X 2.732

2

=5 x1.366
CamypsHest 2wy y = 6.83 L5

16. 1 (R&F1&HSTL (R 6.32 / LSS eTevor: 272

@ Gasryy 2 §8lufler L8 515 2 wWysiTen SLULD
QuIBSE meaussUUL(BeTargl. Hempuiley 2 6Ter ‘A’
et  Yemaflulledi(bhg SHwudHenr 2 §femw 60°
gHm&CaETanSHlevid, CamyrHHen 2 &HauNedlmbHs)
‘N ereiim  Yetaflomw 45° @QM&&5EHCHTESHSeVILD

Kindly send me your study materials tq
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17. LuHA 6.4 - 12 seusHE [ LSS eTevor: 274

13 1§ 2wpeter @ wWISHT 2 FAuNmHS)
LHAOTW wrsHer 2 &8 HMIDL guile gHms
Comewrd WOHMID @MESSCHTEULD 45 ° LOHMILD
30° ereafled , @UeoTLmeug LOISHH6T 2 IWTHMmGE
snens. (\/3 = 1.732)

€ B
WSO WISSHeT 2wy CD= h=1318
gmm&Ganed LADE = a = 45°
Om&a&GaHEmemD LEDB = = 30°
228 1ppg&leot 2 WD AB= H =h[1+tanacotf ]
H =13[1+ tan45°cot30°]
=13[1+ 1x+3 ]
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=13[1+ V3]

=13[1+1.732]

=13 x2.732

2%8 1o HledT 2 WD H = 35.52 L8
18. L& 6.4 — 298 sOI5HE [ LSS eTevor: 274
sL60l6 B WL L $HeOIBHE 40 BLL (55 CoGev
2.6em sp(p, SUUOIH GCeL UGHuileL [Hlerm
Qarauiy(H&HM @@euy, GsTmer 2 &fleow  60°
gHN&CHETEISHHID, lgUUGHamw 30° @ME&EE
Camansdlevid sSmeaudmmy erefled , HULEIHHS
GOIMIGG 2.6Tem  QAHTEHMELEMEUW|D, (& 6ITM6oT
o WFSMBUWD Smewrs. (V3 = 1.732)
Sy
&SL60BT L L GEeNBHE SLILEOIST 2 WD AE=h =40 L0
G6oTl6tT 2 WD BC =H 616518
GHAMIGGLD SHLLWISGLD 2 61T AP AB = d 616078
C

A B
gmm&Gamed 2£CED = a = 60°
Am&s&GaTed 2DEB = f = 30°

www.CBSEtips.in

@mLCw 2 6iTem QG MMV

gijey

D B
SIB&GMguet 2 wigld CD = h =66 L
gmm&Gamewid  LACE = a = 60°
Am&ssCamsd 2BCE = = 30°
i).ellené (@ &LOUSHH6T 2 WIFLD
AB=H=h[1+tanacotf ]
=66 [ 1+ tan 60° cot 30°]
=66[1+ V3 xV3 ]
=66[1+3 ]
H=264 18
ii). aNen&(@&HsU 2 WISHHDHGWL [ &GLomig uiler
2 WrGHMGL QoL Cuuweten eNsHlwngd = H —h
= 264 — 66
=198 8
i). Nlen&HGS SOUSHDHGWD NG SHGSLOMIG&GLD
@emLCw 2 ¢iTen QG memevey d = hcotf
= 66 X cot30°
=66 X% V3
=66 x1.732
d=114.312 18

@eorleor 2 wifld H =h[1+tanacotf ]
=40[1+ tan 60° cot 30° ]
=40[1++V3 %3]
=40[1+3]
@sorletT 2 wiglb H = 160 L
GTMIGGLD SLLISSLD 2 66 FJD d = h cot
=40 X cot30°
=40 x V3
=40 x 1.732
GOTMISHGSLD SLILEYISHGSLD 2 6Tem D d = 69.28 L5

19. LuH& 6.4 — 52 GHeMSH& / LSS er6vor: 274
66 8 2 wyweten  UGSHGLMGS  (GlGuiLriedr
2 FANOIBHG @@ lasGs swusHdler 2 &8
HMID guileht FHM&ECHTEID HMILD QM&&E
Camemord (WemMGW 60°, 30° ereafléb  Lil6bT6w(IH 6L 60T
UMEMMS SIT6VT 5.
(i). ellen& (@& HUGH T 2 WLd
(ii). eNlen& @S &SwwU 2 WISHOGSL AGHS
wrguiler 2 wWrGHHGL QoL GuiwjsTer
allgfHlumgib.
(iii). @Nlen &GS SWUSHDGL (& (GLOMIg&HGLD

Kindly send me your study materials t

20. 316V LUUINMA 6 - 88 G5 / LSS eTevor: 277
SumsmMI allersesn QHEGL QL HHO(BHII
sSL60IsL QALY HHemsullsd Q@ HLUeLSET
LWeuid QEWIHTMT. &HOMSMT  afl6rns s s 6in
2 58Ul QmHH @@ suucLsafldl @QM&ss
womGw  60° wHMID  45°.
SULLSIEHSEG QLG 2 een QAZMemEv6Y

V3+1
V3

G & IT 60T & 61T

200 (
2_WIJLD &IT6U0TS.

) 5 eteafleb , HevmBMI  allens 85 Hetr

B, D - &LILIGLSET .
SOMIGEN] aNen&e5S60T 2 wid AC=h 61615
A SLULLSEFSG QenLLILLL MWD
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BD = dzzoo(%) T

2ABC =a=45° , LADC = B =60°
d
cota+cotf3

sn( 1)

cot 45°+cot60°

_ 200(%)

1
14—
'l-\/§

ol 1)

V3+1

73
=200 x B2 x £
SVMIGMT alleTsa5H60T 2 WD h =200 L5
21. 916G LUUNMHA 6 - 998 He& (S / LISHS erevor: 277
@@ Agmaild SLLL (W , Hemeowd qTHQATHIS
Fenguiled 35 I @emLQeuaflulled iemDHFGI6iTaT6T.
SLLLGHl6T 2 &8WIeNHE Hemev 2 &F&ulleir
gHm&CamemId 24 ° wHMID Hemev  iguiledr
AOmss56CamemId 34° eTefllsd Hemevulledr 2 wiyLd
eTedredr?. (tan24° = 0.4452 ,tan34° = 0.6745)

SELMIGENT N6eN&SSHSS6 2 WD h =

D 35 m B
Semeouilest 2 wigb AB=H 616018
SLLL&SletT 2 wigd CD = h 616018
SLLLSHADHGD Hsmevd@G @enL Guiwsen

&M d=35m

SLLL&GeT 2 wpd CD= h=d tanf
= 35 X tan 34°
=35 % 0.6745
SLLLGG6T 2 WD h =23.61 L8
femeouett 2 wifld AB= H =h [1 +tanacotf |
H = 23.61[ 1 + tan 24° cot 34°]

=23.61[1+0.4452 x —]
tan 34
0.4452

=23.61[1+ —0.6745]

=23.61[1+0.66]
=23.61 x 1.66

HAemevuilesr 2 wigd H=39.19 18

65
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VG 1 jerailuiev

yooiugiiy (2 Marks)

@f o mewst angeus (Fourullsr 2 wrd 20 Q#.5
Sgliypd ridb 14 QF.1F etesfley, BT CTSHS
UoLuyliL) Srers.
humulsst o _wigp = 20 Q&6
oo = 14 Q&8
2 memeruilssr Qrgsl ypriugiy = 2Tr(h+r) #.9

= 2xZx14x(20+14)

= 2xZx14x34

= 2992 Q#.152

88 #.05186 euemeniuryemLw @@ Gpieul L

2 _mpewerullsst 2w 14 QF.15 etesflsv 2 (Heweruflsir
ol LI &HTesurss.
Sirey:
2 meweruilsst sueweriyiiy = 88 #.61#.15
21rh=88
22
2% - xrx14=88 (..h=14 cm)
88x7

2= ka2

2 meweruilssr alll_Lib = 2 Gl&.15

D _GTETGITIT.

6Tedfls)

& L TTSHSD  Breveui
F.05.16

PMHUmEG 22

urtiy  Gzemen I L_TY S)6dT

2 WTrGengd: HessTHESL_a|Lb.
Sirey
PGS G Cheweuwrer urliy = 22 £.60F.16

4 pumsHE@ Coemeuwirer urliy = 22 X4=88 #.01#.15
2 = 88

22><2—88
7=

r?=88x r
22
r’=28 cm
h= / 12-r2= [19%-28
={/361-28

h=v/333=18.25 GQl#..5

FoloLNesr 2 _wigp = 18.25 Q.16

Berd 35 whmib el 2.815 2 ewLw @@
FaTUGSSHID 2 Hewareowd CETam® @@® CHTL L LD
FweaTu@SsLILGSMG. 8 &pmusafley  sTéusuerey
LTLienU 2 [hewer FLoeT GlFinh?

el Libd=281F

o wygh = 318, gyrip r=1.415,

2 BEwer G  FHPYl
FL6TU(hSGI1D L@mmu_ﬂsfrr QUEMETLITLIL|

=2mrh 5.9y =2x Zx1.4x3=26.4

FweTU®HSSHID Urly =

2_(Hewer sp(h HHM6L FweTUBGSHID urliy= 26.4 .15
8 spmiseflsy FwaTUBSSLILBL CQwTsLLTiy =
8x26.4=211.2 152

2@ Garersdler ypluriiy 154 #.f eresflev, ggeir
L 1b srers.
Garergglest ypliugtiy = 154 .8
41r2=154
4x Z xr2=154
7 r

GarergBlest yrid = % 5

Garergglest el L 1b d =7 15

704 #.0s.8 Qurgsiiymiiugiiy Gamresr g biilssr
b 7 OF.15 sTesfle) QyFHedr Fruywrd SHwevsras.
Firay
g oLilesr Qurssiiypiuriy = 704 £.0F.6
mir (1+r)=704

22
- x7x(1+7)=704

[+7=32-1=25 Q&.1f

2@m Csrer auger aueflEamawrgaer (balloon) srpm
2 prL@LCUTE Hseir Urid 12 QF.15 Owmbz 16
Q&.1f s 2 wEpEmg. @)m ymiuriiyseflsr eflssn
HT TS,
ey
I LHDILD o eu6ldn 685TIq 63T ST BIGET 6T6iTd5.
rp_12_3
r, 16 4
_ 4T[I’/|2

ypriuriiysefler all#lsin = 5
411y

I
5 =

.ymiuriiysefler ell#lgsihn = 9:16.

8. onm danw YmréCsrargdler gy 1386 .5
eTeTl6L HYB6iT COUOTSSLT LDOILTLIEN LIS ST,
Blewro enrGasreardgSlest gLy 2 = 1386 .1
O TECHTaTGSl6T QoTEHSUTLIL = 3mr2

=3 X 1386 = 4158 5.1

5. Fmwwyib 19 Q&8 GCarewr  gmiby eugeusd

9. 9@ F@mibler @l ssaLgdler Fruwr 5 OF.F5,
BT @) Y rsIseT 4 QF.5, whHmid 1 GF.16 ererfled

(3)WL_EHHITL_53)65T QUeMTLITLIENLIS FHT6voTds.

I%E—I
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Firey

L=5 @«.15, R=4 Q«.15, r =1 Q.16

B)ewL_sameaTL_Gdler eusweruiriiy = T (R+r)] &.9
22 550

= 7><(4+1)><5= -

=78.57 .01

- %x(35+25+4)= 1208

7
= 201.14 52

5 Marks

24 Q&8 o wrepeter sm Slawrw 2 Hewearullss
ol 14.0F.18 9 @bh. o mewerullgydr HCs
QIIPSTET  FniDl eulgeuds  Gley 2 (Heweruilsst
2 wriglnEg aTHUGSSILGIDS eTellsd IBFpsiTer
Sleuriog 6T GomTds LDLILTLIL) &TeTss.
Firey
h=240s.8,d =14 Q&..5 wpmio r=0.7 Q.15
Bsupsiter  glewrwgsler  Gwrsl  yplugly =
2 meweruflest  euswerurll  +amibLiledT  euemerugiiy  +
gLy
= (21rrh +1rrl+TTr2 ) gy

=1r (2h +1+r) .9

1= Vr2+h? = \/(0.7)2 + (2.4)2
v0.49 4+ 5.76= V6.25
1=250s.6

s psiter Slassrogdlerr Qrdsl ypriugtiy = T (2h+1+r)
F.9

22
=2 x0.7(2x2.4+2.5+0.7)
= 22x0.1 (4.8+2.5)+0.7)
= 22x0.1x8.0=2.2x8 = 17.6 Q.16

45 QF.18 2 _wrsTer @i @)ewL_SHeTL_SIBl6T B)(HLID

o rhiser ewpCuw 28 G&.uf, 7 OG&.1f eresfled

B W L_EHHITL_SF)65T 6T J|OTMQIS & T6HTS5.

Firey

2wy h = 45 Q&.8 whmid Cupyrive,rio R = 28

QF.18 ,Fpyrid gyl = 76F.15

B)DL_GEHTTL_SS6T SHesrjaren = §7Th[R2 + Rr +17]

-
x45((28)2+(28x7)+(7)?]
2

71 22

=—x7x45x1029

3
=22 x 15X 147 = 48510 GQ&..5°

X — X 45[784 + 196 + 49]

om OCsrfinmsrepsvullsir 2 Gours eurafl, & ibLiler
B ewL_ssewr  eugalled 2 sreng). Yyser  Comym
Iyliyp el misst wepGu 10 1f; 4 1f @b,
st 2 wgd 4 1 erefley, @)L GaeamTL SSl6br
euewearLIrLiL], QTSSUTTIL HTessrs.

Sirey:

Guevalll L ib =108 i =516

Fpalll L b =416 <yrior =216

o wirp h= 4.6

Fruyr | = ’é2+ (R — T)2
/42+(5— 22=\[16+ 9=\/25=5

B)ewL_SHHTL_SIHleT uemarLIrLiL]
=R+l 5.9
=2 x(5+2)x5=110 152
B)ewL_BHeWTL_SFletT ClomdhBLITLiL]
= [n(R + r)l + nR? + nr?] 5.9
= [(R+n)1 + R*+r?]

2 wyip 16 Q&.15 2 oL w @@ gnidLileir B)enL_dasevsrL_
angaflsd ewwhHs Oardarsever germlear Cuhump
Smbsplenevuiley o ereng). Spriym > 8 GF.F
wpmidb  Cupyp rb 20 GF.uf  Cemewr
Q& reTasavesiley wWeewww s urs Briuiiu@GaSng.
2@m O Li uredsr afenev ep. 40 etefled, Blorri@d
uredlsst QTS allenevenwids &Tesrds.
Siray
oo R =20 Q#..6, r = 8 Q.6 wpmub 2 guwid h =16
Q.16
QoL saiL_gdler sergjere)
= %nh (R2+Rr+r?) 5.9
= 2xZx 16 (202 + 8 + 8%)

1 22
=—x7x16x(400+160+64)

=xZx 163>< 624 = 10459.42 Qz.5°
= 10.459 &9 1L it

1 9L uredlesr aflemsv = Rs. 40
10.459 68" L_ir uredlsir axflsmev

=10.459 x 40 = 418.36

B\ wERTHS SH6T 2_(HEUBIBETGT ST |6TeY, LyDLILITLIL]
(5Mars)

7

@i 2_pewearuiler 5% @i ewr&EGararid @)ementhseTm
2 eiter spy Gumbemwuiler Qwréss 2wy 25 GF.f
U G. Yger el b 12 Q#.1f erevfled, Gumribenouflesr

Crds YDOLTLIenLd &TewTs.

Aoy =T ©
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afl_Libd= 12, oo r = 6cm.
2 meweruiler 2wy =25 -6 = 19 Q&1
Gumribenpwullet Grghs ymLUurliy = o henearullsr
uewarLIrLiL) + 9w TsHGHrarddleir eusmarLirii+
2_peweruiledr ojig LILyiLy
= 2mrh+21r? + 112
= 1ir2(2h+3r) 5.9
=Zx6x(38+18) = Zx 6% 56
=1056 Q&..52

2@ Sawrwssler yliyp 6 CF.5 b 2 ewLw
I ewrsGasrer sugailspd CGupymip 12 Q.16 2 wreptd
6 QF.1f Yrep ClsTeRTL gnidL] sugalls)d 2 6Teng,.
Queugid Frmed  Blriudul L i 2 Hewerullesr
A LYDSD 5

OOYELJUIBIC IR & ]

oo
T

QarEwrm
QeueflGuwimiid
HOT|ETENEUE HTETE. 2 (hewerullesr yrip 6 C&.LF,

o wyih 18 Q.16 eTeordh GlsTeTss.

2.pr56r eteirm Qumrplufluiey wrewTaut @i 2 Hewearullssr
FalbL %6 2 _6TemeuTm)
wrgflufler BHemb 12 G&.f wHMID
ol Lip 3 Q.15 g@h. iCeur gnibLilsr 2 wrapd 2

B oypwpid wrglfl  @sTen

2 (HeUT&HEGTITIT.

OF.18 @) HE@HLoTarTe) BrHeT 2 (heurdhslw wrdliflufler sesr
S| STENEUT & T6VITS.

Sirey :

12 cm

ol Libd =3 @z, =3/, Qs.1f
h, =12-(2+2) =8 Qz.r
o Wb h2 =2 Q.6

wralfluflsit sersenrey = o Heweruiler searserey + 2
o LDLI63T 60T D616
= mr2hy+2x 1 /5 r2h,
= r2(hy+2/4 h%
7 3 [8+ 3% 2]

=27 xZ=Z
444 34
=66 Q.15

Guaib A g BFe aflesrréser(Luilndlss)

7 Q&8 LsE: SemaysTer HaTFHITSSleT LBF i
UL GFlev
QuThSLweTeng SleTOGS6T LDLILITLIL| &T6STdH.

ST &GS TErLD 2 gTereummI

@ o mewerullsst 165 PF Qe dhHabTL
Qewswipsary  wwhs @6 yerssr  Cwrks
o wgh 20 Q&.1f, 2 peweruiler 2wy 12 Q&.1F,
el L ib 12 QF.18 oy w. @)ewLdserL_sdlsr Cupuym
ol b 24 G&.f eredflev, yewsdlsir Gleusflliymil

UrlienLds HeursS[Hs.

@ @p@Luubdler Cuhymid gnibiileT (&)emL daser
FPtiypd  HewrsGsrer  sulgaileib

o 6Teng). @)W saHaTLSHletr @il L_missTt 5 GlF.uf

aug eilgViLb,

wHnib 20&.15 s @DEGUbBSlT CTds 2 wrid
7 Q. sayb @)HEGLTETTSY, @M@ UbSler

UmLUUTLienLds &reistsd.

i o @eerullsr  @muypepid
aulg ailed

20 LEHHS - GUL,
B wewnps
@Uufletr Qrds Berd 12 0.5 el L_ib 3.6 erevflsv

NV EACES o 2 _6Teng).

BV YDLEGSILUBLD  HHSOT BT eMTemeUS

&HTEBIT 5.

@wstT sy GGOU eflpreibg 150 puiraer
BEIGMUSDE R(H Fo L TTID SYEDWEADITIT. Fon L TS5
S LuGS
augaileib 2 6Tengl. meuT FSBIGUSHEG 4 F.F
S G3] &6 sTHYID
CaemauliBHBmgI. gl Trdgled 2 Heweruils 2 wrid 8

2 _mewer eugeid GCuhHuGF gniby

urdiyio 40

LB 6T6ufl6V, Fn LDLIGST © _WITLD &T6vTS.

2 wyrib 2.4 Q.5 wHmid el ib 1.4 QF..5 QamenrL
Flewro 2_peweruilsd @) BHg HCF eill_L_1pib 2 _wirepib
2 6o §p(h gntdL) Cleul 1g TREHBLILIL L 6V LB LpsiTem

BTGB ST |6 6TeUEUETEY &S CF.LE &7

S TLOBIE 63T HITH|6Ta LOTMHTLOED 2_(FaUdenS LOTHMIFHED
5 Marks

ol Lid 14 Q&.8, 2wy 8 QF.1f 2 dLW 9@
SlewoTio CBireul L & mibL], @I 2 sTef L_pm CEremioms
2 BurHniLGEDS. Csrarggler Qeusflal b 10

Q&.15 sterfled, 2 _siralll L_Semsd &Hresviss.
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Fn LDL 2 grefi L Hp Casrerid
el d=14 Qeusflail_ b = 10
Q&F..f Q&..8
rid = 70&F..5 b = 5 QF.1f
o wribh=8 o gl Lipd="?

[AERTS

2 sirefLpm Gasrengdlesr ser emey = gnibiiledr
ST

4 1
3 xm(R%-r3)= 3 xTr2h

4 1
—x;r(53—r3)=§><¢sx7x7x8

3
125 s TX7x8
ey

125 —-98 =13
r3=27-r3=33>5r=3

~ Garerggler 2 siralll L 1b = 2r = 2x3 = 6 Gl&.15

9T [ = 6 Q.1

r=7?

2 sirefLHm o (Heweruilssr serearey = Cxmeardgle
BB 9|61T6Y
4
n(R?-r?)h= §T[I‘3
4
(52—r2)x32=§x6x6x6
4 “ 62x 63 x63
52—-r2=3x3
25-9=ri=>rl=16=>r=4
o_meweruilsst Higesr = R -r=5-4=1 G&.1f

52—T‘Z=

@ 2 arafLdm YewrsCsrer @Uiger 2 1 1m
whmid Qearefliiyp el L Bissr weopCuw 6 GF.f
whmib 10 Q.18 gY@, g 2 Basuul B 14 .6
afll_L_peirer ep@p ST 2 (HEwETWITSSLILIL L T6V,
IjsieyHemaruileir 2 WFiD HTeTa.

Sirey :

2 grefL_pm 2 _(Hemer
S|ewr&EGsTarid
Qeusfl el Lib= 10 | el b= 14 Q&..f
Q&.f

oo R = 5Q&.16 Qb r =7 Q.15
o 6r efll_L_Ib = 6

OF..8

2 eryrid [ = 3 Q&5 o wrpbh=7?

2 (Hemeruilesr FH6T S|6TEY = 2 grefL_Hm
DT CHTETHH6IT H6vT Hj6eTey =
1Tr2h=§T[(R3-I‘3) =1'[><7><7><h=§><1'r><(53-33)
7X7xh=2x(125-27)
98+ 4
3% 7x7 1=3
2 meweruilssr 2wy h = % =1.33 Q5.16

g1 of et Cuevplewey BisGsT 19 2 Hewer
augaflsy 2_eireng). ser b 60 G«..F, 2 wiyid 105
QF.f, 216 %X1.5 1f X1 f ufwrewrtisenar 2 _enL_w
2@ ST OClFsiusd SpBleney B GCsriiguiledmbai
B 2 st B GCuwGeuwsiter 2 mewer argeoug
Csmri’ig PLEOLOWITS Briutiu®#Eng.
QBT d&53l60 &Slpd Gsriiquiledy BT wepewwwTs
BBLILSTSE HHGHIS. CVBlme GsTL I1g9NEE@ BT
aghplw D@ Bswsirar Bifled sar YjaTenald &resrs.

Sirey

Cuplene BirbEsT 1 (2 mewer)

<,rid I = 60 Q.15

o wiygio h =105 Q&.16

H6T QFeueusLD

=216 =200 Q&.1F

b =1.516 = 150Q&.18

h=15=1000..5

Fpplensy Gsriiguilsy s wpsirer Biflsit Hesr ojerey =
Fpplemsv GQgriiqullest sHearsare] (HearClasususd) —
Gueplame Qsriiguilst sargjera) (o—Hamer)

= Ixbxh-nr’h

=200 x 150 x 100—%>< 60 x 105 X 60 x +65'°

=3000000-11,88,000
=18,12,000 Q.85 (1000 Q&.83=1601_L1 )

=1812 &l it

6 Q&f QrymHm @ Seavrws  Gsmemd
2 BESLUULGHEF Frrer SlglogylsTer @i 2 erafLHm
2 _mensrwirs wrHmOu@SEIng. o meneruller Geuef
i 5 QF.18, 2wy 32 QF.15 sterfled 2_(Hewemuilssr

B9 LOENEITS &ITEHITSS.

@ rerid o srafLHm 2 (Hewer

14 Q.16 el L wpsirer GrrulledBhg 15 #.06 / wessfl
ereirm Geussdled 50 1f Hemb whHmid 44 15 seVID
Q&TewTL. @ OFeuaus eaugeus GsrTiiguileyisr
Seistent T LMLADG). eTeualeare) CBrsHdlsv FHevwresnt flssr

wi b 21 QF.158@ 2_wmLb.

2 emer (GLpmiis) Her QFeueus CHmiig

I%g—l
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all_Lib = 14 Q&5 pard = 50 1f
Qi =7 Q&..5 & b = 4418
r=i £ o wyib h =21 Q&6
h=Zh 5
Twenfl Crradlsv @Grrit euflGw GeuelGuHmin’ L
SHevsTewt MesT  &Her jemey = OlFeusus GlFHTLiquiled

umiagFFiul L seurenilfler HaTo)ame, . ef  Ser&EGasTer egauds FlawentdgleT aflafliby
GpruilesTemsg Gl @ urdy wewf Grrsgls euempulled LipsFFrm Blrbiluysrerg). 2 wrdengail
@wri euflCuw QeuallGubmmriul’ L sevwrenter seor 50% gls Yrd CETEVTL 2 (Hewer augaull
Ileey =  OFsueus Camiiigquilsd umbFFiul L uTSSIrSIm G LpFFTm LrHOILGE DS
H6VTeR T T163T & 60T D) 6eY ImrshGarard wHMID 2 (Hewer I dlweuhailesr
GuruileTgmis@ Cleul B uriy X Gvrid XGeusid = afll’ L missir FLOLDT6STIT6V HlevsTewT g %560 HHS51
Ixbxh euauere) FHefsld LIFFTMH o HEwer  euigeu

1’ x T X Gausiv = Ixbxh ursAréFih@ wrHoriu@Eo?

22 o Tx15000=50x 44 x 21 SNy Garans et g =
100 10

7 0 2_(Hewer I =
_ 22x21 1 3
11x7x3 I’=h+§h= /2h

T =2 wewf @prib. 9|0 G TerSSlesT HETI|6T6)
6 Qs oyrip, 15 Qs b Qaram @i 2 2 () 2 23 O
F.15 oyrib F.16 2wy O&rewr Qi ~mr 3-,-,-(2 h) ST h®=Z1h

2 HEweT euigaIll LTSS (PIQeGIOTs LIevll&hdnm [p e o il J———

. . . . - 2
2 GTeNG. bS UNTSHI PTeTsI, dnidL] LHMID m2h=Trx (gh) Xh=1T§h2Xh=%1Th3
Ior&Cararid @)swenthg eulgeausdlsd BriiLGE D . . i o
2.100%. upsermy wrHPLILGHS DS
@ ipflesr 2wy 9 GF.f wHHD Yrd 3 CF.F
oTesiley, LUTSSTSSl0 2 siter LflGmeny Blrli

THGMeTE FnLDL|FH6T CFHeweu?

2 (Hener & DL I|HrGHmerid
o rior=6 Q.16 | oy rib & TLD

r=30#..8 | r=3Q@s..5

o wrioh h=90&..6
=156#..8

Lievflds g LD Blrii Gapemauwiret ELIE

6T6IOT 63011 6B =
2_ (15 606MUT 63T SH60T461T6Y
FaLLDLI6IT SH6TT HET6Y+MTHCHTENS F6IT SH6v1 3616
S
- %ﬂr2h+§m~3 - ﬁ(%r2h+§r3)
_ 6x6%x15 _ 6x6x15
- §x3x3x9+§x3x3x3 T 27+18
- 62x6x15 12
45,

Iﬁﬁl
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8.ysraflullwgid Bl&spsEay

@) revst (Lo 16\ LIssT S 6iT

Qar@assiul L. gsrayl  yerefla@pds@ afda
wpmid efFHECH1Y YSwsihenpnds sTeisrs. 25,
67,18, 39, 44
Firey
s Quiflw wgliy L =67
e APlw wgliiy S = 18
ofse R=L -8 =67-18 =49
of Fx& 0% LY
P R Y1
L+S 67+18 85

2. Oar@®ssiulL uresdsr af & &TeTs
awg) 16 18 20 22 24

(umLris - - - - -

18 | 20 | 22 | 24 | 26

s Qu waliy L =28
Wad APlw gy S=18
ofég&x R=L-S

R =28 -18 = 10 su@pLmissr

@wm srefler efFs 13.67 whmud sl Guw
wglny 70.08. eeflev WassfAPw wIlewus
& ITEUTS5.

Firey

ofFa R = 13.67

sl Quiflw wgiy L =70.08

L-S=13.67

70.08 - S =13.67

S =70.08-13.67 = 56.41

o flsd Aplw waliiy 56.41

FPESTEWID STeHEHhdhE ofFs LOMID ofFxds
QFH 1 HTeVTSH.
)] 63,89,98,125,79,108,117, 68
ii) 43.5,13.6,18.9,38.4, 61.4, 29.8
Sirey
i) 63,89,98,125,79,108,117,68
s APlw wgliiy (s) = 63

7

sl Quflw wgliy (L) =125
ofdex =L =S
=125-63 =62

ofFmd Qo
L-S 125-63 _ 62
L+S 125+63 180

= 31 =0.33
94

43.5,13.6,. 38.4,61.4,29.8

ad APlw sy S = 13.6

sl Quflw wdliy L= 61.4
ofde=L-S=614-13.6=47.8
ofFx&0% LY

- L-S 61.4-13.6 47.8

= = =0.64
L+S 614+13.6 75.0

msrallsralFawpnioidlssAnlwwg)ing g
enmCui 36.8
ereslsvLlE IGLIM I S 16w LIs & T s,
Siray

ofFa L - S =36.8

L-13.4=36.8

L =36.8+13.4=50.2
WlasLEuMwgliiy =50.2

LHMd 13.4

Qar@asiul L srafer efés sresrs.

400 | 450 | 500 | 550
Q) (THLOTEITLD - - - -

450 | 500 | 550 | 600

oarifluiias
aflesr
eTeuuTows 14

12 30 21

6NH

50 21 Quev srasrsefieir F L allevdsdhemsd
&IT6VIT 5.

Sirey

N =21

Yo 21 Glwev erawraseflssr 'L allevdsid

In? -1
o=
12

20 _
= \/21 1 \/44112 1 \/36.66 == 6.0547

12
c =6.05
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9m sraflar S eflvssd 4.5 g @bh. P
BmEGD Sraji Lsrafl gaGersthlain 5 — g
sflEadlwLsgh ysw sraflsar S eflssh

&IT60T 5.

Firey

usnypw FL_allevgsid 6 = 4.5

5 v BlGHHTEL HlewLS@GH YyHw S L alevssid G
=45

[ . slgermGor slssrGor Sl aflsvdsid

wTmTgI]

2wm; sraflesr Sl eflwssd 3.6 @b, 6T

@aQeur@ Lsiraflewwuin 3 e au@GdEGwCuTs)

SlewL &G ySlw srefler L ellewdsstd wHmIbd

aflvdaseuiss srrFfanwd &resrs.

Firay

usoyw S allevgsid G = 3.6

3 ) uGSBHTYD HlewL @G LHlw Sl 1L ailevdsid
3.6

c=—1=12
3

yglw eflevdsenidss Frmraifl ((52) =1.44

.n X = 86 Y X°=T765 eafs,
rmiur’ Hd C&emald &HresTs.
Firey
N=5, X =6, » x* =765,

S L ailevdsid

(0)= 2.X —(anJ =1/E—62
n n 5

=+/153-36 =+/117 =10.32
wrmiur’ (hd6ls ey

cVv)= 2x100 =% %100

_ —10;32 «100

_192 _ 180.33%

.. C.V=180.33%

plapssey

. srafleér  grrefurerg  25.6 whHmib 6T
wrmur’ Hé6sweurarg 18.75 ereflsy, s6ir
L aflevsEdemBHd &Ters.

srref X = 25.6,

wrmiur’ (Hé6swp (C.V) =18.75.

A 1L_eflewissnC = ?

ixloo =18.75
X

18.75=-C %100 = ¢ = 0:12%256 _ o

25.6 100
S A 1_eflevsasin O = 4.8

LOGSTEUEDTLIL_S6DGLI LweTU (G5 @)revsr(®
useLseT 2 (UL Ou@DCurg  SledLdg@id
. MIGluaflepw 6TpSI%.
Siray
QUENTLIL 1D
& miGeuafl S = {(1,1),(1,2),(1,3),(1,4),(1,5),(1,6)
(2,1),(2,2),(2,3).(2,4),(2,5),(2,6)
(3,1),(3,2),(3,3),(3,4),(3,5),(3,6)
(4,1),(4,2),(4,3),(4.4),(4,5),(4,6)
(5,1),(5,2),(5,3).(5,4),(5,5),(5,6)
(6.1).(6,2),(6,3),(6,4).(6.,5),(6,6)}
n(S) = 36

. B’ Srellsr S L_eflevsasid LoHmd
wrpur’ (&% wHw wempGuw 6.5 whHmib

12.5 eresflev wrmur’ (H& Q& pewaud STeisTas.

. @@ Srailsst S L aflevsasid LoHmiLb
wrmur’ H&6sw yslwear wempGuw 1.2 whmid

25.6 ereflev oyg6iT FyrFfeniid &revsrs.

. 9w srailer Frrafl whmib wroUT. HECSW
yopGu 15  wppp 48 el yser

I L aflevsEsemns5d & Tesrs.

B\ rewr® 1B T6WOTILIGIZS 61T RETDTHEF
s LiLB&lsimer. @)reis®  prenTwmigefle b
QeuciCam Washser HemLLISDHTERT BlE PSS
wrg?

Firey
@rem(® pravrwissT FeTBb GUITE HaLds@m
gamIQsuafl s={HH,HT,TH,TT}, n(s) = 4
CeucuGoum (WP&HBISET SlewL_dbd Blapdd A eTetrs.

n@a 2 1

p(4)=@—z—5

I—72—

Kindly send me your study materials to our email id - padasalai.net@gmail.com



https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net

www.CBSEtips.in

3. 9 GplLrawmgsy 53  sFaflédlpenivssr
KDL LISDETEI Bl&|PSH56Y 6T6IT6IT 7
Firey
= mIQeuaflS = { -gpr-gl, F-0F, QzF-, y-ai, ai-
Qeu, afl-Ga, Gleu-F, F-ghT}
n(s)=7
53aug seaflsdlpenwdlen_LiLughETearplspsd A
6T6TS.
A ={#-epr, Qeu-# }; N(A) =2
nA) 2

Papsse P(A)= e 7

In M Gleuer]
S={(HHH),(HHT),(HTH),(THH),(TTT),(TTH),(THT)
(HTT)} n(s) =8
Qrent®  IOSSOSS bt  FHewL_L1g D Tesr
BlspFF A eT6r1.
A={HTT, TTH, TTT} = Nn(A) =3

) _3

plapssa) P(A) = hG) "8

P (A)zg

p(A)p (A) = 17:15
P (A) ii)n(A) meu sreims.
Solution
B> opBss p () + P (A)=1
(i) P& _17

P(A) 15

Gugio N(s)-640

17—~
P (A)=1cxP(A)
15P (A)=17 P (A) [P (A)=1-P(A)
=17-17P(A) | ..P(A) =1-P(A)

15P(A)+17P(A)=17 =1-35=

32P(A) =17

17

(i) P(A)=—4

1
32
nA) 17
nS) 32
A _17 )= «640=340
640 32 32

— n(A) = 340

13. s Brewnub cpeTm Wewm FessrL LG Cuimrgy)
Qrav® HOS5055 UssdT EwLlughaTer
B&pSoHe0 eTeTerr?

17 _32-17

A wpmid B gdlw G melawsnriiugrriser 1T
uflsd CFrireusnHHTeHds
@auisaflear A CaiibsB\dSLILI[HUS DS TeuT
papsse; 05 A wppiw B G@weumbd
CaibosBssliLpusnasrear  Blepssey 0.3
ererflsv B Gaib0ls@assliL@asnasrar Slsul_g

ST EHS (HLILIEUTS6IT.

plapssa) 0.8 erar plplés.
ey
P(AUB)<1=P(A)+P(B)
-P(AnB)<1
= 0.5+P(B)-0.3<1
=P(B)+0.2<1
= P(B)<1-0.2
=P(B)<0.8
B Gaips®ssiiu@agsharar  glauls
plapsse) 0.8 s

2 2 1 .
6. P(A)=3.P(B)=C ., P(AUB) == steufled
P(AmB)e};n'siuTas.
ey
P(ANB)=P(A)+ P(B)— P(AUB)
2 2 1 10+6-5 16-5
3 5 3 15 15
11

~P(ANB)=2

7. A wpmudb B g dwensu @)w Blspsflassr Cuogb
P(A) =0.42, P(B) =0.48 LoHmILD
P(ANB)=0.16 . sraiéd
(i P(A @)svemev) (ii) P(B @)evemsv)

(i) P(AgsvevsB) opdflwaumenmés sresrs.
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Firay
P(A @)svsmev)
P (not A)=P(A) =1-P(A)
=1-0.42=0.58
P(B @svsnev)
P (not B) =P (B) =1—P(B)
=1-0.4B=0.52
P(A sjsvsvg B)
P (AorB)= P(AUB)
=P(A)+P(B)-P(ANB)
=0.42+0.48-0.16
=0.90 16 =0.74

5 wIICILIessTSH 6T

@wm Fweriiiy Gsrgmeruily AB g dluiemeu
seTennQwreTy aillevdEd Blapdser. Cogibd
P(A @evsne) = 0.45 P(AU B)=0.65 erasflsv
P(B) s reais.
Firay

A, B gareopRursiy aflevs@d Bl&psd starGeu
P(ANB)=0

= P(A)=0.45

=1-P(A)=0.45

= P(A)=1-0.45=1-0.45=0.55
P(AuUB)=P(A)+ P(B)
0.65=0.55+ P(B)
0.65-0.55=P(B)= P(B)=0.10

WSV N @Quev erewrsedledsr Fymal  wHmID
afleVEENTES FITFIBHHETEH &TWTSE.
= DX 14243+ ;
Frmaf x= n =
~n(n+1) n+1
~2n 2
- n+l
SX=—
2

alleVd & el THESHFTTEI

Y

n

_n(n+1)2n+1) [n(h+1)7

6n _[ 2n }
n+1lf2n+1 n+1
T2 [ 3 2}
_n+1/4n+2-3n-3| n+1jn-1
2 [ 6 }_ 2 [ 6 }
Gzznz—l

12

n?-1
6

aflvssaursasrref 2

A wppgiv B ulled gwphss asram gt
Bapeougnsrer BHapssa 0.6 A wHmn B eCr
Crrsdley B GQumiughaTar Blapsse 0.2
6T6vTl6L P(Z\) + P(E) 08 SIS,
Firay
P(AUB)=0.6,P(AnB)=0.2
~P(AUB)=P(A)+P(B)-P(ANB)
0.6=P(A)+P(B)-0.2.
0.8=P(A)+ P(B)
~.P(A)+P(B)=1-P(A)+1- P(B)
=2-P(A)-P(B)
=2-[P(A)+P(B)]
=2-0.8
P(A) + P(B)=1.2

i  gAflwi  wrewrauiseflsst  GFLpenm
ugGeur’ 19 651 60

LI & BI5 69611 Blewpey
QFiigiou@mry FnmISIDTT. 6T (H LOTERToUT 56T
yoopGw 32, 35, 37, 30, 33, 36, 35, 37
ussBiseT WL HGCW Bleopsy OCFumbseTi.
LoTewTUTG6T Blewmey OFiwrgl udsshiseflsr
L eleVdbEHH05dH &TeHS.
ey

Blewmey CFUNITS L1855 BIs%6T

60 - 32, 60 - 37, 60-30, 60 -33, 60-36, 60 —

35, 60 - 37 = 28, 23,30,27,24,25,23

Blewmey QFiuTs

S L allevssid (eassd Frref weom)A = 25

L1d5 & b1 61T 63T
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2
S (1 S PR
12 12
oy [M44-1_, 143
12 12

=2x4/1191=2x3.45=6.9
0=6.9

4. 9@ urrsdle gmbsl wra L Biseflse) GlersiCoumy
@)L _Bisefley CLiiig wenpuiled jeTeuTesTg Ly

QFwn” B £Clp CETHESLILIL (H6Teng).
45 |50 |55 |60 |65 | 70

5 13 |4 9 5 |4

S L aflevdsid

2
2
o= \/Zn —] QarH&sLLL_(Herar LoewLpwieTelesT
L aflevd s BTesors.

Ty

X

45
50

55
37625 E

6 65

0
1
_\/ﬁ_w.?s 70
V64 8 - 122

Lo0=234
®wm Fouir sysTrd 1 wewllésg 2 wepubd, 2

wenflé@ 3 wpemmuyb 3 wenfldh@ cpeiTm peOMULD
260 eTLISDGI eTeulleD, P BT6IMI6D HEBIGBTTLD
eTeucuamey (pemm 6269 erapliyn? GO FiqSTTID
eTpLilp 6 sTawemfGenasafler S afllssid
HITEIIT .

Firey

3 (5B T W6 9] 19-35 & LD Lo 6vvT ] 6576 s¥vT 63511 55

6M&H

= 2(1+2+3+

x5

4880-1024 3856
n(n+1 = | =7 o
- 2% [%} ~12(12+1) 600 °=V a0 °
=156 PEOD |95 GLD = —62096 =7.76
19 & TTLD6TPLIL|(Dep6 ] 6TassTams ds s 35 ullsL L1 8

Y ESEETR
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5. earev sTiiFFmevll LUDPIW &BHSSHISBTILILI6D,
£C1p

UTSESIUL L ESHefleT  eTaewflbens

C&T@EBSLILLC B6iTang).

IITE | 0 10
(G| - -

Seaifled) 10 | 20

urglsasiu’ | 3 | 5
L w&a&safler
6T630TGwON |5

&b

B)ssrailer S L allEsEd Srars.
Firey
x—-35
A=35C=10, 0d=——
10

0-10

10-20

20-30

30-40

40-50

50-60

60-70

S L_ailevdsid

o =

> fd? _[Zfd]z e

> f >.f
2
_ (139 _ (i) «10
65 65
— w <10
(65)
_ /9026 %10
65
95005

x10=1.46 <10

—14.6
A Leflewisn 6~ 14.6 # L ealevssn o =14.6

7

24,26,33,37,29,319ySlweumpslesr
wrItUT’ &0\ (pemeud & Ters.

Firey

FrmEf

) = DX 24+26+33+37+29+31
6

195

0

S L aflevdssid
2
o2t
n

c=4.31
wrmiur’ (hdb6s ey

c.v=2x100
X

_431 100
30

= 431 =14.36
3

~.CV=144%

plapsse)

7. @@ usmLs6r 2 (G L OuBEleSTment.
SlenL_ss06unbd e ILseNeT g (hB560.

(i) 4 @& swwrs (jii) 10 g ol Quilwgrs (jii) 13

afllLdGemmeurs @) (HLILSDSTET BEID5H56) &TeTs.
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Firey

I Gleuafl

{(1,2),(1,2),(1,3),(1,4),(1,5),(1,6),
(2,1),(2,2),(2,3),(2,4),(2,5), (2,6)
(3,1),(3,2),(3,3),(3.4), (3,5), (3,6)

T (40),(4.2),(4,3),(4,4),(4,5),(4.6)
(5,1),(5,2),(5,3),(5,4),(5,5),(5,6)
(6,1),(6,2),(6,3),(6,4),(6,5),(6,6)}

-.n(s)=36.
) pararsalsT mGso 4 AmLss Hepid A

A={(1,3),2:2),(3,1)} ; n(A) = 3

paipnn PR =0 )= =

pssramsaieT o @50 10 al G
sTemanTTa @) BlLsHaTT Hapid B

6T63T .

=[(5,6),(6,5),(6,6)} = n(B) =3
nB) 3 1
EINE Y-S P ===
EREELRT (B) n(S)

36 12
iii)) ps sTavsTSBaMNET g0 DBV 12 89 il
GODuTE @ HLiLgnaTeT Blapsdl C srerrs.
n(C) _36_

F1pHHa P(C)=—— = =
Bspsse) P(C) S 36

BTG SMVS5SH IHSSIULL. 52 £ (Hsemerd
1" HéaL 1960 b3S
yopulle @ FLE TRSSIESDH. g (i)
Asutiy Fips LL@ (i) aprit£.@ (i) Aoy Bw
@umrer (V) wsfi@ (V)
B)BLLSDSHTET BlFLDBHHWaIS SHETL DS,
ey g mQeumIn(S) = 52
i) Asuliy SO HewL_ds Blapsdl A ereirs.
n(A) = 26
nA)_26_1
Bapssa P(A)= S 52 2
ii) anril I SlewLdas BlEpsd B ereirs.
N(B) =13

O e FLoeumiiiL

stewr  FL LTS

n(b) 13 1
sippooy P(B)= ) _ 20 _ 2
ﬁ%m()n(s) =

i) Aeuliy plm FLH HewL_sa Blapsdl C erers.

Tl

n(C)=2

_nC)_2 1
ns) 52 26

V)  psFL® HwLss Bapsdl D ereres n(D) =
4x3=12.

Aaspssey P(C

nb)_12 3
nS) 52 13
V) st L T&@)(hEsdlmLdbsplapsdl E
N(E) = 4x9 = 36.
nE) _36_9

a;asp = . PN
Fagpsay P(E)= n@S) 52 13

Bspssey P(D) =

6T63Tdh. . .

BTG SMVSH IOSBSLLLL. @ FL(Hs6T
Qarer. gm FLOESS19600, Lo
£ psefledlmbg  @urer  whmnd  @)rrewt
L paapd  april £ Qs GHg,  @)rmewf
wHmid Iyl £ [H&EnLd
sVCLRPL_PEalledBbg wHST whHmib @rrer
£ [ Emid BasiuGEDaI.
£ DsafledlBhg @ FL® Fweuriing wenmuile
dT@&SLILOFEDE bsFU B () derreuisgys (ii)
Aauiy @rrewflwrs (i) smuy @rrerars

B psirem

B)BLIUSDHETET Bl&DBHS56HMETE: &T6¥Ts.
Siray
BaEIUL L I (HaeT
swLwe’ #1190 K,Q =2, anri. £ 1960 Q,J
=2, sWGu@® Flgev J K =2. Fasiiu’ L £ Hser
Qrgsib= 6. 1fs1D 2 _srer Grgs £1_[HissT N(S) =
46.

i) Hloreui s @) hos Blapdd] A erers. N(A) =13

A) 13
Beps50] P(A)—n( )_

nS) 46
ii) Asutiy plm @ rremilwurs @)méas Blaspsd B
etedrss. N(B) = 0.
nB) 0
ns) 46

SHUY @UraFTeurs @) BLUSHETRT Blapdds
C erstrs. n(C)=1

Bapssay  P(B)=

n(C) i

Bapsse P(C)=——- nS) 46
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10. peirg smss YGSSELULL 52 FIL[Hsr
Qareawr LU O&s1960mBs B FLE@
aT@&EGLCUTE @i @rrar Hveg @i @)rmrewf
ElemL_LILIGMSTEIT [515 P& 56 6T6HTET?

Firey

Qrss £ HH6T g0 miQeuafl N(s) = 52

@urer £LH SewLda Blapsdl A sterss. N(A) =

n(A) =

Probability of drawing a queen card = —

@urer wHmID @rrent] FL(hssT et GWITEITMI
allevs @ BlspFFser eTesrGou

= P(AUB) =P(A)+P(B).

*. probability of drawing either a king or a queen =
4,4_8_2

52 52 52 13

P(AUBUC)=PA)+P(B)+P(C)-

P(AnB)-P(BNC)-P(ANC)

+P(ANBNC)
41326113221287

_l_
5252 52 52 52 525 52 13

11. 52 £ Daer Qasrasr £1I° HdsL1960mbg @
FLO a@ssUuGdaTDg HSFLO @uTer
SVeVg  april g Heuli FLLrs
G BLLSDSTET BlEHDHHMaIS BHT6ITdH.

Firay
Qurgs £ Hser N(S) = 52
@rrer FI® a1®Ss Blapsdl A eteirs. N(A) = —

nA)_ 4
n©S) 53
anril £ G e1(héas Blapsdl B srsiras N(B) = 13
_n(B) 13
P(B)= n(S) 53
Aouliy plp LB HewLdbs Blapsdl C erers.
n(C)=26.

P(C)=

Baspssay P(A)=

n(C) 26
n(S) 53
1

P(ANB)=P =—
( ) -

13
PBNC)=P=—
(BNC) &

2
PIANC)=P=—

52

1
P(ANBNC)=P =—
52

. CaemauraTBlapsse)

12. BTG SdVS5EH JOESwW 52 I (Heemerds
CEreiTL_ &1 190(HBSI, Fo  eumlLpermuilsy @
LR a@ss0u@EDS. g Aeuliy @rrareurs
Vg &BLUY — @rremflurs  @)BLLSDETET
BlEPISEnaIdE &HTevTds.

Siray

Qurgs £1I_Hser n(S) = 52

dhsG FLB Aoy @urer FLLrs @) Hdbs
Blspgd A steiras. N(A) = 2

n(A) 2

n(S) 52

sThSGL  FL(B &;@L'u_; @Qurewflurs &) hdbas
wlapsd) B ereiras n(B) =

n(B) 2

n©S) 52

Asuliy @rreEr Vg SHHLL @) rTeniTs @) Hdbs
Blapsse)|

2 4 1
P(AuB PA+PB—
( )=P(A)+P(B) 52 52 T52 13

Bapsaay.’. P(A)=

Aspssey.. P(B)=——

13. @Quew® Frrar usoLsar  WeonBuw  Cr
Crrsglev 2 L L i@ &EleTmest.
0] Biraw® useLsaflgd @Gr wa wHliy
HemL_sH
s willysefler GCLHESDHLIST LIST
CTERTENTT & BlewL_db%
ws  wIlyseflst am BB  UST
CTERTERTT B &eHL_&%
s aransaflen am(Bss) 1 Ys BBHss
dw BlaspsAseflsir BlE1ps5 0BT

& ITHITS.

@rantl) usewLuileid Cr s
HewL_da Blapdd A ereirs.
A={(1,1,),(2,2),(3,3).(4,4),(5,5),(6,6)}
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n(A) =6
°. P(A) = w = E
nS) 36
ii) s walliyseaflest GLHGSDHLIVET LGT

_1
6

sreRTenTTS (§)Wds Blapsd B erers.
B ={(1,2),(1,3),(1,5),(2,1),(3,1),(5,1)}
B n(B) 6 _1
P®)= nGS) 36 6
iii) PBLBILSHNET dn (HBH6V LIGT 6T6OTEmITS
Devi_é5 Hapsd C ereirs.
(1,1),(1,2),(2,1), (3,2),(2,3), (5.2),(2,5),
=1(4.1),(14), (4:3),(34),(6.1).(16),(5.6)
(6.5)

n(C)=15
.p)=O _15
nS) 36
iv) s cravrsefler g 1 s @) B
Blaspsdl D ettt = 0
po)="_ 0
n(S) 36

. @raist® usewLaser ermley 1,2,3,4,5,6 sresrmuid
wHemrm usemLuiled 1,1,2,233  erebrmuid
wpaswIliyser  GPlssiuL (HeiTeTeT. Sjemeu
@rest@n o L in@Gn Curgl  HewLd@Lh
pswliysaflar gawm@Bs0 2 s 9 euewr
e0leuTH ILEINTET
Pspsmas saflssafurs srers.

Firey

@Il

1), 11(1L2),(1,2),(13)(1,3),(2,1),(21)

(2,2),(2,2),(2,3),(2,3),(31),(31),(3,2),(3,2)

(33),(3,3).(41),(41),(4,2),(4,2),(4,3),(4,3)

(5:1,(D,(5.2),(52).(53).(5,3).(6.1),(6.),

(6,2),(6,2),(6,3)(6,3)

oo L_LILIGHETesT

W& LIIYSBTT BB 2 FHlewL b
Bl&pFF A eretrss.

A={(L1),(1,1)};n(A)=2
. P(A)= n(A) 3_ 1
' nS) 36 18
W3 walliysellsr Fn(hsd 3 FHewLdbs
Blaspsdl B ererrss.
B=1{(12),(21),(1.2),(2.1)};n(B) =4
P "B _4 1
' nS) 36 9
iii) LPHLI)1LH 6 65T (h 6V
SewLsasplapdd] C ereins.
_J(1.3).(1.3).(2,.2).(2.2), (3, 1)
B
n(C)=4
o 1O _6 1
' nS) 36 6
iv) Ya wIHlysefler gmBs 5 HwLdbs
Blaspsd) D ereirs.
(2.3),(2.3),(3,2),
{(3 2),(4,1),(4,1) }
o)D) _6 1
nS) 36 6
ws walliyseflsr FmBHssd S5 FHewL_d&hs
Blapsd E eretrss.
{(5 1),(5,1).(4.2),(4, 2)} n(E) =6
(3.3).(3:3)
. P(E)= n(E) i 1
' nS) 36 6
vi) YswIliysealler = BHsL 6 HwLdas
Bl&1pFd F etsirss.
_(4.3),(4,3),(52),(52) |, N(F)=6
61,6
n(F) 6 1
PE=1s n©S) 36 6

vii) Yaswslliyseailer FmBse [ HwLss
Blapsdl G ererrss.

I—79—

Kindly send me your study materials to our email id - padasalai.net@gmail.com



https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net

www.CBSEtips.in

G ={(53),(5,2),(6,2),(6,2)};n(G) =2
p)="G)_4 _1

nS) 36 9
viii) YpaswIliseflsr B 8 HwLbas

Blaspsdl H ereirs.

H=1{(6,3),(6,3)}; n(H)=2

ey _2 1
n(S) 36 18

. @\ rew® LI&6ML_&61T
Brewi(® WaHWIILILSEHD FIOWTE @) (HdHE VeV
ypaswdliysafler Gz 4 s @)mliusheTss
BEPSEHMaIS &T6vTss.
mp@aet S={(1,1),(1,2),(1,3)......(1,6)}
n(S) = 36.

(pEHeTesTHNTFLOLTSEE) (HHBBIHLFF A 6TedTas.

A={1,1),(2,2),(3,3),(4,4),(5,5),(6.,6)};
n(A)=6

- P(A)=

o (L LiLH\ElSTDerT.

nA)_6 _1
nS) 36 6
pEeTaTHalleTam (Hesd 4 Ys@)mEsplapss B

B={(2,2),(1,3),(3,1)};n(B) =3

.p@)="B)_3
' n©S) 36

;mm=%i

(ANB)={@2)}P(ANB)="" o~ =55
8

36

2
9

17. fywrer  cpeitmy  BTEWIWBIGST @@ (PO
&ML LILBESTnar. SlEulFb 2 dser
N ] G®ODBSLIL_FID 2
HlemL_LILSDESTET Bl 1Hemerd &T6uTds.

Sirey

o _ [(HHH),(HHT) (HTH),(THH)

_{UWWﬂ(THTLG{rD(TTT)}
n(S)=8

YFBLLFID 2 LG H6TEDLGHBIBLDFF A 6T6rrs.

(HHH),(HHT),(HTH),(THH),
_{(THH),(HTT),(THT),(TTH) }

nA) _7

ns) 8

G®OOBSULFID 2 Hemevsst SlewlL_sa Blapsd B

SENEVE6IT

n(A)=7,P(A)=

A:ﬂHHTMTHHMHTHMHHH»
n(B) =4,

. _nB)_4
Bapsaa P(B) = S 8
ANB={HHH,HHT,HTH, THH};

N(A~B)=4

Faipsno P(ANB) =§
~.P(AUB)=P(A)+P(B)-P(ANB)
_7 4 4_7

"8 8 8 8

nANB) 1

. @M BTEWTWID cPpsTMI  (pewm  FeTLLIL(BHEING).
Fflwrs @) rewT(®

GODBIULEFD 26 L IAYVVG  YOS50'55
LG BHEWEVS6IT Hlew L LILIG D TevT

BlEpSmeusHTen s, (LUNHHsE)

BHEW VS 6T I|VVG)

16. @rewr(p
o pLLLiLi(h&ledTm6oT. (LpBH6V

LI&6W L_& 61T U] (pewm
LGemL_uflsy
LI @ rl e LiLenL 6TERT  H|6VEVGI
BB 1L Herflssr . (DB6V 8 U5
HlewL_LILgH % Ter

(Lup A @)

JEINE T HIES & T80T 5.

. @@ eouuiled 6 LFems BPLiLbgISEHD, v SH@mLiL

woHmid Aeuliy BPOLBHISEHD 2 6TereT. HHLUIL
LB g1 6fl6sT eTsT6uvH & 63 Heul'i
LBSIBETIGLITEY @) HOLBISTEGD. LUFDE Lbg
papssa)  Aaliyupg
denL_Liugharer Bapsseneus Gumred apsirm

SlewL_LILI% D& Test

LOL_BIGT@LD. @) sueurGmesflsv (i) &Ly
upgiseter erereniisena (i) Qurés ubgiseaflet

eTevsTamsl G emnd Y SlIaDenME FHTesoTds.
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Firey
uFenF LbgIsel e eTassTeamstldends
n(G) =6
Asuliyupbgsaflsr stenresnilbenan(R)=x
SH(HLIY UbGISH6TI6T 6T6vsTenvlldhem
n(B) = 2x
Qurgs ubgiseflsr stenreniibena N(S) = 6+x+2x
= 6+3x
Qar@ssiul g P(G) = 3xP(R)
6 X
=3x
6+3X 6+3X
X=6=>x=2
i) & (BLIL|LIThGI5 61 63T6T 6307 63511 > 6305
2x2=4
ii) Qo s LiLifh G156 6iTeT e80T 63511 63 5
6+(3x2) =12

. om ouuled 12 BBl ubgisend, X FHeuliy
BIDO  UbBSKIHEHD 2 _eTOTET.  FLOW  GUTUILIL
peopuiled o6 ubs CaibESESsILGADS. (i)
9%  Feuliy  Fplubsrts @)BLUUSHSTET
Blaspssemeuds srers. (i) 8 ydw  Heuliy
BIDLIUGSISET liemuuilsd eweuds Ulsrert. s
Feuliy Bplubensg Caih6\%HLILIG DS TevT
Blapsseurerg (i) ullsd QupDLILL L BlEpssemeul
GuTed (B)(HLOL BIE, 6TevflsL BGedT FILIewLId

sraws. (LulhdssE)

21. om ewuullsv 5 HAsuliy Mo ubBSHISEHD, 6
Qeusrewer B ubgZsEHD T  uFewF B
UbgIBEHLD 8 SMHLUL BIDL LbSIBEHLD 2 6iTemer.
Fwaumiitiy weopuilsd eopuuwled(BhG @ UbBSI!
T@SSLLUBEDG. bsL ubgl (i) Ceustener (ii)
sy eveg  Asutiy (i) Geustemerwirs
B)evevmsy (V) GlausiTememiTEeyid, &(HLILITHeLD
B)06VTLO6L @) (HLILISHBTET BlEH DSBS &TEUT.
(Luip s )

(iii) 2ao1Cn gl wl @b CHibg
[OIGIEETLES BENDSE e FHED6Tds
HTEVTS.
Firey
Qursgwremreuisearn(S) = 50
NCC enw A steirs. NSS enpwis B stsitss. n(A) = 28, n(B)
=30, n(ANB)=18
p(a)= 1A _ 28
n(S) 50
P(ANB) = n(AnB) 18
n(S) 50
~ P(AnB)=P(A)-P(ANB)
) _28 18
50 50
0 1
50 5
P(ANB)=P(B)-P(ANB)
" _30 18
50 50
Qo]
50 25
P(ANB)+P(AnB)
1 6 5+6
=4+ —=="_"
5 25 25
1
25

o)~ (B) _30
" n(S) 50’

. 50 wremrauisst 2 MM @ @iy, 28 Guir
NCC uilgpid, 30 Gui NSS gyip wohmub 18 Guir
NCC whmib NSS uflgup Gsidlpriser. & @m
LOTESsTOUIT FLoeumiitiL wpemmuflev

CaiHOsH\GSILGES DTT. jeui

(i) NCC uflev @mibg permsv NSS e

B)svevrioey
(ii) NSS uflsv @) mibg NCC uilsv @)svevmiosd

. AB,C ersttuesr Gsgud apsitoy  BlspiAser.
Gugus B Aewvliugharer Blspssey A — et
Bapsmaus  Gurew  @)muwLmissrseynd C
demLLiLgharer BEpsse) A @ el apsrm
LDL_BITd56)LD 2 girement. Guogyiib

1

P(AmB)=%, PENC) =

1

,P(AﬁC)=8,

P(AuBUC) =g,
10

P(ANBNC)= % saflév  P(A), P(B)

wipmib P(C) s srewrs.

I—Sj—
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Firey
P(A), P(B) = 2 P(A), P(C) = 3P(A).

mAmm=£P@mq

:— ,P(ANC)=

1
8’
9

P(AUBUC) = 0’
P(ANBNC) —%
~P(AUBUC)=P(A)
+P(B)+P(C)-P(ANB)
-PBNC)-P(ANC)
+P(AnBNC)

% =p(A)+2P(A)+

= 6P(A) =
10 24 15

108+65-8 173-8
120 120

165

6P(A)= ¢

165 11

P(A)=———=
120 6 48

PMLF§P®)HM 2x == =

6P(A) =

11 11
48 24

11 11
P(C)=3P(A)=3x— =
(C)=3P(A)= = L.

*”M:%y®kﬁlquﬁ'

Space for rough work
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ereflil (LpemMMUIN6L UEMIUL. I L aUem6d SHWMY Q&Fulge60.

TYPE — 1 (1-3-5-7 PATTERN) (x* @6t Q&(1p 1 wphmitb x Q6 A& @h QUL ML eTa )

1) y=x2—-8x+16
@ue a=1,b=-8,c=16
. b _ —(-8) _8

x - QHUSABTEMEV6)] = — = 0 =-=4

y - QWHQHTemeve| = (4)2 —8(4)+16=16—-32+16=32-32=0

. (pemevrLiyere = (4,0)
X 0 1 2
y 16 9 4

7 5 3

y=x%+2x+5
@hEe a=1,b=2,c=5
b -2

x - YWHAHTMELE] = — =—=-1

2 21) 2
y - QWEAGTEmeve] = (-1)2+2(-1)+5=1-2+5=6—-2=4
~ (WemeorUierell = (—1, 4)

X

-5

—4

-3

—2

-1

y

20

13

8

5

4

7

5

1

y=x?+4x+3
@hE a=1,b=4c=3
.Q _-b__ -4 -4
x - YPUHLIGHTen6V6)Y] —5—5—7——2

y - JWEAGTEmeVe| = (—2)>+4(-2)+3=4-8+3=7-8=-1
- (pemeorUermell = (—2,—1)

X

—6

-5

—4

-3

-2

y

15

8

3

0

-1

7

5

3

1

y=x%—4x+3
@hE a=1,b=—-4,c=3

. -b  —(-4) 4
x - YUWSHCGHTMEVE) =ZZEZE:2

y - QWEAGTEmeVe| = (2)2 —4(2)+3=4—-8+3=7-8= -1

- (pemeotULerell = (2,—1)
X 9 -1 0
y 15 8 3

7 5 3

y=x%—4x+4
@mG, a=1,b=—-4c=4
. -b  —(-4) 4

x - YPUIHOSHTEM6VE] =Z=E=E=2
y - QWHCHTemeve| = (2)2 —4(2)+4=4-8+4=8-8=0
. (emevrLiermerl = (2,0)

X —2 -1

y 16 9

7

Kindly send me your study materials to our email id - padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.CBSEtips.in

6) y=x*—6x+9
@he a=1,b=—6c=9
x - UIGEGHTEDEV6) e e )

BUWHolH 2a

y - QWHQsTemeve] = (3)2—6(3)+9=9-18+9=18-18=0

. (pemevrLiyere = (3,0)
X 1 0 1
y 16 9 4

7 5 3

=5-3
2

y=(x-1Dx+3)=x>+2x-3
@hE a=1,b=2,c=-3
. -b -2
x - YUWSHCHTMEVE) =_=E=7=_1

2a
y - JWEAGTEmeve| = (-1)?+2(-1)-3=1-2-3=1-5=—-4
- (emeorUerell = (—1,—4)

X

-5

-4

-3

—2

-1

y

12

5

0

-3

—4

7

5

1

y=x%—4

@hE a=1,b=0,c=—4

x - YPUWHAGHTMELE] = —

20 2(1)

y - QBHUHEASTMEVE| = (0)° — 4 = —4

b

~ (pemevtLiLertell = (0, —4)

-0

X

—4

-3

-2

-

y

12

5

0

-3

7

5

1

y=x2-9

@@ a=1,b=0c=—9

b

x - YPUWHAHTMELE] = — =

2 2(1)

y - SHWSHASMMEVE]| = (0)* —9 = -9

- (emevrliere = (0,—9)

=0

X

—4

-3

-2

-1

1

2

y

7

0

-5

-8

-8

-5

7

5

3

1

1

3

10)y = 2x?

[Special Type :

2(1-3-5-7)=2-6-10-14 PATTERN]

@re a=2,b=0,c=0

x - QPUSHCGHTMEVE)| =

-b

-0

2a 202
y - QUWHGTemeve| = 0
- (pemevrUiere = (0, 0)

X

—4

-3

-2

y

32

18

14
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TYPE — Il (2-4-6-8 PATTERN) (x* @6t Q&(1p 1 ommib x Q6T AB( @(h @M 6T6wor )

1) y=x?+x—12
AhEe a=1,b=1, c=-12
b -1

x - SHUSASTEMEE| = — = o _71 =—0.5

SIGTIENLD x - HPUWIHCSHTMELE ST : —1 HMID 0

x=-1 eeoNed, y=(-1)24+(-1)—-12=1-1-12=-12

x=0 ¢lefle, y=(0)2+0—12=—12

LemeN&sT : (—1,—12),(0,—12)

—4 -3 -2 -1

y 0 —6 | =10 | —12
6 4 2

y =x%—9x + 20
@i a=1, b=-9, c =20

. -b —(-9) 9
x - YUWSHCGHTMEVE6) =Z=ﬁ=5=4'5
SIGTIEMLD x - HPUWIHCHTEMVESET : 4 LOOMID 5
x=4 ¢leoNed, y=(4)2—-9(4)+20=16—-36+20=36-36=0
x=5 et6oNed, y=(5)2—9(5)+20=25—454+20=45—-45=0
YemeMaer : (4,0),(5,0)
1 2 3
y 12 6 2

6 4 2

y=x*+x+7
@hEe a=1,b=1,c=7

x - YWSHCHTMELE| = W o o5

2a 2(1) 2

SITIMLD x - PUWIHCHTEMELE&HET : —1 LOMMID 0

x=-1 ¢efled, y=(-1)2+(-1D+7=1-1+7=7

x=0 ¢eofled, y=(0)2+0+7=7

yermem&er : (—1, 7),(0, 7)

—4 | =3 | =2 | -1

y 19 | 13 9 7
6 4

4) y=x?>—-5x—6

@re a=1, b=-5, c=-6

x - SWGE rrmeueuz_—bzﬂzézzs

BULSIS 2a 2(1) 2 '

SIETIEMLD x - PUWIHCHTEMEVESET : 2 WOMID 3

x=2 ¢6I6oNed, y=(2)2-52)—6=4—-10—-6=4—16=—12

x=3 em6oNed, y=(3)2-5B)—-6=9-15—-6=9—-21=—12

Lemedlger : (2,—12),(3,—12)
-2 -1 1
—10
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5) y=x*+x-2

@he a=1, b=5, c=-2

x - SHUGABTEDEVE = — = % =—=-05
SIGTIENLD x - HPUWHCHTMELESHET : —1 OMHMID 0
x=-1 eteoNed, y=(-1)2+(-1)—-2=1-1-2=-2
x=0 66olleL, y=(0)2+0—-2=-2
yermem&enr : (—1,—2),(0,—2)
-5 —4 -3 -2 -1
y 18 10 4 0 -2

8 6

6) y=x*+3x—4
@rEe a=1, b=3, c=—4
x - YWSHCHTMELE| = % = % = _73 =—1.5
SITITEMLD x - PUWIHCHTEMVEHET : —2 WOMID —1
x=-2 6l6oNe0, y=(-2)2+3(-2)—4=4—-6—-4=4—-10=—-6
x=-1 6TeoNed, y=(-1)2+3(-1)—4=1-3-4=1-7=-6
yemeflgenr : (—2,—6),(—1,—6)
—6 -5 —4 -3 -2 il
y 14 6 0 —4 | =6 | -6
8 4 2

7) y=x?>+3x+2
Are a=1, b=3,c=2

x - YWSHRGHTMELE| = % = % = _73 =-15

SIGTIEMLD x - HPUWIHCHTEMVEHET : —2 LMHMID —1

x=-2 6T6oNed, y=(-2)2+3(-2)42=4-6+2=6-6=0
x=-1 e6Med, y=(-1)2+3(-1)4+2=1-34+2=3-3=0
YermeM&emr : (=2, 0),(—1, 0)

—6 -5 -4 -3 -2 -1
y 20 | 12 6 2 0 0

8 6 4 2

8) y=x?+x
@re a=1,b=1,c=0
-b _ -1

. -1
x - QHUSCBTEMEVE) = — = O —0.5

Sl x - PUIHCHTEMCLEHET : —1 LOMMID 0
x=-1 e6Med, y=(-1)2+(-1)=1-1=0

x=0 e6TetNled, y=(0)2+0=0
YemeMaenr : (—1, 0),(0, 0)

-5 —4 -3 —2
20 12 6 2
8 6 4 2
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TYPE — 111 (1-3-5-7-9 PATTERN) (x* @eir Q&(1p 2)

1) y=2x—-3)(x+2)=2x2+x—6

@i a=2,b=1, c=-6

x - SHUHOSHTMEE| == = % = —=-025
SIETIENLD x - HYUWISHTEMEVE| =0
x=0 eeoNed, y=2(0)2+0—6=—6
LeiTeri . (0,—6)
—4 -3 -2 -1
22 9 0 -5
13 9 5 1

y=2x>-3x-5
@hEe a=2, b=-3, c=-5
—b_—(—3)_§_

x - YUWHRAGHTMELE| = — = =2=075

2a 2(2)
SIETENLD x - YUISCFHTMEVE| =1
x=1 eeofled, y=2(1)2-3(1)-5=2-3-5=2-8=-6
Lerer) . (1,—-6)
-3 —2 -1
22 9 0
13 9 5

87
Kindly send me your study materials to our email id - padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.CBSEtips.in

10 saisd - QgFul(pemm eulgailuied

° o o

agOadd (PHCameaumicme - (Quiwgdedmba Fpwg)

3
. Garhedsuul L w&EBxrewmid PQR -6 @53 uUdbsmEeia aldlsd P SIEMLOULOTHI

3
aplaTss (pHCHTeniD euenIsH. (SleTeyd HTyewnT S <1)

2
. Qar@ssiulL  (pa&Gsmewib  PQR —e1 @55 udssmseleas ealdlsd 3 SIEMLOUL|LOTHI

2
alaTss (HCHTenDd s, (Sienald SHmyeuni 3 )

4
. QargssiulL  (p&Csmemib LMN —a1 @585 udssmselea ealdlsd S SIMLOWLOTMI

4
aYOaTHS (pHBHTID auenIH. (Dleeyd e S )

agOasd (PHCHTavmIEeT - (Flwdedmba Cumuig!)
. QarhsaiulL  (wéEBsmemid PQR 5@ @55 udssmseie elélsbd Z SIMLDULOT B

7
AYOaUTHS (pHBHTID auenIH. (DleTeyd &6 " >1)

6
. QargssiuL  wEGasmewid ABC —61 @655 udsmseler ealdlsb 5 SIENLOU|LOTHI

6
AYOaTHS (pHCHTID euemIH. (Dleeyd &6 r )

7
. QarhsaiulL  (pECarewid  PQR —61 @55 LUSsmSeNer  ealdHd 3 SIEMLOULJLOTBI

7
AYOaUTHS (pHCHTID uenIH. (DleNeyd e A )

(W&BaTemmIseT - (HBHCHTH)

. PQ=80g.18, 4R =60° 2 &4 R—-admps PQ -5 euemnywii L wBHCsT 19er Hendb RG = 5.8
CF.5 . o1 @mIGLOTB APQR euewgs. R — dmbad PQ -5@ suenywliulL  &SHHISCHTL 1960
BOLD  BHTET.

QR =505.15, 24P =40° 2 51 P—-edmba QR -8 euenywlu’ L mhHesGsTlger memd PG = 4.4
CF.15. eer @mB&GWTE APQR euenys. Goed, P— ed@mba QR-6@ euedwliulL & 53HISCHTL 196
BOVILD  BHTETS.

. PQ=4505.16, 4R =35° o2 &4 R-ampbHx euedywiii’ L pHSCHT 9T Hemd RG = 6 O4.18.
olenr Sewwwjomml APQR auenys.

IV.  waBastanmiser - (&5515851(0)

10.QR =5G0g.18, 4P =30° 2 &8 P-embs QR -5& eumyuliu’ L @&HHHCHTL 196 Bormd 4.2
QF.15 . GQamewi. APQR suehys.

I—g_g—
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11.QR = 6.505.18, 2P = 60° wpmidb o Ffl P —-elmbal QR -5& ULl L &HSHHISCHTL 196 [HerTlD
45 Q5.15. 2_em_w APQR auemyss.

12.AB =5.505.18, 4C = 25° wpmib o &8 C—-almbal AB -5@ euedJWliLl L &HSHHISCHTL 196 [H6TID
4 Q.18 2 emw AABC auenys.
V. (&CHTemEISET ;- (BHTewt B (HFIOGIL 19)

13. 9ogliussd BC =8 0g.18., 42A =60° wpmpd 24 —uler Smawleu yumerg BC -3 D eles
yeferfluled BD = 6 GF.16 eletipeumml FhAHSSmal eleie, (pHCamenid ABC auenys.

14. ouriussd BC = 5.6 GF.18., £A = 40° wBmid £A —uiler Smawbeaul guinersl igliussd BC -
CD =4 Q5.6 etenr D-uled apdsb@rm Semwwd  1pHGsmenid ABC euemnys.

15.PQ = 6.805.185, o FfsCxmenid 50° woBpIb o FHHCaramsHHar  AHFLOILIQUITETSI
SglILbsHmEH PD = 5.2 Q.16 etenr D-uled shdsb@wim emwujd APQR sauemrs.

VL.  eallL$EBE OamGCsn® euanysev:- (ewshmsll LWaLGSHS )

16. 3 Q&.15. SupeTen el LD 6uewis. el LHer Gwed P e LeTteflewwd GBidham Siliererd
auPCw QHTHCHTH eumTH.

17. P & ewwowionssd Osmewi 3.4 GF.15. upupsien @@ L LSHFHBG R eaam Usefluled Ox1GCHTH
GUGM .

VIL  allL$8BE COamGCasn® suenysped:- (omBml el L SHahiemi(h CHmmLD)
(21606081 OBTHCHTG—HTaw CommpLD)

18. 4 Qg.15. Suypelen Ul LLD 6UDTS. AL SgHler Ligleen L et Leitell  euflwms  ommm)
Al L Sglenh CoBmsHmall LWaLGSHS ol LSHHBE HTGECETG auamys.

19. 45 Q.8 SuupeTen eI LD GUMDTH. alLsFar s gCpemid e UeTelld@ LOTHBM®
AL Sglen(h CaBmsHhamall LWLSLGSHHSH HTHECHTH eUmTsH.

VII. el LgdBEg 0s1hCxTE euemydHev:- (Bm CaThBsT(H®6NT)

20.6 Qg.5. &l L(peTern U’ LD euedIbHAH UL SHFHaT enbwsHHelmbH 8 0F.15. GgTensvaled P ereim
yeteflewwd @GpBidsab.  oeTeiuledmbas PA wBpidb PB eaa@mp & 0sTGECHETBH6T euedIhdl
SlUBBle HeThIGmeT SienalBHb.

21. 5 Gg.18. soyapeten el LGHer  ewwowGHHOmHHEH 10 0F.15.  CsTevevaieeien  LeTeuledmbal
AL LSHIBG CHTHCHTHH6T auedgwad. Guevd GHTHCHTHHe M6 Henmibenend Hewidhasl(Hd

22. 6 QF.18. Il L(pelTenl UL LID auemIbh, el LSHHer ouwhHedmbal 5 0F.15. GaTenevailaieren &
yeteflewwd @GBidsan.  SilyeTeluledmba el LHIHBG CHTHCHTH®6NT euedIhdHl, CHTHGHTL 1968
BONRIBEN6NTD BT (BH

23. 4 Oz.16. SuupeTen eIl LD eudIhd, ST mwwHHdHbhH 11 QF.16. OFTemevalasien eh
yeteflewwd @BiHa, oiyerefuledmba el LsHHBEG Drewih OHTHCHTHH6T aUMTH.

I—8_9—
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24. 0-y eowowionsd OETewi 3.6 OF.15. SLIUPeTen Il LD aIedIdH. el L ST ewowlsHHedmhaH 7.2
QF.15. GOarewevalsveien P et yeteflewws  @P¥sa  ogeTaiuledmbs Ul LHHBES
CHTHCHTBH6NT UM .

QUGTLIL LD

OmUYSF FSUTL QT HTe|semer Herenld:- (aueruLtd auruieons)

Weteupld @muUgd Foemumhseller HTa|sellen Hearenoemul IenJLILLD 6Ol LTTUIS
. x24+x—12=0 2. x*—8x+16=0 3.x24+2x+5=0

CamTBealIu’ L QmHUYSF FGUTHSEN6ET UMILLLD aIdIs. SlauBNe &HTe|Heier SHeTenoenid
Fn DI,

. x2—9x4+20=0 5. x2—4x+4=0 6. x2+x+7=0
8. x2—6x+9=0 9.2x—-3)(x+2)=0
OmURE FSTUTL Q6T HTe H6iT:- (Qeul GaCsnBoEaia cpeold)
10. y = 2x? @B cuedJLLLD euenJh SIS clpevld 2x2 —x — 6 = 0 66l FOGLTL LS S,

11. y = x? — 4 quenguLLD auenIbdl, DS LWSLUGSE x2 —x — 12 = 0 6B F0GTILTL L5
SHTHBALD.
12. y = x? + 4x + 3 —WieT euenJLLID euedIhgl, SiSmall LLGLBSSH x2 +x +1 =0 eaem

FLOGIUTL WL & SHTHBHaLD.

13. y=x2+x — 2 -6 qyedJULLD UMb, S LWSLGSSH x2+x —2 =0 eem
FLOGTLTL 106n6dIs SHTHBHALD.

14. y = x? —4x + 3 -Wlefl auedgULID QuenIb&l, SISO LWGLGSEH x% — 6x +9 = 0 aeim
FLOGIUTL WL SHTHHaLD.

15.y = x2 + x ~W&1 QuIULLD QUIHEH, DHEN LLELGSHH x2 + 1 =0 ea@m FoELT L5
Eires .

16.y =x2+x — 2 -6 euedJLLID QUMb SISl LGS x2 + 2x +1 =0 eem

FLOGTUTL le6n&dId SHTHBALD.

17.y = x%2 + 3x — 4-a1 GueDJLILID ueJhdl, SiSemal LIRS x2 +3x —4 =0 eaam
FLOGTLTL 1e6n&dId SHTHBHALD.

18. y =x2 —5x — 6 -1 qJULLD euUenIHI, SIS LWELGSHEH x2 —5x — 14 = 0 e1eis
FLOGTLTL e6n&dIs SHTHBHALD.

19. y = 2x% — 3x — 5 -6 quenJLLLD auehdl, SISl LUSLGSH 2x2 —4x — 6 = 0 el6iim
FLOGTUTL 1e6n&dIS SHTHBHALD.

20.y = (x — 1) (x + 3) -1 aeJULLD eueDIHE, DS LLGLGSH x2 —x — 6 = 0 a6
FLOGTUTL 106n&dId SHTHBALD.

I—qﬁ
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1094 LD QUG LIL] &6voNIGHLD GILD6VL6EV & (D (GLD LOIT 60T 6L ] 8 (6D & & IT 60T
&G 2 (HeUTHSLD:

Sl(.um.allerveunrgesr, UL S AF] (&6woilHLD)
31.2_.1h.uemef), Q& mSWImmh S L.

S(.QUr.geo(Lps S&HGHIL,ULLGTH HFw, (SeuflgLd)
31.GLo. [hl.ueTef),eu(pHTaL Y.
H®.21.Qne0ls b 560 UL LSS, Sflj(semnfl5in),
31.Gw.hl.ueef, QUAlW S MIEUS HITH.
&(5.8.8MSFTULLSTH AR & anflsLD),
31.GLo.1hl.u6Terf), GLO 6L LD 6! GV LLIGHITIT.
S(5.8.GITULLSTH A Fwf(&6mflgHL),
L.21.GLo.fhl.ueef, CLosommflwiiLgym.

H®. (.5 706 , UL ST 9 ARNWG(SeilHLD),
3178 Guevhleneoll useefl, H(pgmef.

MSCW(EH CLOELITWITETI]S6IT:

B ([®.31.51MTLITCUITIGLIGH, SH6MevemLo ) Fflwiy
(62 (1H Ml &) 60> 6TTTLILIT EYT[])
al.2_Mhl.ueref), 215 Sy, § S eumd).
F(.&m.ewfl Hemeoemin g i,
31.GLo.hl.ueirefl, 6T (B & & UMb & HLD.
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